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Chapter 1

Newton’s law of universal
gravitation

1.1 The force law of gravitation

Figure 1.1: Newton’s law of universal gravitation states that the force between
two masses is attractive, acts along the line joining them and is inversely pro-
portional to the distance separating the masses.

= M M

Let V be the potential energy of m (see figure 1.1). Then

= ov
F=-VV(r), F,=- 1.2
For a spherical mass distribution: V(7) = —mG%, with zero potential

infinitely far from the center of M. Newton's law of gravitation is valid for
“small” velocities, i.e. velocities much smaller than the velocity of light and
“weak” fields. Weak fields are fields in which the gravitational potential energy
of a test particle is very small compared to its rest mass energy. (Note that
here one is interested only in the absolute values of the above quantities and

not their sign).

M GM
mG— < me? = r> — (1.3)
r c

1



Chapter 1. Newton’s law of universal gravitation

The Schwarzschild radius for an object of mass M is Ry = 2%M Far

outside the Schwarzschild radius we have a weak field. To get a feeling for
magnitudes consider that Ry = 1 c¢cm for the Earth which is to be compared
with Rg = 6400 km. That is, the gravitational field at the Earth’s surface can
be said to be weak! This explains, in part, the success of the Newtonian theory.

1.2 Newton’s law of gravitation in its local form

Let P be a point in the field (see figure 1.2) with position vector ¥ = z'¢; and
let the gravitating point source be at r’ = 2@ . Newton’s law of gravitation
for a continuous distribution of mass is

See figure (1.2) for symbol definitions.

Figure 1.2: Newton’s law of gravitation in its local form.



1.2 Newton’s law of gravitation in its local form

Let’s consider equation (1.4) term by term.

L0 !
‘F_TT;‘ ZaxZ [(1‘3 —JJJ/)(.I] —x]/)]1/2
9 S —1/2
—z I N — g
gy (@ — ) — )]
5 —1 8.’,1;‘] ’ 73/2
= €i—5-2(x; — xj’)% [(»Tk — ) (wx — ap)
. (27 — xj/)5ij (1.5)
= _e’i
[(a* — ¥ (ar, — )
. (l,z _ xi’)
= G ; i1 3/2
(27 — 20")(xj — xjr)]
=
|7 — 1|3
Now equations (1.4) and (1.5) together =
o
V@):—mG/}?Y;W%’ (1.6)
Gravitational potential at point P:
V(7
¢(77) = (T) — —G/ p(rl d3 /
m 77
— - T = 7:; 3./
= Vo) =G p(r)|F_7:;‘3d r (1.7)
. =
= V2(7) :G/p(r')v-—f 3
|7 — 7|3

The above equation simplifies considerably if we calculate the divergence in the
integrand.

77 V-7 5 1
V- —— = = (Fr—rl)-V =
|F—r3  |F—=73 |7 — /|3
. 3 —(?7—77)~3(F_T/)
7= 7 7 =7 (18)
3 3
S F—rp [P =P
=0 V 741

We conclude that the Newtonian gravitational potential at a point in a gravi-
tational field outside a mass distribution satisfies Laplace’s equation

V=0 (1.9)

Note that “V”
operates on 7
only!
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Digression 1.2.1 (Dirac’s delta function)
The Dirac delta function has the following properties:

L O(F—r)=0 ¥V F#r

2. [o(F— )31’ = 1 when 7 = 7/ is contained in the integration domain. The
integral is identically zero otherwise.

3. [ FG)3 =i = )

A calculation of the integral [ V- |7f:rf//|3d3r’ which is valid also in the case where
the field point is inside the mass distribution is obtained through the use of

Gauss’ integral theorem:

/V-/Td?’ ’:fff-dg’, (1.10)

S

where s is the boundary of v (s = Qv is an area).

Definition 1.2.1 (Solid angle)

d /
0= 2L (1.11)
|77 — r!|?
where ds’| is the projection of the area ds’ normal to the line of sight. ds' | is the

component vector of ds’ along the line of sight which is equal to the normal vector
of ds’, (see figure (1.3)).

Now, let’s apply Gauss’ integral theorem.

S > Wy . d/
/V-%d?’r’: f—f-dsfzf% =7§d9 (1.12)
|7 — /|3 |7 — /|3 |7 — 77|
s s s

v

So that,

/ 7 3 4m if P is inside the mass distribution, (1.13)
‘ .

7 — r’|3 0 if P is outside the mass distribution.

The above relation is written concisely in terms of the Dirac delta function:

1

7 }
2‘3 = 4md(7 — 17) (1.14)

V-

ﬂlﬁ

-7



1.3 Tidal Forces

ds’ normal to bounding surface

Figure 1.3: The solid angle df) is defined such that the surface of a sphere
subtends 47 at the center

We now have

~ r—r

V2p(F) =G | p(r')V-——=—dr'
|7 — r'|3
- . 1.15
= G/p(T’)47T5(F— rd®r’ (1.15)
= 47 Gp(7)

Newton’s theory of gravitation can now be expressed very succinctly indeed!

1. Mass generates gravitational potential according to

V2p = 4nGp (1.16)

2. Gravitational potential generates motion according to

G=-V¢ (1.17)

where ¢ is the field strength of the gravitational field.

1.3 Tidal Forces

Tidal force is difference of gravitational force on two neighboring particles in a
gravitational field. The tidal force is due to the inhomogeneity of a gravitational
field.

In figure 1.4 two points have a separation vector E The position vectors of 1
and 2 are 7 and 7+ C, respectively, where || < |7]. The gravitational forces on
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Figure 1.4: Tidal Forces

a mass m at 1 and at 2 are F(7) and F(7+ C). By means of a Taylor expansion
to lowest order in |(| we get for the i-component of the tidal force

L, . OF;
F=F+ 0= =6 (55 (11
The corresponding vector equation is
f=(C-V):F. (1.19)
Using that
F=-mVg, (1.20)

the tidal force may be expressed in terms of the gravitational potential according
to
f=-m(C-V)Ve. (1.21)

It follows that in a local Cartesian coordinate system, the i-coordinate of the
relative acceleration of the particles is

G 0%¢
arz — <aziaxj>fj‘ (1.22)

Let us look at a few simple examples. In the first one 5has the same direction
as g. Consider a small Cartesian coordinate system at a distance R from a mass
M (see figure 1.5). If we place a particle of mass m at a point (0,0, +z), it will,
according to eq. (1.1) be acted upon by a force

GM
F. = —-Mm—- 1.23
while an identical particle at the origin will be acted upon by the force
GM
F.(0) = —m—5. (1.24)

R2



1.3 Tidal Forces

z
m
F(+2)
\ /7
v RO
R

M

Figure 1.5: A small Cartesian coordinate system at a distance R from a mass

M.

If this little coordinate system is falling freely towards M, an observer at
the origin will say that the particle at (0,0,42z) is acted upon by a force

GM
fZ:FZ(Z) —FZ(O) %27’77,2? (125)
directed away from the origin, along the positive z-axis. We have assumed
z < R. This is the tidal force.
In the same way particles at the points (+,0,0) and (0, 4y, 0) are attracted

towards the origin by tidal forces

GM
GM

Egs. (1.25) (1.27) have among others the following consequence: If an elastic,
circular ring is falling freely in the Earth’s gravitational field, as shown in figure
1.6, it will be stretched in the vertical direction and compressed in the horizontal
direction.

In general, tidal forces cause changes of shape.

The tidal forces from the Sun and the Moon cause flood and ebb on the
Earth. Let us consider the effect due to the Moon. We then let M be the mass
of the Moon, and choose a coordinate system with origin at the Earth’s center.
The tidal force per unit mass at a point is the negative gradient of the tidal
potential

o) =~ (-

1 M
s i —y2> = G r?(3cos? 6 — 1), (1.28)

1
2 2 2R3
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Figure 1.6: An elastic, circular ring falling freely in the Earth’s gravitational
field

where we have introduced spherical coordinates, z = r cos 6, z2 + y? = r2sin? 6,

R is the distance between the Earth and the Moon, and the radius r of the
spherical coordinate is equal to the radius of the Earth.

The potential at a height h above the surface of the Earth has one term,
mgh, due to the attraction of the Earth and one given by eq. (1.28), due to the
attraction of the Moon. Thus,

o) = gh — o

53 r?(3cos? 6 — 1). (1.29)

At equilibrium, the surface of the Earth will be an equipotential surface,
given by © = constant. The height of the water at flood, # = 0 or 8 = 7, is
therefore

GM [r\2
hod = ho + —— (—) , 1.30
flood 0+ gR \R ( )
where hg is an unknown constant. The height of the water at ebb (6 = F or
0 =23I)is
1GM rr\2
hev = ho = 5~ (%) - 131
ebb 0 2 gR R ( )
The height difference between flood and ebb is therefore
M 2
Ap = 3GM (ﬁ) . (1.32)
2 gR \R
For a numerical result we need the following values:
Mytoon = 7.35-10%g, g = 9.81m/s?, (1.33)
R=3.85-10°km,  rgarn = 6378km. (1.34)

With these values we find Ah = 53cm, which is typical of tidal height differences.
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1.4 The Principle of Equivalence

Galilei investigated experimentally the motion of freely falling bodies. He found
that they moved in the same way, regardless what sort of material they consisted
of and what mass they had.

In Newton’s theory of gravitation mass appears in two different ways; as
gravitational mass, mg, in the law of gravitation, analogously to charge in
Coulomb’s law, and as inertial mass, my in Newton’s 2nd law.

The equation of motion of a freely falling particle in the field of gravity from
a spherical body with mass M then takes the form

d277 mg M -

— = . 1.35
dt? my =N ( )

The results of Galilei’s measurements imply that the quotient between gravita-
tional and inertial mass must be the same for all bodies. With a suitable choice
of units, we then obtain

mg = my. (1.36)

Measurements performed by the Hungarian baron Eétvos around the turn
of the century indicated that this equality holds with an accuracy better than
1078, More recent experiments have given the result |l — 1] <9- 1013,

Einstein assumed the exact validity of eq.(1.52). He did not consider this as
an accidental coincidence, but rather as an expression of a fundamental principle,
called the principle of equivalence.

A consequence of this principle is the possibility of removing the effect of
a gravitational force by being in free fall. In order to clarify this, Einstein
considered a homogeneous gravitational field in which the acceleration of gravity,
g, is independent of the position. In a freely falling, non-rotating reference frame
in this field, all free particles move according to

2 —
mj% = (mg —mp)g=0, (1.37)

where eq. (1.36) has been used.

This means that an observer in such a freely falling reference frame will say
that the particles around him are not acted upon by forces. They move with
constant velocities along straight paths. In other words, such a reference frame
is inertial.

FEinstein’s heuristic reasoning suggests equivalence between inertial frames in
regions far from mass distributions, where there are no gravitational fields, and
inertial frames falling freely in a gravitational field. This equivalence between all
types of inertial frames is so intimately connected with the equivalence between
gravitational and inertial mass, that the term “principle of equivalence” is used
whether one talks about masses or inertial frames. The equivalence of different
types of inertial frames encompasses all types of physical phenomena, not only
particles in free fall.

The principle of equivalence has also been formulated in an “opposite” way.
An observer at rest in a homogeneous gravitational field, and an observer in
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an accelerated reference frame in a region far from any mass distributions, will
obtain identical results when they perform similar experiments. An inertial
field caused by the acceleration of the reference frame, is equivalent to a field of
gravity caused by a mass distribution, as far is tidal effects can be ignored.

1.5 The general principle of relativity

The principle of equivalence led Einstein to a generalization of the special princi-
ple of relativity. In his general theory of relativity Einstein formulated a general
principle of relativity, which says that not only velocities are relative, but accel-
erations, too.

Consider two formulations of the special principle of relativity.

S1 All laws of Nature are the same (may be formulated in the same way) in all
inertial frames.

S2 Every inertial observer can consider himself to be at rest.

These two formulations may be interpreted as different formulations of a
single principle. But the generalization of S1 and S2 to the general case, which
encompasses accelerated motion and non-inertial frames, leads to two different
principles G1 and G2.

G1 The laws of Nature are the same in all reference frames.

G2 Every observer can consider himself to he at rest.

In the literature both G1 and G2 are mentioned as the general principle of
relativity. But G2 is a stronger principle (i.e. stronger restriction on natural
phenomena) than G1. Generally the course of events of a physical process
in a certain reference frame, depends upon the laws of physics, the boundary
conditions, the motion of the reference frame and the geometry of space-time.
The two latter properties are described by means of a metrical tensor. By
formulating the physical laws in a metric independent way, one obtains that G1
is valid for all types of physical phenomena.

Even if the laws of Nature are the same in all reference frames, the course of
events of a physical process will, as mentioned above, depend upon the motion
of the reference frame. As to the spreading of light, for example, the law is that
light follows null-geodesic curves (see ch. 4). This law implies that the path of
a light particle is curved in non-inertial reference frames and straight in inertial
frames.

The question whether G2 is true in the general theory of relativity has been
thoroughly discussed recently, and the answer is not clear yet.
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1.6 The covariance principle

The principle of relativity is a physical principle. It is concerned with physical
phenomena. This principle motivates the introduction of a formal principle,
called the covariance principle: The equations of a physical theory shall have
the same form in every coordinate system.

This principle is not concerned directly with physical phenomena. The
principle may be fulfilled for every theory by writing the equations in a form-
invariant i.e. covariant way. This may he done by using tensor (vector) quanti-
ties, only, in the mathematical formulation of the theory.

The covariance principle and the equivalence principle may be used to obtain
a description of what happens in the presence of gravitation. We then start
with the physical laws as formulated in the special theory of relativity. Then
the laws are written in a covariant form, by writing them as tensor equations.
They are then valid in an arbitrary, accelerated system. But the inertial field
(“fictive force”) in the accelerated frame is equivalent to a gravitational field. So,
starting with in a description referred to an inertial frame, we have obtained a
description valid in the presence of a gravitational field.

The tensor equations have in general a coordinate independent form. Yet,
such form-invariant, or covariant, equations need not fulfill the principle of rel-
ativity.

This is due to the following circumstances. A physical principle, for example
the principle of relativity, is concerned with observable relationships. Therefore,
when one is going to deduce the observable consequences of an equation, one
has to establish relations between the tensor-components of the equation and
observable physical quantities. Such relations have to be defined; they are not
determined by the covariance principle.

From the tensor equations, that are covariant, and the defined relations
between the tensor components and the observable physical quantities, one can
deduce equations between physical quantities. The special principle of relativity,
for example, demands that the laws which these equations express must be the
same with reference to every inertial frame

The relationships between physical quantities and tensors (vectors) are the-
ory dependent. The relative velocity between two bodies, for example, is a
vector within Newtonian kinematics. However, in the relativistic kinematics of
four-dimensional space-time, an ordinary velocity, which has only three com-
ponents, is not a vector. Vectors in space-time, so called 4-vectors, have four
components. Equations between physical quantities are not covariant in general.

For example, Maxwell’s equations in three-vector-form are not invariant un-
der a Galilei transformation. However, if these equations are rewritten in tensor-
form, then neither a Galilei transformation nor any other transformation will
change the form of the equations.

If all equations of a theory are tensor equations, the theory is said to be given
a manifestly covariant form. A theory that is written in a manifestly covariant
form, will automatically fulfill the covariance principle, but it need not fulfill
the principle of relativity.
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1.7 Mach’s principle

Einstein gave up Newton’s idea of an absolute space. According to Einstein all
motion is relative. This may sound simple, but it leads to some highly non-trivial
and fundamental questions.

Imagine that there are only two particles connected by a spring, in the
universe. What will happen if the two particles rotate about each other? Will
the spring be stretched due to centrifugal forces? Newton would have confirmed
that this is indeed what will happen. However, when there is no longer any
absolute space that the particles can rotate relatively to, the answer is not so
obvious. If we, as observers, rotate around the particles, and they are at rest,
we would not observe any stretching of the spring. But this situation is now
kinematically equivalent to the one with rotating particles and observers at rest,
which leads to stretching.

Such problems led Mach to the view that all motion is relative. The motion
of a particle in an empty universe is not defined. All motion is motion relatively
to something else, i.e. relatively to other masses. According to Mach this implies
that inertial forces must be due to a particle’s acceleration relatively to the great
masses of the universe. If there were no such cosmic masses, there would not
exist inertial forces, like the centrifugal force. In our example with two particles
connected by a string, there would not be any stretching of the spring, if there
were no cosmic masses that the particles could rotate relatively to.

Another example may be illustrated by means of a turnabout. If we stay
on this, while it rotates, we feel that the centrifugal forces lead us outwards.
At the same time we observe that the heavenly bodies rotate. According to
Mach identical centrifugal forces should appear if the turnabout is static and
the heavenly bodies rotate.

Einstein was strongly influenced by Mach’s arguments, which probably had
some influence, at least with regards to motivation, on Einstein’s construction
of his general theory of relativity. Yet, it is clear that general relativity does not
fulfill all requirements set by Mach’s principle. For example there exist general
relativistic, rotating cosmological models, where free particles will tend to rotate
relative to the cosmic masses of the model.

However, some Machian effects have been shown to follow from the equations
of the general theory of relativity. For example, inside a rotating, massive
shell the inertial frames, i.e. the free particles, are dragged on and tend to
rotate in the same direction as the shell. This was discovered by Lense and
Thirring in 1918 and is therefore called the Lense-Thirring effect. More recent
investigations of this effect have, among others, lead to the following result (Brill
and Cohen 1966): “A massive shell with radius equal to its Schwarzschild radius
has often been used as an idealized model of our universe. Our result shows
that in such models local inertial frames near the center cannot rotate relatively
to the mass of the universe. In this way our result gives an explanation in
accordance with Mach’s principle, of the fact that the “fixed stars” is at rest on
heaven as observed from an inertial reference frame.”



Chapter 2

Vectors, Tensors and Forms

2.1 Vectors

An expression on the form a”€,, where a*, i = 1,2,...,n are real numbers, is
known as a linear combination of the vectors €,.

The vectors €y, ..., €, are said to be linearly independent if there does not
exist real numbers a # 0 such that a*€, = 0.

\/

Figure 2.1: Closed polygon (linearly dependent)

Geometrical interpretation: A set of vectors are linearly independent if it
is not possible to construct a closed polygon of the vectors (even by adjusting
their lengths).

A set of vectors €1, .. ., €, are said to be maximally linearly independent
if €1,...,€,,7 are linearly dependent for all vectors v # ¢€,. We define the
dimension of a vector-space as the number of vectors in a maximally linearly
independent set of vectors of the space. The vectors €, in such a set are known

13
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as the basis-vectors of the space.

v+al'e, = 0
U
v = —ale, (2.1)
The components of ¢' are the numbers v# defined by v = —a* = ¥ = v¢,.

2.1.1 4-vectors

4-vectors are vectors which exist in (4-dimensional) space-time. A 4-vector
equation represents 4 independent component equations.

(RN

4

O ;Vf O

Figure 2.2: Carriage at rest (top) and with velocity ¥ (bottom)

Example 2.1.1 (Photon clock)
Carriage at rest:

Aty = ==
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Carriage with velocity ¥

2 (v%)Q + L2

C

At

<~

AA = AL + 417

<~

2L 2L/c Atg (29)

At =
V2 =2 1=02/c2 /1 —02/c?

The proper time-interval is denoted by d7 (above it was denoted Aty). The
proper time-interval for a particle is measured with a standard clock which
follows the particle.

Definition 2.1.1 (4-velocity)

- dt . dz dy _, dz
U:CE&H- Eew—i— %ey—l—%ez, (2.3)

where t is the coordinate time, measured with clocks at rest in the reference frame.

- dzt

U = U'ey=——n a"=(ctzy2), 2'=c
T
dt 1
_— = = 2.4
dr v2 v (2.4)
=

U= (¢, ¥), where ¥ is the common 3-velocity of the particle.

Definition 2.1.2 (4-momentum)

P =mgU, (2.5)

where my is the rest mass of the particle.

—

P= (%,ﬁ) where p'= ymg¥ = m and E is the relativistic energy.

The 4-force or Minkowski-force F = ‘fl—f and the ’common force’ f = 4
Then

—

F=(

<L

[
\_/l
—
o
D
Nad/

f .

)
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K world line of amaterial particle

/ lightcone

/ -7 - tachyons, if they exist,
/ - should havev > ¢

y
X
Figure 2.3: World-lines in a Minkowski diagram
Definition 2.1.3 (4-acceleration)
- dU
A=— 2.7
dr (2.7)
The 4-velocity has the scalar value ¢ so that
U-U=-¢ (2.8)

The 4-velocity identity eq. 2.8 gives U-A= 0, in other words A1 UandAis
space-like.
The line element for Minkowski space-time (flat space-time) with Cartesian

coordinates is
ds? = —Pdt? + da? + dy? + dz? (2.9)

In general relativity theory, gravitation is not considered a force. Gravitation
is instead described as motion in a curved space-time.

A particle in free fall, is in Newtonian gravitational theory said to be only
influenced by the gravitational force. According to general relativity theory the
particle is not influenced by any force.

Such a particle has no 4-acceleration. A = 0 implies that the particle is not
in free fall. It is then influenced by non-gravitational forces.

One has to distinguish between observed acceleration, ie. common 3-acceleration,

and the absolute 4-acceleration.
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2.1.2 Tangent vector fields and coordinate vectors

In a curved space position vectors with finite length do not exist. (See figure
2.4).

N(North pole)

Figure 2.4: In curved space,vectors can only exist in tangent planes.The vectors
—
in the tangent plane of N do not contain the vector NP (dashed line).

Different points in a curved space have different tangent planes. Finite vec-
tors do only exist in these tangent planes (See figure 2.5). However, infinitesimal
position vectors dr do exist.

tangent plane of point P:

Figure 2.5: In curved space,vectors can only exist in tangent planes
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Definition 2.1.4 (Reference frame)
A reference frame is defined as a continuum of non-intersecting timelike world
lines in spacetime.

We can view a reference frame as a set of reference particles with a specified
motion. An inertial reference frame is a non-rotating set of free particles.

Definition 2.1.5 (Coordinate system)
A coordinate system is a continuum of 4-tuples giving a unique set of coordinates
for events in spacetime.

Definition 2.1.6 (Comoving coordinate system)
A comoving coordinate system in a frame is a coordinate system where the
particles in the reference frame have constant spatial coordinates.

Definition 2.1.7 (Orthonormal basis)
An orthonormal basis {€},} in spacetime is defined by

(2.10)

where 7 and j are space indices.

Definition 2.1.8 (Coordinate basis vectors.)
Temporary definition of coordinate basis vector:
Assume any coordinate system {x*}.

(2.11)

. or
6 —_—
= dgn

A wector field is a continuum of vectors in a space, where the components are
continuous and differentiable functions of the coordinates. Let ¢ be a tangent
vector to the curve 7(\):

dr

Y where 7= 7[z" ()] (2.12)

U=
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The chain rule for differentiation yields:

L dr or dx¥  dxt |

VTN T O dx  ax "
Thus, the components of the tangent vector field along a curve, parameterised
by A, is given by:

=vte, (2.13)

i
o dx
dA
In the theory of relativity, the invariant parameter is often chosen to be the
proper time. Tangent vector to the world line of a material particle:

(2.14)

dxt
po_ 2t 2.15
ul' = — (2.15)
These are the components of the 4-velocity of the particle!
Digression 2.1.1 (Proper time of the photon.)
Minkowski-space:
ds? = —c2dt® + da?
1 ,dxz.2
2320 L 4T
= —cdt* (1 - 5(=)") (2.16)
2
VTN 29,2
= —(1- )
For a photon,v = ¢ so:
limds? =0 (2.17)

v—C

Thus, the spacetime interval between two points on the world line of a photon, is
zero! This also means that the proper time for the photon is zero!! (See example
2.1.2).

Digression 2.1.2 (Relationships between spacetime intervals, time and proper time.)
Physical interpretation of the spacetime interval for a timelike interval:

ds* = —c*dr? (2.18)

where d7 is the proper time interval between two events, measured on a clock
moving in a way, such that it is present on both events (figure 2.6).

2
—Adr? = —02(1—2—2)dt2

U2
=dr = \[1- St (2.19)
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ct

X

Figure 2.6: P, and P» are two events in spacetime, separated by a proper time
interval dr.

The time interval between to events in the laboratory, is smaller measured on a
moving clock than measured on a stationary one, because the moving clock is
ticking slower!

2.1.3 Coordinate transformations

Given two coordinate systems {z#} and {z"'}.

—

_or

;= 2.2
G = o (220)

Suppose there exists a coordinate transformation, such that the primed coor-
dinates are functions of the unprimed, and vice versa. Then we can apply the
chain rule:

or or ozt  _ Ozt

e, = =
“ oxH Ozt Ozt oxH

—¢, (2.21)

This is the transformation equation for the basis vectors. gf:/ are elements

of the transformation matrix. Indices that are not sum-indices are called ’free
indices’.

Rule: In all terms on each side in an equation, the free indices should
behave identically (high or low), and there should be exactly the same
indices in all terms!
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Applying this rule, we can now find the inverse transformation

’

. _ Ox¥

€y = €Ey——

14 1 8:1:“
" = o ., Ozt
7 = ey =vte, = e —
OxH

So, the transformation rules for the components of a vector becomes

, Ozt , At
w o = ot T (2.22)

wo__ .
v vt —
Oz’ D

The directional derivative along a curve, parametrised by A:

S (2.23)

A\~ 9zi dn | dam
dzt

where v# = €7~ are the components of the tangent vector of the curve. Direc-
tional derivative along a coordinate curve:

o Ozt 0 0
o OxH Oxv Yoxrh  OxV ( )
In the primed system:
“w
o _ 0" 9 (2.25)
oxH oxH Ozt
Definition 2.1.9 (Coordinate basis vectors.)
We define the coordinate basis vectors as:
5 0

This definition is not based upon the existence of finite position vectors. It applies
in curved spaces as well as in flat spaces.

Example 2.1.2 (Coordinate transformation)
From Figure 2.7 we see that

xr=rcosf, y=rsind (2.27)

Coordinate basis vectors were defined by

(2.28)

9
oxH

€u
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&

o)}

-

o)

S

é( X

Figure 2.7: Coordinate transformation, flat space.

This means that we have

L, 0 L, 0 L 0 L 0
€p=7—, €=7, € =, €)=
o’ Y oy’ " oar U 90 (2.29)
L. 0 0z 0 n dy 0 '
Cpr — — —= — —— -
" Or  Ordx  Oroy
Using the chain rule and Equations (2.27) and (2.29) we get
€, = cos fe; + sin fey,
0 or 0 Oy 0
n=— =22 2 Y 2.30
=90~ 900z " 909y (2.30)
= —rsinfe; + 7 cos béy,
But are the vectors in (2.30) also unit vectors?
6 - €. = cos’f +sinf = 1 (2.31)
So €, is a unit vector, |&.| = 1.
€ - € = r*(cos®0 + sinf) = (2.32)

and we see that €p is not a unit vector, |ép| = r. But we have that €, -€p =0 =
e, Lép. Coordinate basis vectors are not generally unit vectors.
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Definition 2.1.10 (Orthonormal basis)

An orthonormal basis is a vector basis consisting of unit vectors that are normal to
each other. To show that we are using an orthonormal basis we will use 'hats’ over
the indices, {€}.

Orthonormal basis associated with planar polar coordinates:

1
=8, , & = ¢ 2.33
e e ’I”ee ( )

>

i

Example 2.1.3 (Relativistic Doppler Effect)

The Lorentz transformation is known from special relativity and relates the reference
frames of two systems where one is moving with a constant velocity v with regard
to the other,

' = y(x — vt)
v
' =(t - 0—2)

According to the vector component transformation (2.22), the 4-momentum for a
particle moving in the z-direction, P* = (%,p,0,0) transforms as

/ 81‘“l
pr =2 pn
oxr =’
E'=~(E - vp).

Using the fact that a photon has energy £ = hv and momemtum p = h—cl’ where
h is Planck’s constant and v is the photon’s frequency, we get the equation for the
frequency shift known as the relativistic Doppler effect,

V/:’Y(V—EV): (1_%)V

-y a+y)

/ J—
L (2.34)
v c+v
2.1.4 Structure coefficients
Definition 2.1.11 (Commutators between vectors)
The commutator between two vectors, @ and ¥, is defined as
[U, V] = uv — vu (2.35)
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where ¥ is defined as

uv = ut'e) (vVey) = u“a;zu(v” ai”) (2.36)

We can think of a vector as a linear combination of partial derivatives. We get:
ov’ 0 0?
Ut = ut— + utv” ———
OxH OxVv OxHozY (2.37)
ov” 0?

v

(2.38)

1

£

Here we have used that
? 0?2
oxHoxY - ox?OxH

The Einstein comma notation =

(2.39)

v — v = (u'v”, — v’ e, (2.40)

As we can see, the commutator between two vectors is itself a vector.

Definition 2.1.12 (Structure coefficients cf, )
The structure coefficients ¢}, in an arbitrary basis {¢,,} are defined by:

€., el =6, (2.41)

Structure coefficients in a coordinate basis:
Lo 0 0
e, el =157 55
0 0 0 0
= 9090 " 9 o) (2.42)
9? 0?2
T Y T

=0
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The commutator between two coordinate basis vectors is zero, so the structure
coefficients are zero in coordinate basis.

Example 2.1.4 (Structure coefficients in planar polar coordinates)
We will find the structure coefficients of an orthonormal basis in planar polar coor-
dinates. In (2.33) we found that

>

1
& =& . &=-8& (2.43)
T

We will now use this to find the structure coefficients.

6 6 = Lo o]
R or’ rof
BTN
or r 00 r 00 " Or (2.44)

19 100 18

=20 Tror00  rooor
1 1

=8y =—-8
r2 r 6

To find the structure coefficients in an orthonormal basis we must use [€; , ;] =

—;eé
[_’ﬂ ;6] = Cpﬂ,; €5 (2.45)
Using (2.44) and (2.45) we get
5 1
= - (2.46)
From the definition of ¢, ([@, U] = —[¥, 1]) we see that the structure coefficients
are anti symmetric in their lower indices:
A =—c,, (2.47)
~ 1 ~
0 _ - _ 0

2.2 Tensors
A 1-form-basis w!, ..., w" is defined by:

wh(e,) = 0", (2.49)
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An arbitrary 1-form can be expressed, in terms of its components, as a linear
combination of the basis forms:

o= o,uwh (2.50)

where oy, are the components of « in the given basis.
Using eqs.(2.49) and (2.50), we find:

a(éy) = awt(e,) = a,dh, =
_(f) u—_'( v) nlly = o 1 2 (2.51)
a(V) = a(v'ey) = vale,) = vlo, =viar +viag + ...

We will now look at functions of multiple variables.

Definition 2.2.1 (Multilinear function, tensors)

A multilinear function is a function that is linear in all its arguments and maps one-
forms and vectors into real numbers. A tensor is a multilinear function that maps
one-forms and vectors into real numbers.

e A covariant tensor only maps vectors.
e A contravariant tensor only maps forms.

e A mixed tensor maps both vectors and forms into R.

A tensor of rank (]]\\,[,) maps N one-forms and N’ vectors into R. It is usual to
say that a tensor is of rank (N + N’). A one-form, for example, is a covariant
tensor of rank 1:

a(v) = vy, (2.52)

Definition 2.2.2 (Tensor product)
The basis of a tensor R of rank ¢ contains a tensor product, ®. If T and S are
two tensors of rank m and n, the tensor product is defined by:

T ® S(Ulyeeey Uy V1 yeuey Up) = T(U ey Upy ) S (074, Uy,) (2.53)

where T and S are tensors of rank m and n, respectively. T'® S is a tensor of rank
(m+mn).

Let R=T ® S. We then have

R=Ry pw" @u?®- . @wh (2.54)
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Notice that S®@ T # T ® S. We get the components of a tensor (R) by using
the tensor on the basis vectors:

RN1,~~~,Hq = R(e;w'-'ae;q) (255)

The indices of the components of a contravariant tensor are written as upper
indices, and the indices of a covariant tensor as lower indices.

Example 2.2.1 (Example of a tensor)
Let @ and ¥ be two vectors and o and 3 two 1-forms.

—

U =ule,; v=vl'e; a=oauwt; =P (2.56)

From these we can construct tensors of rank 2 through the relation R = @ ® ¥ as
follows: The components of R are

RMH2 = R(wH | wH?)
=7 ® T(w", w)
— ﬁ(gﬂl)@*(guz)
= ule, (W )" e, (W)
= ulo! vV o7

— M2

(2.57)

2.2.1 Transformation of tensor components

We shall not limit our discussion to coordinate transformations. Instead, we
will consider arbitrary transformations between bases, {€,} — {&,}. The
elements of transformation matrices are denoted by M‘;, such that

G =E,MY, and &, = &M (2.58)

where M’,ﬁ/ are elements of the inverse transformation matrix. Thus, it follows
that

Mh, MY = gt (2.59)

If the transformation is a coordinate transformation, the elements of the matrix
become

wo_
M“_axl‘

(2.60)




28

Chapter 2. Vectors, Tensors and Forms

2.2.2 Transformation of basis 1-forms

i !
Wt = MZQH

/ (2.61)
wh = M",w!
w W
The components of a tensor of higher rank transform such that every con-
travariant index (upper) transforms as a basis 1-form and every covariant index
(lower) as a basis vector. Also, all elements of the transformation matrix are
multiplied with one another.

Example 2.2.2 (A mixed tensor of rank 3)

T, =M% MY, MY, TS, (2.62)
The components in the primed basis are linear combinations of the components
in the unprimed basis.

Tensor transformation of components means that tensors have a basis in-
dependent existence. That is, if a tensor has non-vanishing components in a
given basis then it has non-vanishing components in all bases. This means
that tensor equations have a basis independent form. Tensor equations are
invariant. A basis transformation might result in the vanishing of one or more
tensor components. Equations in component form may differ from one basis to
another. But an equation expressed in tensor components can be transformed
from one basis to another using the tensor component transformation rules. An
equation that is expressed only in terms of tensor components is said to be
covariant.

2.2.3 The metric tensor

Definition 2.2.3 (The metric tensor)
The scalar product of two vectors @ and ¥/ is denoted by g(#,¥) and is defined as
a symmetric linear mapping which for each pair of vectors gives a scalar g(v,40) =

—

g(u,v)

The value of the scalar product g(u,7) is given by specifying the scalar
products of each pair of basis-vectors in a basis.
g is a symmetric covariant tensor of rank 2. This tensor is known as the
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metric tensor. The components of this tensor are

g(guv e_;,) =9

—

U0 = g(u,v) = g(u'e,,v’e,) = u'vg(e,, e,) = u'u"g ,

Usual notation:

The absolute value of a vector:

0] =V g(¥,0) = /]9 oHv”]

Example 2.2.3 (Cartesian coordinates in a plane)

Gaz =Gy =1, Gay =9ys =0

(10
Tmw=\0 1

Example 2.2.4 (Basis-vectors in plane polar-coordinates)
S o ) S o
61”'61”_17 €g-€g =T, 67«'69—07

The metric tensor in plane polar-coordinates:
1 0
g;u/ = 0 ?”2

Example 2.2.5 (Non-diagonal basis-vectors)

— —

51'51:1, 52-62:1, 51-5220089262-61

g, = 1 cosf\ _ (911 912
v cos 6 1 921 922

(2.63)

(2.64)

(2.65)

(2.66)

(2.67)

(2.68)

(2.69)

(2.70)
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o -
e

1

Figure 2.8: Basis-vectors €; and €5
Definition 2.2.4 (Contravariant components)
The contravariant components g"* of the metric tensor are defined as:
g g, =0, g =at T, (2.71)
where w" is defined by
(2.72)

g"” is the inverse matrix of g ..

It is possible to define a mapping between tensors of different type (eg.
covariant on contravariant) using the metric tensor.
We can for instance map a vector on a 1-form:

v = g(U,€,) = g(v*€a, ) = v¥g(€a, €u) = v%g o (2.73)
This is known as lowering of an index. Raising of an index becomes :
vt = gH%,, (2.74)
The mixed components of the metric tensor becomes:
9" =990 =70, (2.75)

We now define distance along a curve. Let the curve be parameterized by A
(proper-time 7 for time-like curves). Let ¢ be the tangent vector-field of the
curve.

The squared distance ds? between the points along the curve is defined as:

ds® = g(7,7)d\? (2.76)
gives
ds* = ng“v”d)\2. (2.77)
The tangent vector has components v* = %, which gives:
ds* = g pdatdz” (2.78)

The expression ds? is known as the line-element.
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aJZ
32
A2w .
TN A?
/ = constant
~. P
~ 2
p AN " - —_
Azj% MA xL= constant
|
|
|
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Ale, |
I
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I
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|
|
:
— 1\
AL -

Figure 2.9: The covariant- and contravariant components of a vector

Example 2.2.6 (Cartesian coordinates in a plane)

oz =9y =1 9,=9%=

2.79
ds* = da® + dy® (2.79)
Example 2.2.7 (Plane polar coordinates)
= 1’ = ’[”2
9rr , 2999 ) (280)
ds® = dr® 4 r=df
Cartesian coordinates in the (flat) Minkowski space-time :
ds? = —c*dt* + da® + dy* + d2* (2.81)

In an arbitrary curved space, an orthonormal basis can be adopted in any
point. If € is tangent vector to the world line of an observer, then & =
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where 1 is the 4-velocity of the observer. In this case, we are using what we call
the comoving orthonormal basis of the observer. In a such basis, we have the
Minkowski-metric:

ds® = nﬂ,;dx[‘da:ﬁ (2.82)

2.3 Forms

An antisymmetric tensor is a tensor whose sign changes under an arbitrary
exchange of two arguments.

Ao iy Ty ) = —A( e Ty ) (2.83)

The components of an antisymmetric tensor change sign under exchange of
two indices.

Aoy = —Aeopepp (2.84)

Definition 2.3.1 (p-form)
A p-form is defined to be an antisymmetric, covariant tensor of rank p.
An antisymmetric tensor product A is defined by:

|
g[#l Q- ®£l‘p} A g[l’l Q- ®£Vq] = (p—:—i'q)'g[ﬂl Q- ®£Vq} (2.85)
pq

where [ | denotes antisymmetric combinations defined by:

1
WM @. .. @uwhl = - (the sum of terms with
p:

all possible permutations (2.86)
of indices with, “4+” for even

and “-” for odd permutations)

Example 2.3.1 (antisymmetric combinations)

1
g[Nl R gl‘ﬂ — §(£m ®g“2 — Q’LQ ®g’“) (2.87)



2.3 Forms 33

Example 2.3.2 (antisymmetric combinations)

g[#l ® QNQ ® QHB} —

1 (wﬂl ® wh? ® whs + whs ® wht ® wh2 + wh2 ® wHs ® wht

3!
—w”? @ W' @w — W' @w? W — W' ® W ®wh?)
1

= gicuk(W" @ @) (2.88)

Example 2.3.3 (A 2-form in 3-space)

a = a1pw W +anw?@w! +a3w! @W? +az1w? @w! +agw? ®w? + azaw® ®W?
(2.89)

Now the antisymmetry of & means that

T = —Qq9;  tTQgp = —Qq3; TQ39 = —Qo3 (2.90)
a —aw(wl ®w2 o QQ ®£1)
+aw 9w —w ewh)
9 3 3 9 (2.91)
+ g3 (W AW’ — w’ Qw?)

where |uv| means summation only for u < v (see (Misner, Thorne and Wheeler
1973)). We now use the definition of A with p = ¢ = 1. This gives

a = )W AW’

. W AW is the
We can also write form basis.

1
a= 5%1,&“ AW’

A tensor of rank 2 can always be split up into a symmetric and an anti-
symmetric part. (Note that tensors of higher rank can not be split up in this

way. )
1 1
Ty = §(T/w - Tvu) + §(T/w + Tvu) (2.92)
= A,u,zz + S;Ll/
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We thus have:

S At = —(Ty,, + T,,)(TH = T")

_ (2.93)

(T T" — T, T + T, T* — T, T"")

O ==

In general, summation over indices of a symmetric and an antisymmetric quan-
tity vanishes. In a summation 7}, A* where A" is antisymmetric and 7}, has
no symmetry, only the antisymmetric part of T}, contributes. So that, in

1
a= 504”,,@“ A W (2.94)

only the antisymmetric elements a,, = —ay,, contribute to the summation.
These antisymmetric elements are the form components

Forms are antisymmetric covariant tensors. Because of this antisymmetry
a form with two identical components must be a null form (= zero). e.g.
131 = —a131 = 131 = 0

In an n-dimensional space all p-forms with p > n are null forms.
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Accelerated Reference Frames

3.1 Rotating reference frames

3.1.1 The spatial metric tensor

Let &, be the 4-velocity field (2° = ct,c = 1,2% = t) of the reference particles
in a reference frame R. We are going to find the metric tensor 7;; in a tangent
space orthogonal to €, expressed by the metric tensor g,, of spacetime.

In an arbitrary coordinate basis {€,}, {€;} is not necessarily orthogonal to
€p. We choose €p||€;. Let €; be the component of €; orthogonal to ép, that
is:€; - €g = 0. The metric tensor of space is defined by:

Yij = €1i - €15,7%0 = 0,70 =0

€li = € — €

o €; €0 gi0 -
€li = > = € = €0
€0 * €0 goo

goo goo
> > gjo. o gio. o | Yi0gio.
:iea_JGO'ei—Z 0€j+lgJ 0" €0
goo 960
=gij — 9i09j0  gi0g;o0 + 3i0950
goo goo goo
3i0350
=Yg = gij — = (3.1)
goo

(Notegij = gji = vij = Vi)
The line element in space:

di? = yyda'de’ = (g;j - gﬁfo)dwidw" (3.2)

gives the distance between simultaneous events in a reference frame where the
metric tensor of spacetime in a comoving coordinate system is g,

35
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The line element for spacetime can be expressed as:
ds* = —di* + dI? (3.3)

It follows that df = 0 represents the simultaneity defining the spatial line ele-
ment. The temporal part of the spacetime line element may be expressed as

di? = di* —ds* = (yu — guv)datda”
= (vij — gij)dz'dz’ + 2(vio — gio)dx'dz® + (Y00 — goo)dx"dx®
910950 _ gij)da:ida:j — 2g¢0d3:id330 — goo(davo)2

= (gz‘j -

— g0 [(de)Q + 290 420 a1 + gio—fjodxidxﬂ}
goo 900
= [(—900)1/2(d330 + gﬂdﬂ«"l)}
goo

So finally we get

di = (—goo)"/?(da® + gﬂda:i) (3.4)
goo
The 3-space orthogonal to the world lines of the reference particles in R, df =
0, corresponds to a coordinate time interval dt = —gﬁdazi. This is not an
exact differential, that is, dt is not integrable, which means that one cannot in
general define a 3-space orthogonal to the world lines of the world lines of the
reference particles, i.e. a “simultaneity space”, in an arbitrary reference frame.
We must also conclude that unless g;0/goo is constant, it is not possible to
Einstein synchronize clocks around closed curves.

In particular, it is not possible to Einstein-synchronize clocks around a closed
curve in a rotating reference frame. If this is attempted, contradictory bound-
ary conditions in the non-rotating lab frame will arise, due to the relativity of
simultaneity. (See figure 3.1)

The distance in the laboratory frame between two points is:

2
Ar="" (3.5)

n

Lorentz transformation from the instantaneous rest frame (z/,t') to the labo-
ratory system (x,t):

1

v
At = (A + 5A7), 7= ——=
C rw
1 -y (3.6)

Az = y(Ax' + vAt')

Since we for simultaneous events in the rotating reference frame have At' = 0,
and proper distance Ax’ = yAz, we get in the laboratory frame
oTw 27T

At = ’YQT—(:A.T =7 (3.7)
c 2 n
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t+2At

t+At

S

t& t+nAt (discontinuity)

S

t+(n-1) At

Sn1

Figure 3.1: Events simultanous in the rotating reference frame. 1 comes before
2, before 3, etc... Note the discontinuity at t.

Figure 3.2: The distance between two points on the circumference is L.
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{ = constant

&_//

0 = constant

\9

J

T =t = constant

Figure 3.3: Discontinuity in simultaneity.

The fact that At’ = 0 and At # 0 is an expression of the relativity of simul-
taneity. Around the circumference this is accumulated to

o 2mriw
2

nAt =~y (3.8)

and we get a discontinuity in simultaneity, as shown in figure 3.3. Let IF be an
inertial frame with cylinder coordinates (T, R, ©, Z). The line element is then
given by

ds® = —dT? + dR? + R2d©? + dZ* (c=1) (3.9)

In a rotating reference frame, RF, we have cylinder coordinates (t, r, 6, z). We
then have the following coordinate transformation :

t=T, r=R, 0=0-wWTl, z=7 (3.10)
The line element in the co-moving coordinate system in RF is then

ds? = —dt? + dr® 4 r*(df + wdt)? + dz*

3.11
= —(1 —r’w?)dt® + dr® + r?d6* + dz* + 2r2wdfdt  (c=1) (3.11)

The metric tensor have the following components:
gt = _(1 - 7”2(*12)’ rr =1, gos = 7“27 g2z =1 (3-12)

2
got = g9 =1 W
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dt = 0 gives
ds® = dr® + r2d6* + dz? (3.13)

This represents the Euclidean geometry of the 3-space (simultaneity space, t =
T) in IF.
As applied to the rotating system the spatial line element takes the form

di? = (g — 2999%) 4o g

goo
Yrr =Grr = 1, Yoz = g2 = 1,
2
g
Yoo = goo — 22
goo
2 2 2
2 (r‘w) r

—(1 —r2w?) T 1 - w2

r2df?
=72
It describes the geometry of a local 3-space orthogonal to the world line of a ref-
erence particle in RF. This 3-space cannot be extended to a finite 3-dimensional
space in RF since Einstein synchronization is not integrable in RF. From the
line element (3.14) it is seen that the geometry of this local simultaneity space
in RF in non-Euclidean. The circumference of a circle with radius r is

= di*=dr*+ +d2? (3.14)

2mr
lg = —= > 27r (3.15)
1 —r2w?
We see that the quotient between circumference and radius > 27 which means
that the spatial geometry is hyperbolic. (For spherical geometry we have ly <

27r.)

3.1.2 Angular acceleration in the rotating frame

We will now investigate what happens when we give RF an angular acceleration.
Then we consider a rotating circle made of standard measuring rods, as shown
in Figure 3.4. All points on a circle are accelerated simultaneously in TF (the
laboratory system). We let the angular velocity increase from w to w + dw,
measured in IF. Lorentz transformation to an instantaneous rest frame for a
point on the circumference then gives an increase in velocity in this system:

rdv' = ———— (3.16)

where we have used that the initial velocity in this frame is zero.

The time difference for the accelerations of the front and back ends of the
points on the periphery of the rotating disc (the front end is accelerated first)
in the instantaneous rest frame is:

rwilg

At = ———
V1 —1r2w?

(3.17)
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° : "na”"
Standard measuring rod

Figure 3.4: A non-rotating disc with measring rods. The standard measuring
rods are fastened with nails in one end. We will see what then happens when
we have an angular acceleration.

where Ly is the distance between points on the circumference when at rest (— the
length of the rods when at rest), Lo = 2—;”" In IF all points on the circumference
are accelerated simultaneously. In RF, however, this is not the case. Here the
distance between points on the circumference will increase, see Figure 3.5. The
rest distance increases by

r2wLodw

’ I Al
dL" = rdw' At = —(1—r2w2)3/2'

(3.18)

(It may be noted that each point on an arbitrary measuring rod is accelerated
simultaneously in the rest frame of the rod to preserve its rest length. In the
laboratory frame the rear point of the rod is accelerated first, giving the rod a
Lorentz contraction.)

The increase of the distance during the acceleration (in an instantaneous

t'+ At t
° o——— adv

Figure 3.5: In RF two points on the circumference are accelerated at different
times. Thus the distance between them is increased.
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rest frame) is

L' =rL /w wde (et 1)L (3.19)

=r = — . :
°Jo (1 — r2w?)3/2 V1 —r2w? °

Hence, after the acceleration there is a proper distance L’ between the rods. In

the laboratory system (IF) the distance between the rods is

1
= V1 —1r202L = /1 - r2w2(————= — 1)Lg = Lo — Lo/ 1 — 7202,
(m )0 0 0
(3.20)

where Lg is the rest length of the rods and Lgv/1 — r2w? is their Lorentz con-
tracted length. We now have the situation shown in Figure 3.6.

Standard measuring rod,
Lorenz contracted

Figure 3.6: The standard measuring rods have been Lorentz contracted.

Thus, there is room for more standard rods around the periphery the faster
the disk rotates. This means that as measured with measuring rods at rest
in the rotating frame the measured length of the periphery (number of stan-
dard rods) gets larger with increasing angular velocity. This is how an inertial
observer would explain the measuring result of the rotating observer. The rotat-
ing observer, however, that the disc material has been streched in the tangential
direction. Note that as measured by the inertial observer the length of the pe-
riphery is 277 independently of the angular velocity of the disc, since the inertial
observer uses measuring rods at rest in the non-rotating reference frame. The
Lorentz contraction of tangential lengths on the disc just compensates for the
streching of the disc (increase of the length), making the length of the periphery
independent of the rotating velocity.
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3.1.3 Gravitational time dilation

2 2
ds? = —(1 — ) Pdt® + dr? + r2d6 + dz* + 2r’wdbdt
c
We now look at standard clocks with constant r and z.

r2w? r2 df 27“2w db

2 _ 22 (1 — reoabig rrwab
ds codt [—( )+02(dt) =2 dt]

c2

(3.21)

(3.22)

Let % = @ be the angular velocity of the clock in RF. The proper time interval

E =
measured by the clock is then

ds? = —c*dr?

From this we see that

A non-moving standard clock in RF: 0=0=

2,2
dr = diy[1- =
C

(3.23)

(3.24)

(3.25)

Seen from IF, the non-rotating laboratory system, (3.25) represents the velocity

dependent time dilation from the special theory of relativity.

But how is (3.25) interpreted in RF? The clock does not move relative to
an observer in this system, hence what happens can not bee interpreted as a
velocity dependent phenomenon. According to Einstein, the fact that standard
clocks slow down the farther away from the axis of rotation they are, is due to

a gravitational effect.

We will now find the gravitational potential at a distance r from the axis.

The sentripetal acceleration is v?/r, v = rw so:

T T 1
o = —/ g(r)dr = —/ rw?dr = —=r2w?
0 0 2

2,2 2P
dr = diy[1 - = = an 1+ =
(& C

We then get:

(3.26)

In RF the position dependent time dilation is interpreted as a gravitational

time dilation: Time flows slower further down in a gravitational field.
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3.1.4 Path of photons emitted from axes in the rotating refer-
ence frame (RF)

We start with description in the inertial frame (IF). In IF photon paths are
radial. Consider a photon path with © =0, R =T with light source at R = 0.
Transforming to RF:

t=T, r=R, 0=0-uwT

(3.27)
= r=t 0=—-wt

The orbit equation is thus 6 = —wr which is the equation for an Archimedean
spiral. The time used by a photon out to distance r from axis is t = £.

3.1.5 The Sagnac effect
IF description:

Here the velocity of light is isotropic, but the emitter/receiver moves due to the
disc’s rotation as shown in Figure 3.7. Photons are emitted/received in/from
opposite directions. Let ¢; be the travel time of photons which move with the
rotation.

Emitter /Receiver

20

Figure 3.7: The Sagnac effect demonstrates the anisotropy of the speed of light
when measured in a rotating reference frame.

Then

= 2nr 4+ rwt] = cty
27r (3.28)
c—Tw

= 11 =

Let to be the travel time for photons moving against the rotation of the disc.
The difference in travel time is

A is the area
enclosed by the
photon path or
orbit.
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ds® = 0 along the
world line of a
photon

1 1
At:tl—t2:27ﬂ“< — )
c—rw c+rw
_ 22w (3.29)
2 — r2,,2
_ 9 4Aw
2

RF description:

2 r2w? 2 1,2 2 192 2
ds“=—(1-— =2 codt” + redf” + 2r wdfdt

. df

let 6=—

¢ dt
r20% + 212wl — (2 —r?w?) =0

—r2w + \/(T4w2 +r2¢? — riw?)

6 =

r? (3.30)

The speed of light: vy = rf = —rw + ¢. We see that in the rotating frame RF,
the measured (coordinate) velocity of light is NOT isotropic. The difference in
the travel time of the two beams is

2nr 2rr
At = T
c—rw c+rw
31
9 4Aw (3:31)
2

The coordinate clocks are not Einstein synchronized in RF, but they represent
a globally well defined time. As measured with locally Einstein synchronized
clocks the velocity of light is isotropic. But as shown, it is not possible to
Einstein synchronize clocks around a closed curve in RF. (See Phil. Mag. series
6, vol. 8 (1904) for Michelson’s article)

3.2 Hyperbolically accelerated reference frames

Consider a particle moving along a straight line with velocity u and acceleration
a = g—% Rest acceleration is a.

= a= (1—u2/c2)3/2 a. (3.32)

Assume that the particle has constant rest acceleration ¢ = g. That is

du 9 9\3/2
dT_(1 u?/e?)" 7 g. (3.33)
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Which on integration with «(0) = 0 gives
qT dX

S T
¢
g

2T2 1/2
= X = <1+ > + k

c2

C4

= 5= (X —k)? — 217 (3.34)

In its final form the above equation describes a hyperbola in the Minkowski
diagram as shown in figure(3.8).

cT

Figure 3.8: Hyperbolically accelerated reference frames are so called because
the loci of particle trajectories in space-time are hyperbolae.

The proper time interval as measured by a clock which follows the particle:

w2\ 12
dr = <1 - —) dT (3.35)

Substitution for u(7") and integration with 7(0) = 0 gives

c . < gT >
7 = —arcsinh | =—
g c

or T = sinh (gT> (3.36)
g C
62
and X——cosh( )—i—k:
g C

We now use this particle as the origin of space in an hyperbolically accelerated
reference frame.



46

Chapter 3. Accelerated Reference Frames

Definition 3.2.1 (Born-stiff motion)
Born-stiff motion of a system is motion such that every element of the system has
constant rest length. We demand that our accelerated reference frame is Born-stiff.

Let the inertial frame have coordinates (7', X,Y,Z) and the accelerated
frame have coordinates (t,z,y,z). We now denote the X-coordinate of the
“origin particle” by Xj.

1+ g—fo — cosh 920 (3.37)
c c
where 7p is the proper time for this particle and k is set to = (These are
Mpgller coordinates. Setting k = 0 gives Rindler coordinates).

Let us denote the accelerated frame by . The coordinate time at an ar-
bitrary point in ¥ is defined by ¢ = 79. That is coordinate clocks in ¥ run
identically with the standard clock at the “origin particle”. Let )?0 be the posi-
tion 4-vector of the “origin particle”. Decomposed in the laboratory frame, this

2 2
Xy = {C— smh 2. < <cosh gt _ 1) ,0,0} (3.38)
9 c g c
P is chosen such that P and P, are simultaneous in the accelerated frame >. The
distance (see figure(3.9)) vector from Py to P, decomposed into an orthonormal
comoving basis of the “origin particle” is X = (0,%,9,2) where &,y and Z are
physical distances measured simultaneously in . The space coordinates in X
are defined by

becomes

r=z, y=gy, z=2. (3.39)

The position vector of P is X = X:O +X. The relationship between basis vectors
in IF and the comoving orthonormal basis is given by a Lorentz transformation
in the x-direction.

L ox*
AT Cugih
coshf sinhéd 0 0
e ex 2y | R cosho 00 (3.40)
- eT7€X)€Y7€Z7 0 0 1 0
0 0 0 1
where 6 is the rapidity defined by
U
tanh g = =2 (3.41)
c
Up being the velocity of the “origin particle”.
dX t
Uy = d—TO = ctanh 9t
0 ¢ (3.42)
g ot

C
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X P
cT €;
Py o
A X
X
X,
- X

Figure 3.9: Simultaneity in hyperbolically accelerated reference frames. The

vector X lies along the “simultaneity line” which makes the same angle with the
X-axis as does €; with the cT-axis. (Correction: The vector €¢ in the figure
should be changed to é5.)

So the basis vectors can be written as follows

t t
€ = €Tcoshg— + €x sinh %
c c

. L ..gt gt

€; = ersinh - + €y cosh " (3.43)
€; = €y

€; = €z

The equation X = X:O + X can now be decomposed in TF":

cTer + Xex +Yey + Zéz =
+ 2
Esinhg—é’T + ¢

t t t
<coshg— — 1> ex + Esinhg—é’T + x cosh g—é'X + yey + z€z
g c g c c c c

(3.44)
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ds? is an
invariant
quantity

This then, gives the coordinate transformations

t t
T:Esinhg——i—fsinhg—
g c c c
2
t t
X:c— (coshg——l) —|—a:coshg—
g c c
Y=y9
J =z
T t
= 92 <1+%)Smhg—
c c
X
1+g—2—<1+%)coshg—
c c c

Now dividing the last two of the above equations we get

T X t
97 <1 + g—2> tanh 2 (3.45)
C C

C

showing that the coordinate curves t — constant are straight lines in the T, X-
. . 2 . . .
frame passing through the point T = 0, X = —%. Using the identity cosh? 6 —

<1+90—§>2— (%)2: (1+ %) (3.46)

showing that the coordinate curves x — constant are hypebolae in the T, X-

sinh? § = 1 we get

diagram.
The line element (the metric) gives :

ds* = —2dT?+dX?+dY? +dz?
- 1+ i—f)?c%t? +de? 4 dy? + d2? (3.47)

Note: When the metric is diagonal the unit vectors are orthogonal.
Clocks at rest in the accelerated system:

de =dy=dz =0, ds?®=—cdr?

y
—Pdr? =—(1+ i—f)Qchﬁ
|
gr
dr = (1+ 75)dt (3.48)

Here dr is the proper time and dt the coordinate time.
An observer in the accelerated system X experiences a gravitational field in
the negative x-direction. When x < 0 then dr < dt. The coordinate clocks
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cT

horizon

t=constant

= x=constant

Figure 3.10: The hyperbolically accelerated reference system

tick equally fast independently of their position. This implies that time passes
slower further down in a gravitational field.

Consider a standard clock moving in the z-direction with velocity v = dx/dt.
Then

2
—ctdr? = — (1 + %) Adt* + da®
C
2 2
- - {(1 +5) - ”—2] Adr? (3.49)
C C
Hence
2 2
dr = \/(1 + i—f) - Z—2dt (3.50)

This expresses the combined effect of the gravitational- and the kinematic time
dilation.
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Covariant Differentiation

4.1 Differentiation of forms

We must have a method of differentiation that maintains the anti symmetry,
thus making sure that what we end up with after differentiation is still a form.

4.1.1 Exterior differentiation

The exterior derivative of a 0-form, i.e. a scalar function, f, is given by:

0
df = 8—£ wh = fw (4.1)

where w* are coordinate basis forms:

3}
H = oM 4.2
w5 5) =0 (4.2)
We then (in general) get:
Ot
W = Mt = S = da” (4.3)

In coordinate basis we can always write the basis forms as exterior derivatives
of the coordinates. The differential da* is given by

dat(dr) = dx* (4.4)

where di” is an infinitesimal position vector. dz* are not infinitesimal quantities.
In coordinate basis the exterior derivative of a p-form

daxtt NN datr (4.5)

@ = aaﬂl"'ﬂp

will have the following component form:

1
do= —'am...up#oc_lx“o Adxtt Ao A dxtr (4.6)
p!

20
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where |, ug = &CLHO. The exterior derivative of a p-form is a (p + 1)-form.
Consider the exterior derivative of a p-form a.

1
da = ﬁam...“p,#od:cuo Ao AdatP. (4.7)
Let (da),y...., be the form components of da. They must, by definition, be
antisymmetric under an arbitrary interchange of indices.

1
da = 1 (@@ 4™ Ao At

1
which, by (4.7) = = — dzh® A - AN daxtr

p! a[aﬂl‘“#pnu()}_

(d_Oé)“O...“p = (p + 1)a[ll1"'/$p7ll0] (4.8)

The form equation da = 0 in component form is

=0 (4.9)

Qg - 0]

Example 4.1.1 (Outer product of 1-forms in 3-space)

o = a;dx’ = (2,y,2
- (.9,2) (4.10)
do = o jda? A dx’
Also, assume that dao = 0. The corresponding component equation is
Qi ] = 0 = Q5 — Qi = 0
N day % _o, dag O _o, % _ Oa, 0 (4.11)
dy ox 0z ox 0z oy
which corresponds to
Vxa=0 (4.12)
The outer product of an outer product!
?a = d(da)
P v g ot (4.13)
o= ﬁo‘ul-"uwvwz—aj Nax™ N--- Nax
82
nn = G (4.14)
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Since

0* 0?

= Oz Oxv? = OzV2 Oz (4.15)

,V1V2 —,vv1—
summation over v1 and vy which are symmetric in ..., 010, and antisymmetric

in the basis we get Poincaré’s lemma (valid only for scalar fields)

d’a =0 (4.16)

This corresponds to the vector equation

-,

V- (VxA) =0 (4.17)

Let a be a p-form and 3 be a g-form. Then
dlanp)=danp+(~1)Pands (4.18)

4.1.2 Covariant derivative

The general theory of relativity contains a covariance principle which states
that all equations expressing laws of nature must have the same form irrespective
of the coordinate system in which they are derived. This is achieved by writing
all equations in terms of tensors. Let us see if the partial derivative of vector
components transform as tensor components. Given a vector A = Abe), =
A“,é'u/ with the transformation of basis given by

g  0x" 0
oxv'  OxY dav

(4.19)

So that

2 = g (4)
o’ 9 ,
B aggjw dav (A“>

_ ox¥ 0 [0z A
oxY Oxv \ OxH
oz? Ozt L dz” 92zt

= A A 4.2
oY dxr Y + ozV'" "~ OxzvOzH (4.20)

The first term corresponds to a tensorial transformation. The existence of the
last term shows that A", does not, in general, transform as the components of
a tensor. Note that A‘fl, will transform as a tensor under linear transformations
such as the Lorentz transformations.

The partial derivative must be generalized such as to ensure that when it is
applied to tensor components it produces tensor components.



4.1 Differentiation of forms 53

Example 4.1.2 (The derivative of a vector field with rotation)
We have a vector field:

A= kréy

The chain rule for derivation gives:

dr  0zv dr oxV
aa
5 = u (Atey) ,

=u” (A‘fyé’“ + AuéﬂvV)

The change of the vector field with a displacement along a coordinate-curve is

expressed by:

0A
oxY

= A7V = A‘fl’elu‘ + Aﬂepﬂy

The change in A with the displacement in the 0-direction is:

A . .
20 = A’fgeu + Are, g

For our vector field, with A" = 0, we get

and since AGG = 0 because A% = kr we end up with

—

0A 0~ 5 -
0 = A’¢p g = krégg
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We now need to calculate the derivative of €. We have:
x =rcosf y =rsinf

; > _ 0 e
Using €, = 57 we can write:

-9 _0z0 0Oyd
"= 90 " 000z " 90 0y

= —rsinfé, + r cos 0¢,

0 - AP
€r = = = cos 0, + sinfe,

or
Gives:
€9, = —7r cos B¢, — rsin e,
= —r(cos b, + sinbé,) = —ré,
This gives us finally:
04 _
% = —k’f‘2€r

Thus %—’g # 0 even if A= A%, and AQG =0.

4.2 The Christoffel Symbols

The covariant derivative was introduced by Christoffel to be able to differenti-
ate tensor fields. It is defined in coordinate basis by generalizing the partially
derivative A", to a derivative written as A%, and which transforms tensorially,
L Vi

v Qa9 (421)

The covariant derivative of the contravariant vector components are written as:
Ar, = A, + AT, (4.22)

This equation defines the Christoffel symbols I'Yg,, which are also called the
“connection coefficients in coordinate basis”. From the transformation formulae
for the two first terms follows that the Christoffel symbols transform as:

/ oz¥ dxt ™ oz 9>

o oy = . ; e P e s (4.23)

s oxV' Ozt Jxe M Ox dxH dxv
The Christoffel symbols do not transform as tensor components. It is possible to
cancel all Christoffel symbols by transforming into a locally Cartesian coordinate
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system which is co-moving in a locally non-rotating reference frame in free fall.
Such coordinates are known as Gaussian coordinates.

In general relativity theory an inertial frame is defined as a non-rotating
frame in free fall. The Christoffel symbols are 0 (zero) in a locally Cartesian
coordinate system which is co-moving in a local inertial frame. Local Gaussian
coordinates are indicated with a bar over the indices, giving

e, =0 (4.24)

= Q!

A transformation from local Gaussian coordinates to any coordinates leads to:

, _
o 8.’Ea 82.’Ea

14,1 =
wv 0x® Azt Oz’

(4.25)

This equation shows that the Christoffel symbols are symmetric in the two lower
indices, ie.

o — Fofj//“/ (426)

W'

Example 4.2.1 (The Christoffel symbols in plane polar coordinates)

x =rcosb, y=rsinf

r=+/x2+y?, 0 = arctan%

Oz ox ) or x ar .
E—cosﬁ, %——rsmﬁ 8—£—;—COS@, a9y =sinf
Oy W, 90 smb 00 cost
ar o a9 — " or  r’ oy

, or &*x  Or 8%y
00 = 5302 T 5 92
Ox 002 Oy 0
= cos f(—rcosf) + sin O(—rsin f)

= —r(cos0? +sin6?) = —r

90 &z 90 By

r,=1%=— —
0 =0 = 5 900r | oy 000r
= —Smg(—sinﬁ) + COSH(COS 0)
:

1
r
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The geometrical interpretation of the covariant derivative was given by Levi-
Civita.

Consider a curve S in any (eg. curved) space. It is parameterized by A, ie.
at = xH*(N). A is invariant and chosen to be the curve length.

The tangent vector field of the curve is @ = (da*/d\)€,,. The curve passes
through a vector field A. The covariant directional derivative of the vector field
along the curve is defined as:

dA _ ., da

=A* —¢, = A" uVe 4.2
™ o A uve, (4.27)

The vectors in the vector field are said to be
connected by parallel transport along the curve
if

Afu” =0

A( A+DN)

A (ATAN)

Figure 4.1: Parallel transport from P to Q. The vector B= Afu” ANe,

dz*
Keﬂ (428)

According to the geometrical interpretation of Levi-Civita, the covariant direc-
tional derivative is:

U=

. AN+ AX) — A\
Vil = A5, = lim )€ AA) N

(4.29)

where ff”(/\ + A)) means the vector A parallel transported from Q to P.
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4.3 Geodesic curves

Definition 4.3.1 (Geodesic curves)
A geodesic curve is defined in such a way that,the vectors of the tangent vector field
of the curve is connected by parallell transport.

This definition says that geodesic curves are ’as straight as possible’.

If vectors in a vector field A(\) are connected by parallell transport by a dis-
placement along a vector @ , we have A", u” = 0. For geodesic curves, we then
have:

ut,u” =0 (4.30)
which is the geodesic equation.
(ut, + T, u™)u” =0 (4.31)
Then we are using that % = dd’“; 8‘2,, = u”a%,, :
% =u” ZZ/: = u"ut, (4.32)

The geodesic equation can also be written as:

dut

o TP’ =0 (4.33)

: Lo d

Usual notation: " = oY

dxt

f=—r=a 4.34
e T (4.34)
BT, i7" =0 (4.35)

By comparing eq.4.35 with the equation of motion(4.53) for a free particle (which
we deduced from the Lagrangian equations) , we find the equations to be iden-
tical. Conclusion:Free particles follow geodesic curves in spacetime.

Example 4.3.1 (vertical motion of free particle in hyperb. acc. ref. frame)
Inserting the Christoffel symbols T'%, = (1 + %7)g from example 4.5.3 into the
geodesic equation for a vertical geodesic curve in a hyperbolically accelerated refer-
ence frame, we get:

- gr. o
1+ )gt“ =0
Z+( -1—62)9
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4.4 The covariant Euler-Lagrange equations

Geodesic curves can also be defined as curves with an extremal distance between
two points. Let a particle have a world-line (in space-time) between two points
(events) P and P». Let the curves be described by an invariant parameter \
(proper time 7 is used for particles with a rest mass).
The Lagrange-function is a function of coordinates and their derivatives,
dx*
L = L(z",2"), = —. 4.36
(s, 3%) = (4.3
(Note: if A = 7 then @# are the 4-velocity components)

The action-integral is S = [ L(z#,##)d\. The principle of extremal action
(Hamiltons-principle): The world-line of a particle is determined by the condi-
tion that .S shall be extremal for all infinitesimal variations of curves which keep
P, and P, rigid, ie.

A2
0 L(z*,&")d\ = 0, (4.37)
A1

where A1 and Ao are the parameter-values at P; and P». For all the variations

ct

X

Figure 4.2: Different world-lines connecting P, and P, in a Minkowski diagram

the following condition applies:

dzt (A1) = dxt(Ag) =0 (4.38)
We write Eq. (4.37) as
A2 A2
) La\ = / [a—Léaz“ + a—,Léa':“ d\ (4.39)
A1 A1 oxt oxH
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Partial integration of the last term

A2 QL L. 0" [ L
OL imx = [a—éac“] - / d (8—> datd (4.40)
A

N, OdH oir " |\ Sy, dX \Oim

Due to the conditions dx* (A1) = dz#(A2) = 0 the first term becomes zero. Then
we have : \
2oL d (0L
0S8 = — — — | = | | dxtd\ 4.41
= [83:“ dX (aﬁguﬂ ! (4.41)

The world-line the particle follows is determined by the condition §S = 0 for
any variation dx*. Hence, the world-line of the particle must be given by

oL d (0L

These are the covariant Euler-Lagrange equations.
The canonical momentum p,, conjugated to a coordinate x* is defined as

oL
= — 4.43
The Lagrange-equations can now be written as
dp,, oL . oL
e 2 = 4.44
A "oz O DT g (1.44)

A coordinate which the Lagrange-function does not depend on is known as a

cyclic coordinate. Hence, gc—ﬁ = 0 for a cyclic coordinate. From this follows:

The canonical momentum conjugated to a cyclic
coordinate is a constant of motion

ie. p, = C (constant) if 2* is cyclic.
A free particle in space-time (curved space-time includes gravitation) has
the Lagrange function
1, , 1. . 1 s
L= Ju-i= 5:1:#3:“ = 59“1,3:“3:" (4.45)
An integral of the Lagrange-equations is obtained readily from the 4-velocity
identity:

g:;‘“g:;‘“ =—c? for a particle with rest-mass (4.46)
T2t =0 for light

The line-element is:
ds? = g datds’ = g, i dA\2 = 2LdX? | (4.47)

Thus the Lagrange function of a free particle is obtained from the line-element.
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flat surface:

Figure 4.3: On a flat surface, the geodesic curve is the minimal distance between
P and Q

sphere:

Figure 4.4: On a sphere, the geodesic curves are great circles.

4.5 Application of the Lagrangian formalism to free
particles

To describe the motion of a free particle, we start by setting up the line element
of the space-time in the chosen coordinate system. There are coordinates on
which the metric does not depend. For example, given axial symmetry we may
choose the angle # which is a cyclic coordinate here and the conjugate (covariant)
impulse Py is a constant of the motion (the orbital spin of the particle). If, in
addition, the metric is time independent (stationary metric) then ¢ is also
cyclic and p; is a constant of the motion (the mechanical energy of the particle).

A static metric is time-independent and unchanged under time reversal
(i.e. t — —t). A stationary metric changed under time reversal. Examples
of static metrics are Minkowski and hyperbolically accelerated frames. The
rotating cylindrical coordinate system is stationary.
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4.5.1 Equation of motion from Lagrange’s equation

The Lagrange function for a free particle is:

1
gL
9wt (4.48)
where g, = gW(a:)‘). And the Lagrange equations are
oL d (0L )
oxf  dr \9if)
L
% =9 g4", (4.49)
by
oL 1 .
928~ 29 ms &
d (LN _(O0L\* . _, N -
— == )===] =947 Z
dr \ 9P 9if ) — 9ot T 96y (4.50)
=9 o2+ 9 5,5
Now, (4.50) and (4.49) together give:
]- STRY TN % %
39 g E" = g 3, T — g 5, T =0. (4.51)

The second term on the left hand side of (4.51) may be rewritten making use of
the fact that #&¥ is symmetric in pv, as as follows

s 1 s
9 "8 = 509 gy 9 ) E
(4.52)

| s
= g,@yly + 5(9 Bu,v + 98u,u — gyy,ﬁ)ajuxy =0.

Finally, since we are free to multiply (4.52) through by g*P, we can isolate &%
to get the equation of motion in a particularly elegant and simple form:

B4+ T2, 85" =0 (4.53)

where the Christoffel symbols '}, in (4.53) are defined by

Fo;tlj = ga,@(g Bu,v + gﬁy,u - guu,,ﬁ’)' (454)

DN =

Equation(4.53) describes a geodesic curve .
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4.5.2 Geodesic world lines in spacetime

Consider two timelike curves between two events in spacetime. In fig.4.5 they
are drawn in a Minkowski diagram which refers to an inertial reference frame.

cT

non-geodetic curve between O and P

geodetic curve
V()

0

tO X

Figure 4.5: Timelike curves in spacetime.

The general interpretation of the line-element for a time-like interval is; The
spacetime distance between O and P (See figure 4.5) equals the proper time
interval between two events O and P measured on a clock moving in a such way,
that it is present both at O and P.

ds* = —Pdr? (4.55)

ml_/\/ (4.56)

We can see that 79_; is maximal along the geodesm curve with v(7') = 0. Time-
like geodesic curves in spacetime have maximal distance between two points.

which gives

Example 4.5.1 (How geodesics in spacetime can give parabolas in space)
A geodesic curve between two events O and P has maximal proper time. Consider
the last expression in Section 3.2 of the propertime interval of a particle with position
x and velocity v in a gravitational field with acceleration of gravity g.

gr\o V2
w:m¢u+§)——

c2
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This expression shows that the proper time of the particle proceeds faster the higher
up in the field the particle is, and it proceeds slower the faster the particle moves.
Consider figure 4.6. The path a free particle follows between the events O and P
is a compromize between moving as slowly as possible in space, in order to keep
the velocity dependent time dilation small, and moving through regions high up in
the gravitational field, in order to prevent the slow proceeding of proper time far
down. However if the particle moves too high up, its velocity becomes so large that
it proceeds slower again. The compromise between kinematic and gravitational time
dilation which gives maximal proper time between O and P is obtained for the thick
curve in fig. 4.6. This is the curve followed by a free particle between the events O
and P.

We shall now deduce the mathematical expression of what has been said above.
Timelike geodesic curves are curves with maximal proper time, i.e.

T1
T= / V =Gt zvdr
0
is maximal for a geodesic curve. However the action

T1 T1
J = —2/ Ldr = —/ Gt ¥ dr
0 0

is maximal for the same curves and this gives an easier calculation.
In the case of a vertical curve in a hyperbolically accelerated reference frame the

1 gT\2 .o 2
L_§<—<1—|—c—2) i +C—2> (4.57)

Using the Euler-Lagrange equations now gives

Lagrangian is

gt? =0

i+(1+5)

2
which is the equation of the geodesic curve in example 4.3.1.

Since spacetime is flat, the equation represents straight lines in spacetime. The
projection of such curves into the three space of arbitrary inertial frames gives
straight paths in 3-space, in accordance with Newton's 1st law. However projecting
it into an accelerated frame where the particle also has a horizontal motion, and
taking the Newtonian limit, one finds the parabolic path of projectile motion.

Example 4.5.2 (Spatial geodesics described in the reference frame of a rotating disc.)

In Figure 4.7, we see a rotating disc. We can see two geodesic curves between Pj
and P. The dashed line is the geodesic for the non-rotating disc. The other curve
is a geodesic for the 3-space of a rotating reference frame. We can see that the
geodesic is curved inward when the disc is rotating. The curve has to curve inward
since the measuring rods are longer there (because of Lorentz-contraction). Thus,
the minimum distance between P; and P, will be achieved by an inwardly bent
curve.



64

Chapter 4. Covariant Differentiation

The pafof the partcle

0 P

Figure 4.6: The particle moves between two events O and P at fixed points in
time. The path chosen by the particle between O and P is such that the proper
time taken by the particle betweem these two events is as large as possible.
Thus the goal of the particle is to follow a path such that its comoving standard
clocks goes as fast as possible. If the particle follows the horizontal line between
O and P it goes as slowly as possible and the kinematical time dilation is as
small as possible. Then the slowing down of its comoving standard clocks due to
the kinematical time dilation is as small as possible, but the particle is far down
in the gravitational field and its proper time goes slowly for that reason. Paths
further up leads to a greater rate of proper time. But above the curve drawn as
a thick line, the kinematical time dilation will dominate, and the proper time
proceeds more slowly.
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We will show this mathematically, using the Lagrangian equations. The line
element for the space di = dz = 0 of the rotating reference frame is

Figure 4.7: Geodesic curves on a non-rotating (dashed line) and rotating (solid line)
disc.

2 702
r<df
di* = dr® + -
C
Lagrangian function: ‘
1., 1 r2?
L:§T +§1_r2(§2
C
We will also use the identity:
22
. r°0

(We got this from using i - @ = 1) We see that 6 is cyclic (‘?9—]5 = 0), implying:

oL r26 tamt
P = — = —5 5 = constan
00 1-ry¢
This gives:
b r?w? pg  pp wpy 150
=(1- c? )ﬁ_ﬁ_ c? (4.59)
Inserting 4.59 into 4.58:
2,2 2
) w
P2 =14 Cfa _ 7;_3 (4.60)

This gives us the equation of the geodesic curve between P; and Ps:

2,2 2
PR N
’ R (4.61)

r
—':j:—:
07T (1 )
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Boundary conditions:

Figure 4.8: Geodesic curves on a rotating disc,coordinates

r=0,r =719, for 8 =0

Inserting this into 4.60 gives:

2,2
Do Dyw
941 4.62
0 * c? (4.62)
Rearranging 4.61,using 4.62 gives:
dr 2 rdr dé

w
o Ao

Integrating this yields:

2
Tow To
0=+— \/r% — 3 F arccos —
c r

Example 4.5.3 (Christoffel symbols in a hyperbolically accelerated reference frame)
The Christoffel symbols were defined in Equation (4.53).

1
FO;W §gaﬁ(g Buw T 9 Bup — guv,ﬁ)'

In this example

2
gtt:_(1+_) 627 g:v:c:gyy:gzzzl
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ct

LOW
HIGH
47
g

non-geodetic curve between O and P

geodetic curve
2

1

0

X

Figure 4.9: Vertical throw in the accelerated referenceframe.

and only the term % contributes to I'jj,,. Thus the only non-vanishing Christoffel
symbols are

1 094t

Iy =T = 59“ <8—az
_ 1 99u
201 Ox

2(1—1—‘3—?)9

B 2(1—1—%)262
1 g
()
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Example 4.5.4 (Vertical projectile motion in a hyperbolically accelerated reference frame)

2
ds? = — (1 + %) Adt* 4 da? + dy? + d2? (4.63)
C

Vertical motion implies that dy = dz = 0 and the Lagrange function becomes

1

L:E.g“yfb#fjﬁ'y
1 gr\2 9.0 1.9
:—5(1+C—2) P i

where the dots imply differentiation w.r.t the particle’s proper time, 7. And the
initial conditions are:

z(0) =0, #(0) = (u°,u%,0,0)
- 7(67 Ua 07 0)7

where, = (1- v2/02)_1/2 .

What is the maximum height, h reached by the particle?

Newtonian description: %va =mgh = h = %.
Relativistic description: ¢ is a cyclic coordinate = 2% = ¢t is cyclic and pg =
constant.
oL 10L gr\2 .
_or _ 1o 1+_)t 4.64
PO= 550 = ¢ oi c< c? (4.64)
Now the 4-velocity identity is
i-i=g,,ii" =—c (4.65)
so
1 gr\? 99 1.9 L,

and given that the maximum height h is reached when & = 0 we get

gh 2 i2
1+ Z to_, =1 (4.67)

Now, since pg is a constant of the motion, it preserves its initial value throughout
the flight (i.e. pg = —ct(0) = —vc) and particularly at 2 = h,

h\?,
(4.64) = pg = —yc = —c (1 + gc_2> toeh (4.68)

Finally, dividing equation (4.67) by equation (4.68) and substituting back in equation
(4.67) gives

h = %('y ~1) (4.69)
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In the Newtonian limit (4.69) becomes

c? 1 c? 102 v2
h=——-—--—-—+--1]|—(1l+-—=—-1]|=>h= —
g ((1—v2/62)1/2 > g ( T > 29

Example 4.5.5 (The twin “paradox”)

Eva travels to Alpha Centauri, 4 light years from the Earth, with a velocity v = 0.8¢
(v =1/0.6). The trip takes 5 years out and 5 years back. This means that Eli, who
remains at Earth is 10 years older when she meets Eva at the end of her journey.
Eva, on the other hand, is 10(1 — v2/c?)/2 = 10(0.6) = 6 years older.

T

Eli Eva

X

-
|

Figure 4.10: The twins Eli and Eva each travel between two fixed events in space-
time

According to the general principle of relativity (see G2 in section 1.5 ), Eva can
consider herself as being stationary and Eli as the one whom undertakes the long
journey. In this picture it seems that Eva and Eli must be 10 and 6 years older
respectively upon their return.

Let us accept the principle of general relativity as applied to accelerated reference
frames and review the twin “paradox” in this light.

Eva's description of the trip when she sees herself as stationary is as follows.

Eva perceives a Lorentz contracted distance between the Earth and Alpha Cen-
tauri, namely, 4 light years x1/y = 2.4light years. The Earth and Eli travel with
v = 0.8¢c. Her travel time in one direction is then W = 3 years. So the
round trip takes 6 years according to Eva. That is Eva is 6 years older when they
meet again. This is in accordance with the result arrived at by Eli. According to
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Eva, Eli ages by only 6 years x1/~ = 3.6 years during the round trip, not 10 years
as Eli found.

On turning about Eva experiences a force which reduces her velocity and acceler-
ates her towards the Earth and Eli. This means that she experiences a gravitational
force directed away from the Earth. Eli is higher up in this gravitational field and
ages faster than Eva, because of the gravitational time dilation. We assume that
Eva has constant proper acceleration and is stationary in a hyperbolically accelerated
frame as she turns about.

The canonical momentum p, for Eli is then(see Equation (4.64))

2 .
pt:—<1+%) ct
c

Inserting this into the 4-velocity identity gives
2 2 gz \? g2 .2
pi — ¢ <1+—2) :<1—|——2) x*, (4.70)
c c
or

gz

dr = Lt
2 2

\/Pt 1+ %)

Now, since £ =0 for x = x5 (22 is Eli's turning point according to Eva), we
have that

dx

X
pee(i2)

Let x; be Eli's position according to Eva just as Eva begins to notice the gravitational
field. That is when Eli begins to slow down in Eva's frame.
Integration from 1 to x5 and inserting the value of p; gives

c T\ 2 T\ 2
71—2:—\/(1—1-9—22) —(1+g—;)
g c c
: 1 2 2
= lim 7_9 = — Ty — Iy
c

g—0o0

Now setting xo = 4 and z1 = 2.4 light years respectively we get

lim 719 =3.2 years
g—00

Eli's aging as she turns about is, according to Eva,

Atg;; =2 lim 719 = 6.4 years.
g—0o0

So Eli’s has aged by a total of 7g;; = 3.6 + 6.4 = 10 years, according to Eva, which
is just what Eli herself found.
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4.5.3 Gravitational Doppler effect

This concerns the frequency shift of light traversing up or down in a gravitational
field. The 4-momentum of a particle with relativistic energy E and spatial
velocity @ (3-velocity) is given by:

P=E1@) (c=1) (4.71)

Let U be the 4-velocity of an observer. In a co-moving orthonormal basis of the
observer we have U = (1,0,0,0). This gives

~

U-P=-E (4.72)

The energy of a particle with 4-momentum P measured by an observer with
4-velocity U is
E=_-U-P (4.73)

Let Eg = —(U - P)g and E, = —(U - P), be the energy of a photon, measured
locally by observers in rest in the transmitter and receiver positions, respectively.
This gives!
E E
S =9 (4.74)
(U-P)s  (U-P

Let the angular frequency of the light, measured by the transmitter and receiver,
be w, and w,, respectively. We then have

ws = ==, Wa = == (4.75)
which gives:
+ B
We = Mws (4.76)
(U ’ P)s

For an observer at rest in a time-independent orthogonal metric we have

[ dt
U-P=U'P,=—P (4.77)
dr
where P; is a constant of motion (since t is a cyclic coordinate) for photons and
hence has the same value in transmitter and receiver positions. The line-element
is

ds® = gudt® + gii(dz')? (4.78)

Using the physical interpretation (4.55) of the line-element for a time like inter-
val, we obtain for the proper time of an observer at rest

dr? = —gudt® = dr = \/—gudt (4.79)

1. B = AoB® + A1B' + ... = gooAOBO + gllAlBl + ..., an orthonormal basis gives
A.-B=—-A"B°+ A'B' + ..
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Hence @t )
= _ , 4.80
dr vV —gtt ( )
which gives
. 1
U-P= P, (4.81)

vV —Gtt

Inserting this into the expression for angular frequency (4.76) gives

_ (gtt)sw
He \/ (9it)a (4.82)

Note: we have assumed an orthogonal and time-independent metric, i.e. P, =
P,,. Inserting the metric of a hyperbolically accelerated reference system with

gxr

g =—(1+ 0_2)2 (4.83)
gives

1+ %5
v — < 4.84
ST+ e sy

or gxs g9
wa—ws 45 F@s—T) g (4.85)
R |

where H = x4, — x, is the difference in height between transmitter and receiver.

Example 4.5.6 (Measurements of gravitational Doppler effects (Pound and Rebka 1960))

H ~ 20m, g =10m/s?
gives
Aw 200
w 9 x 101
This effect was measured by Pound and Rebka in 1960.

=2.2x 10712,

4.6 The Koszul connection

The covariant directional derivative of a scalar field f in the direction of a vector
u is defined as:

Vaf = i(f) (4.86)
Here the vector 4 should be taken as a differensial operator. (In coordinate
basis, 4 = u“&%)
The directional derivative along a basis vector €, is written as:

VZ, = Vgu (4.87)
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Definition 4.6.1 (Koszul’s connection coeffecients in an arbitrary basis)
In an aribitrary basis the Koszul connection coefficients are defined by

V&, =T%,én (4.88)

which may also be written €,(€),) = I'},€,. In coordinate basis , I',, is reduced
to Christoffel symbols and one often writes €, , = I'},, €. In an arbitrary basis
, I'Y,, has no symmetry.

Example 4.6.1 (The connection coefficients in a rotating reference frame.)
Coordinate transformation: (7', R,© are coordinates in the non-rotating reference
frame, t,r, 6 in the rotating.) Corresponding Cartesian coordinates: X, Y and z,y.

t=T,r=R,0=0—wT
X =Rcos©®,Y = Rsin®
X =rcos(d + wt),Y = rsin(f + wt)

(%y)
;) x

e% ot

Figure 4.11: The non-rotating coordinate system (X,Y) and the rotating system
(x,y),rotating with angular velocity w

X

z 0o 0X 0 ay o or o
t= a7 =

- otox " atoy T otor
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gives:

—

€ = —rwsin(f + wt)éx + rw cos(6 + wt)éy + er
L, 00X 0 0Y 0
"Torox " oroy
= cos(f + wt)éx + sin(f + wt)éy
oX o0 9y 9
969X o0 oY
= —rsin(f + wt)ex + rcos(d + wt)éy

o

—

€

We are going to find the Christoffel symbols, which involves differentiation of ba-
sis vectors. This coordinate transformation makes this easy, since €x,éy,éer are
constant. Differentiation gives

Vi€ = —rw? cos(f + wt)éx — rw?sin(f + wt)ey (4.89)
The connection coefficients are (see eq. 4.88)
Ve, =19, (4.90)

So, to calculate I'Y,, , the right hand side of eq.4.89 has to by expressed by the
basis that we are differentiating.

By inspection, the right hand side is —rw=é;..

That is Vé; = —rw?e, giving I, = —rw?.

The other nonzero Christoffel symbols are

2
6 _ 10 _ W oo e L
Iy =10 = — I, = 1%y = =

r . T _ ‘s _
ot =g = —rw, Mgy = —1

Example 4.6.2 (Acceleration in a non-rotating reference frame (Newton))

7.:.’: 17 = (UZ + Fiaﬁva’uﬂ)é},

where "~ = %. i, j, and k are space indices. Inserting the Christoffel symbols for

plane polar coordinates (see example 4.2.1), gives:

) .92 .
Qinert = (T - 7”92)5r + (9 + —?.”9)59
T

Example 4.6.3 (The acceleration of a particle, relative to the rotating reference frame)
Inserting the Christoffel symbols from example 4.6.1:

Trot = (i — 16% — T, % + 17,08 + T7yt0)&, + (0 + =70 4+ Tt + 0, i)y
r
= (¥ — 6% — rw?® — 2rwl)é: + (r0 + 270 + 2rw)é,

= @inert — (rw2 + 2rw9)é’,: + 2rwéy



4.7 Connection coefficients I'), and structure coefficients ¢, in ...

The angular velocity of the reference frame, is & = we,. We also introduce ¥ = ré,.
The velocity relative to the rotating reference frame is then:

P =&, +ré,

Furthermore ,
. dé. 0é.dz’
e = = —
"odt Ozt dt

Using definition 4.6.1 in a coordinate basis, this may be written

= er,i

—

é’r = ’Uiij-ej
Using the expressions of the Christoffel symbols in example 4.6.1, we get

KN S P
& =01 6y = 9;69 = fe

Hence
17:77:7'”&—1—7“95@

Inserting this into the expression for the acceleration, gives:

Trot = Tinert + @& X (& X 7) + 20 x ¥/

We can see that the centrifugal acceleration (the term in the middle) and the coriolis
acceleration (last term) is contained in the expression for the covariant derivative.

v

cients ¢, in a Riemannian (torsion free) space

4.7 Connection coefficients I’CL and structure coeffi-

The commutator of two vectors, @ and ¥, expressed by covariant directional
derivatives is given by:
@,7] = Vi — Vi@ (4.91)

Let @ = €;, and ¥ = ¢,,. We then have:
(€, €] = V€, — V€. (4.92)
Using the definitions of the connection and structure coefficients we get:
o = (I‘O‘W - F‘;‘u,)e?; (4.93)
Thus in a torsion free space
G =1%,-T%, (4.94)

In coordinate basis we have

0

. 0 .
6, =— . €, =
Fmgen” 7 Qav

(4.95)
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And therefore:

0o 0 o ,6 0
= 00 007!~ 97 D) (490
0? 0?
" Ozrdz’  OxvOzh
Equation (4.96) shows that ¢*,, = 0, and that the connection coefficients in
Equation (4.94) therefore are symmetrical in a coordinate basis:

re,, =re, (4.97)

4.8 Covariant differentiation of vectors, forms and ten-
soTs

4.8.1 Covariant differentiation of a vector in an arbitrary basis

VA = V(44

(4.98)
=V, Ale, + AN e
0
LAR — G (A, 6 = MP = 4.99
VA=), 6= (4.99)

where M*, are the elements of a transformation matrix between a coordinate
basis {%} and an arbitrary basis {¢,}. ( If €, had been a coordinate basis
vector, we would have gotten é,,(A*) = 82,, (AF) = A+ ).

V, A = [, (AM) + A°TH )€, (4.100)

Definition 4.8.1 (Covariant derivative of a vector)
The covariant derivative of a vector in an arbitrary basis is defined by:

V, A= A" 8, (4.101)
So:
A = E,(AM) + A°TH,,

4.102
where Ve, =T%,,€, ( )

4.8.2 Covariant differentiation of forms

Definition 4.8.2 (Covariant directional derivative of a one-form field)
Given a vector field A and a one-form field o, the covariant directional derivative of
« in the direction of the vector # is defined by:

— —

(Vea)(4) = Vela(4)] - a(VzA) (4.103)

oy AR
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Let a = wt (basis form), wh(€,) = 6, and let A = ¢, and @ = ¢;. We then
have:

(Vaw')(€) = Wa[w"(e)] — w(Vaer) (4.104)

——
oMy,
The covariant directional derivative V) of a constant scalar field is zero, V\0*, =
0. We therefore get:
(Mwh)(e)) = —wh(Vaer)

—w (I \€a)
— I, w() (4.105)
= —T9,0"a

_m
- _Fll)\

The contraction between a one-form and a basis vector gives the components
of the one-form, a(é;) = a,,. Equation (4.105) tells us that the v-component of
VAW is equal to _Plf/w and that we therefore have

Vot = —T" " (4.106)

Equation (4.106) gives the directional derivatives of the basis forms. Using the
product of differentiation gives
Vaa = Vi (ouw)
— Va(op)w + 0, " (4.107)

= ex(ay)wt —a, I W”

Definition 4.8.3 (Covariant derivative of a one-form)
The covariant derivative of a one-form a = o,w" is therefore given by Equation
(4.108) below, when we let ;1 — v in the first term on the right hand side in (4.107):

Vaa = [éx(aw) — a, I Jw” (4.108)

The covariant derivative of the one-form components o, are denoted by «,.\ and
are defined by
Vi = o pw” (4.109)

It then follows that

iy = ex(ay) —a, I | (4.110)

It is worth to note that I') , in Equation (4.110) are not Christoffel symbols. In
coordinate basis we get:
apy = oy — T (4.111)

where Iy =T" | are Christoffel symbols.
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4.8.3 Generalization for tensors of higher rank

Definition 4.8.4 (Covariant derivative of a tensor)
Let A and B be two tensors of arbitrary rank. The covariant directional derivative
along a basis vector €} of a tensor A ® B of arbitrary rank is defined by:

WW(A®B) = (WA) @ B+ A® (WD) (4.112)

We will use (4.112) to find the formula for the covariant derivative of the com-
ponents of a tensor of rank 2:

VoS = Va(Spuwt @ w”)
= (vas;w)&u R w” + S;w(vagu) ®w” + S;wgu X (Vagy) (4.113)
= (S = ol = SusTa)ut ® 0

where S, o = €,(Suw). Defining the covariant derivative S,,,., by

VoS = St ® w” (4.114)
we get
Suvia = Suva — ST e — ST (4.115)
For the metric tensor we get
o= — 951" — 908", (4.116)
Juvia Juv,a — 9vl pa — Gusl va .
From
Guv = €7L €y (4.117)
we get:

Guva = (Va€),) - €, + €,(Vaér)
=T8¢5 + 6,10 ep (4.118)
= g,ﬁ’urﬁﬂa + guﬁrﬁ;a

This means that
Juvia = 0 (4.119)

So the metric tensor is a (covariant) constant tensor.

4.9 The Cartan connection

Definition 4.9.1 (Exterior derivative of a basis vector)

dey, =T",,6, ®w” (4.120)
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Exterior derivative of a vector field:

dA = d(é,A") = &, @ dAY + AMdE, (4.121)
In arbitrary basis:
dAY = &\ (AV)w? (4.122)
(In coordinate basis, €\(AY) = %(A”) =A%)
giving:
dA=¢,® [Ex(A”)w] + AT e @ w' (4.123)
= (&\(AY) + AT ,))E, @ '
dA = A48, @ (4.124)
Definition 4.9.2 (Connection forms )
The connection forms Q”M are 1-forms, defined by:
de, =¢e, ® Q"
T o . (4.125)
Fyﬂaeu Qw*=¢6,®T uaga =60 QVM
@, =T",,w" (4.126)
The exterior derivatives of the components of the metric tensor:
dgu = d(€, - €,) = €, - dé, + €, - de, (4.127)

where the meaning of the dot is defined as follows:

Definition 4.9.3 (Scalar product between vector and 1-form)
The scalar product between a vector @ and a (vectorial) one form 4 = Ah€, ® w
is defined by:

v

(En - B (4.128)

Using this definition, we get:

dguw = (€, - E\NDQ), + (€, - €))7,

A (4.129)
= guAQ v guwQ’L
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Lowering an index gives
A9 = 2, + 2y, (4.130)

In an orthonormal basis field there is Minkowski-metric:

9po = NMpi (4.131)
which is constant. Then we have
dgur =0 = QL = —Qpp (4.132)
where we write Qﬁ,& = Fﬁﬂ@gd. It follows that Topa = —Thsa-

It also follows that

t = — ma = Aan ’ZM
F%j‘ - Ptij Pitj Ptj

R 5 (4.133)
FZM — —F]M
Ik ik
Cartans 1st structure equation (without proof):
P Lo » v
dw? = 5 A w
1
= _§(Fpuu - Fpuz/)gu N gll (4134)
= —P’oyug'u A g'/
= -0 AW
dw” = - A" | and | dw” =17, w" AW” (4.135)

In coordinate basis, we have w” = dx”.

Thus, dw? = d’zr = 0.

We also have ¢’ = 0, and C1 is reduced to an identity.This formalism can
not be used in coordinate basis!

Example 4.9.1 (Cartan-connection in an orthonormal basis field in plane polar coord.)

ds* = dr® + r*df?
Introducing basis forms in an orthonormal basis field (where the metric is gz =
950 = 1)

ds® = grpw” @ W + gjw’ @ W’ =W @ W+’ ® W’
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C1:
dwh = Q" AW

_ _QOh i fi g
—_Q,:/\QT_QQA/\E

We have that dw” = 0 , which gives:

Fo_ P 0
@y =1"5w (4.136)
since gé /\gé =0. (Q@:o because of the antisymmetry Q,;, = —Q;.)
We also have: dw? = —%ga Aw". Cl:

dw’ = —Q% AW — Q% NS
NI
=0

T

giving P,:(j =-.

T

We have: Qfé = —Qéf. Using equations 4.136 and 4.137 we get:
% =0

=T ==
06 r
giving Q’} = —Qéf = 1,9,

r=



Chapter 5

Curvature

5.1 The Riemann curvature tensor

Figure 5.1: Parallel transport of A

The covariant directional derivative of a vector field A along a vector 4 was
defined and interpreted geometrically in section 4.2, as follows

(5.1)

Let /_pr be the parallel transported of A from Q to P. Then to first order in
A\ we have: /TQP = Ap+ (ng_f)pA)\ and

82
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s

Figure 5.2: Parallel transport of a vector along a triangle of angles 90° is rotated

90°
Apq = Ag — (VsA)oAA (5.2)
To second order in A\ we have:
Apo = (1— VA + %vﬁvg(mﬁ)/f@ (5.3)
If /YPQ is parallel transported further on to R we get

” 1

ApQr = (1 —-VzAN+ §V5Vg(A)\)2)
(5.4)

1 o

(1= VzAX+ EVng(A)\)Q)AR

where fo is replaced by AR because the differential operator always shall be
applied to the vector in the first position. If we parallel transport A around the
whole polygon in figure 5.3 we get:

> 1
ApgrsTp = (L4 Vadl + 5 VaVa(AN)?)

1
(14 VzAN+ —Vng(A)\)Q)

: . (5.5)
(1= Vzg(AN?) - (1= VzAN+ 5vﬂvﬁ(mﬁ)

1 -
(1 — VAN + §V5V5(A/\)2)Ap
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S
(Vaaxt = Vaard) A
H(T)AN = (@74
VaarvA
T
UpT AN
(P)AX ipoAX | VoanuAX
R
VgA A‘Q
- U(Q)AN
PO i(Q)
P T(P)AN Q
A A+ AN

Figure 5.3: Geometrically implied curvature from non-zero differences between
vectors along a curve (parameterized by A) and their parallel transported equiv-
alents

Calculating to 2. order in A\ gives:
Apqrsre = Ap + ([Va, Vo] = Viga) (AN Ap (5.6)

There is a variation of the vector under parallel transport around the closed
polygon:

0A = Apgrsrp — Ap = ([Va, Vil = Viz ) Ap(AN) (5.7)
We now introduce the Riemann’s curvature tensor as:
R( ,A,ii,#) = (Va, Val = Viga)(A) (5.8)

The components of the Riemann curvature tensor is defined by applying the
tensor on basis vectors,

le/ozﬁgﬂ = ([va? Vﬂ] - v[éa,éﬁ})(gu) (59)
Anti-symmetry follows from the definition:

_— T

RM vas

e (5.10)

The expression for the variation of A under parallel transport around the poly-
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gon, Eq. (5.7), can now be written as:
SA=R( A ad0)(AN?
= R( ,AYE,, u"Ey, v Es)(AN)?
—¢ RM Auuavﬁ . (A/\)2 (5.11)

— Z&,R"

mﬁA”(uavﬁ — uBv®)(AN)?

The area of the parallellogram defined by the vectors €A\ and 7A\ is

AS = @ x T(AN)?
TAN

AS

Using that

we can write Eq. (5.11) as

SA = —A”R“

vaplSie, | (5.12)

The components of the Riemann tensor expressed by the connection- and structure-
coefficients are given below:

el 05 = [Va, Vglé, = Viga.es 60
= (VaVg = VVa = 5V))e,
= V.Vge, —VVaé, — cf’aﬁv,,e*,,
(Kozul-connection) = VaF’f/ﬁé’M — VIt e, — cpaﬁplf/pg“

= (Vo' 5)e + T, 5V 0, (5.13)
— (Vg )e, — I, Ve, — cpaﬁI”f,pé'u
= (I )€ + 1" 5T 8,
—&3(Th,q ) — T0,TY, 3% — cpaﬁrl:/péju
This gives (in arbitrary basis):
R“aﬁ - ga(rﬂg) —ep(Ia) (5.14)

+ T T —T0, T = gTh
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In coordinate basis eq. (5.14) is reduced to:

Ruaﬁ =" I"fja’ﬁ + prﬁf’:)a — I"’WF’Zﬁ ) (5.15)

where I' ; = I'; are the Christoffel symbols.

Due to the antisymmetry (5.10) we can define a matrix of curvature-forms

R* :—R" ag® A’ (5.16)

Inserting the components of the Riemann tensor from eq. (5.14) gives

. 1
Elf/ = (eoz(Pu ) +T yﬁr pa §Cpaﬁrlf/p)ga A Qﬁ (5-17)
The connection forms:
Q1 = T, (5.18)
Exterior derivatives of basis forms:
dw? = —lcp w® A WP (5.19)
b= 750 ap¥ W .
Exterior derivatives of connection forms (Cl: dw” = —QF Aw®) :

A, = dr'y s Aw” + T, dw?

1 (5.20)
= (I 5 )w” /\wﬁ—ic gl pw” A WP
The curvature forms can now be written as:
R, = dO%, + Q4 N, (5.21)

This is Cartans 2nd structure equation.
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Figure 5.4: The geometry of a surface. We see the normal vector and the unit
vectors of the tangent plane of a point on the surface.

Imagine an arbitrary surface embedded in an Euclidian 3 dimensional space.
(See figure 5.4). Coordinate vectors on the surface :

0 0

g = —. ¢, = — 5.22
YCouTTY T v ( )
where u and v are coordinates on the surface.
Line element on the surface:
ds® = g, datdz” (5.23)

with 2! = » and 22 = v.
(1st fundamental form)
The directional derivatives of the basis vectors are written

Euw =10 + KN, a = 1,2 (5.24)

Greek indices run through the surface coordinates, N is a unit vector orthogonal
to the surface.
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The equation above is called Gauss’ equation. We have: K,, = ¢€,, - N. In

. . = . 82 . 82 o
coordinate basis, we have €, = 5275 = govgr = Cup- 1t follows that
K, =Ky, (5.25)

Let @ be the unit tangent vector to a curve on the surface, parametrised by .
Differentiating « along the curve:
di

N ut,u” €, + K uf'u” N (5.26)

2nd fundamental form

We define x4 and ky by:
du
dx
kg is called geodesic curvature. ky is called normal curvature (external curva-
ture). kg, = 0 for geodesic curves on the surface.

= kg€ + kN (5.27)

> M V= [y
kg€ = ut u”e), = Vgu

rN = Kpuu’ (5.28)
di -
And :ky = —-N
n KN N

We also have that @- N =0 along the whole curve. Differentiation gives:

du

gives:
_ dN

which is called Weingarten’s equation.

kg and Ky together give a complete description of the geometry of a surface
in a flat 3 dimensional space. We are now going to consider geodesic curves
through a point on the surface. Tangent vector @ = u*€, with 4-4 = g, u'u” =
1. Directions with maximum and minimum values for the normal curvatures are
found, by extremalizing xy under the condition g, u*u” = 1. We then solve the
variation problem 0 F' = 0 for arbitrary u*, where F' = K, utu” —k(gutu”—1).
Here k is the Lagrange multiplicator. Variation with respect to u* gives:

OF = 2(K — kg )u”ou?
0F = 0 for arbitrary du* demands:

(K;w - kguu)uy =0 (5.31)

For this system of equations to have nonzero solutions, we must have:

det (K, — kgy) =0 (5.32)
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Ky — kg K2 —kgia| _

0 5.33
K1 — kgo1 Koo — kgoo (5:33)

This gives the following quadratic equation for k:

k*det(gu) — (911 K22 — 2912 K12 + 922 K11 )k + det(K) = 0 (5.34)
(K symmetric K12 = Kgl)

The equation has two solutions, k1 and ko. These are the extremal values of k.
To find the meaning of k, we multiply eq.5.31 by u*:

0= (K, — kg )utu”
= Kyut'u” — kg utu” (5.35)

=ky —k=k=kyN

The extremal values of ky are called the principal curvatures of the surface.
Let the directions of the geodesics with extreme normal curvature be given by
the tangent vectors 4 and U.Eq.5.31 gives:

Ku” = kgu” (5.36)
We then get:

14 14
K u" vt = kiguu’vt
= klu“v“ = k‘l(ﬁ . 17)

v v — —
K v = kagv”ut = ka (0 - V)

gives (k1 — ko)(1 - ¥) = K, ("o — v"ut)
“” (5.37)
= 2Ku,,u["v“]
K, is symmetric in g and v. So we get:(ky — ko)(@ - ¥)) = 0. For ki # ko we
have to demand @- ¥ = 0. So the geodesics with extremal normal curvature, are
orthogonal to each other.
The Gaussian curvature (at a point) is defined as:

K= KN1*KN?2 (5.38)

Since kn1 and ko are solutions of the quadratic equation above, we get:

= det (K ,)

= det(g) (5.39)
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5.2.1 Surface curvature, using the Cartan formalism

In each point on the surface we have an orthonormal set of basis vectors. Greek
indices run through the surface coordinates (two dimensional) and Latin indices
through the space coordinates (three dimensional):

€, = (€1,€3,N), ¢, ={éi, e} (5.40)

Using the exterior derivative and form formalism, we find how the unit vectors

on the surface change:
de, = €, @ Q°
ot (5.41)
=6 ®Q,+ N,

where O = T,qw® are the connection forms on the surface, i.e. the intrinsic
connection forms. The extrinsic connection forms are

Qg = Ky qw” 7Q% = K'L&Qa (542)

v

We let the surface be embedded in an Euclidean (flat) 3-dimensional space. This
means that the curvature forms of the 3-dimensional space are zero:

RY%, =0=d9%+Q% 12} (5.43)

which gives:

Ry, =0=d0, + 0, A Q5 + Q5N D), (5.44)
= Elf/ + Q% A Q31/ 5 '
where RY, are the curvature forms of the surface. We then have:
1
sRape® N’ = Q5 A D, (5.45)

Inserting the components of the extrinsic connection forms, we get: (when we
remember the anti symmetry of o and 3 in R‘f/aﬁ)

le/a,@ = K%KV,@ - K%Kua (546)
We now lower the first index:
R,uuaﬁ = KpaKuﬂ - K,uﬂKya (547)

R,,qp are the components of a curvature tensor which only refer to the dimen-
sions of the surface. In particular we have:

Ri212 = K11 K92 — K12K91 = det K (5.48)

We then have the following connection between this component of the Riemann
curvature tensor of the surface and the Gaussian curvature of the surface:
det KHV . R1212

det g, ~ det I

K= KN1*RKN2 = (5.49)
Since the right hand side refers to the intrinsic curvature and the metric on the
surface, we have proved that the Gaussian curvature of a surface is an intrinsic
quantity. It can be measured by observers on the surface without embedding the
surface in a three-dimensional space. This is the contents of Gauss’ theorema
egregium.



5.3 The Ricci identity

91

5.3 The Ricci identity

-,

e_l;le/a,ﬁ’AV = (vavﬁ - V,@VQ - v[e_&,e}})( ) (5-50)
In coordinate basis this is reduced to

R GAY = (A"

v 0~ Al (5.51)

where
Al s = (A (5.52)

The Ricci identity on component form is:

A”R‘f/aﬁ = A’fﬁa — A‘faﬁ (5.53)
We can write this as:
|
dPA = §R’fjaﬁA”e_,; Q@ w® AW (5.54)

This shows us that the 2nd exterior derivative of a vector is equal to zero only
in a flat space. Equations (5.53) and (5.54) both represents the Ricci identity.

5.4 Bianchi’s 1st identity

Cartan’s 1st structure equation:

dwt =~ N (5.55)

Cartan’s 2nd structure equation:
A
R, =dQh, + Q5 N Q (5.56)

Exterior differentiation of (5.55) and use of Poincaré’'s lemma (4.16) gives:
(d® w* = 0)

0=dO Anw’ — Q4 Adw (5.57)
Use of (5.55) gives:
A AW + QN A AW =0 (5.58)
From this we see that
d+ QNN AW’ =0 (5.59)

We now get Bianchi’s 1st identity:

RM Aw” =0 (5.60)

vy *
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On component form Bianchi’s 1st identity is

1
§R“mﬁga AWl AW =0 (5.61)
—_—

RY,

The component equation is: (remember the anti symmetry in o and 3)

R’Emm =0 (5.62)

or
R+ R, + Ryt =0 (563)
where the anti symmetry R’f/aﬁ = —R’f/ﬁa has been used. Without this anti

symmetry we would have gotten six, and not three, terms in this equation.

5.5 Bianchi’s 2nd identity
Exterior differentiation of (5.56) =

dRl, =RAANQ, — QW NQAND, - QN AR, + QN A,

(5.64)
=R\ A, - AR,
We now have Bianchi’s 2nd identity as a form equation:
AR+ Y\ AR, — R\ AD, =0 (5.65)
As a component equation Bianchi’s 2nd identity is given by
I _
R Vo] = 0 (5.66)
Definition 5.5.1 (Contraction)
‘Contraction’ is a tensor operation defined by
R,5 = le/uﬁ (5.67)

We must here have summation over y. What we do, then, is constructing a new
tensor from another given tensor, with a rank 2 lower than the given one.

The tensor with components R,3 is called the Ricci curvature tensor.
Another contraction gives the Ricci curvature scalar, R = R/,
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Riemann curvature tensor has four symmetries. The definition of the Rie-
mann tensor implies that le/a,é’ = —R’flﬂa
Bianchi’s 1st identity: Rf =0

[vag]
From Cartan’s 2nd structure equation follows

— A
Euy_muy—i_gu)\/\gy

- (5.68)

=R

praf — T vpap

By choosing a locally Cartesian coordinate system in an inertial frame we get
the following expression for the components of the Riemann curvature tensor:

1
R;waﬁ = §(guﬂ,ua — Gpavp t Gua,us — gyﬁ,w) (5.69)

from which it follows that .3 = Ragu- Contraction of u and a leads to:

Roztjaﬂ = aﬂau

(5.70)
= R,,ﬁ = Rﬁ,,

i.e. the Ricci tensor is symmetric. In 4-D the Ricci tensor has 10 independent
components.



Chapter 6

Einstein’s Field Equations

6.1 Energy-momentum conservation

6.1.1 Newtonian fluid

Energy-momentum conservation for a Newtonian fluid in terms of the divergence
of the energy momentum tensor can be shown as follows. The total derivative
of a velocity field is

Dy 0v -

— ==+ (U-V)U 6.1

=g T V) (6.1)

g—f is the local derivative which gives the change in ¢ as a function of time

at a given point in space. (7- V)7 is called the convective derivative of 7. It
represents the change of ¥ for a moving fluid particle due to the inhomogeneity
of the fluid velocity field. In component notation the above become

Dvt vt O’

- iov 2
Dt - ot VU ow (6.2)

The continuity equation

dp L dp  d(pv')
a—i—v (p) =0 or E—i_ 5

=0 (6.3)
Euler’s equation of motion (ignoring gravity)

o' ; o' ) ~ Op

ot " Vowi )T ow

—

Dv

pﬁz_ﬁp or p(

(6.4)

The energy momentum tensor is a symmetric tensor of rank 2 that
describes material characteristics.

TOO TOI T02 T03
TlO Tl 1 T12 T13
T20 T21 T22 T23
T3O T31 T32 T33

T =

94
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T represents energy density.

T represents momentum density.
T represents pressure (T% > 0).
T represents stress (T% < 0).

T% represents shear forces (i # j).

Example 6.1.1 (Energy momentum tensor for a Newtonian fluid)

00 i0 i

=p ITh=p (6.6)
Y = pv*'v? + pd¥
where p is pressure, assumed isotropic here. We choose a locally Cartesian coordinate
system in an inertial frame such that the covariant derivatives are reduced to partial
derivatives. The divergence of the momentum energy tensor, 7%, has 4 components,
one for each value of .
The zeroth component is

T =T% =T% + 1Y
B 8/) a(p’Ui) (6.7)

ot ozt

which by comparison to Newtonian hydrodynamics implies that T?,’j = 0 is the
continuity equation. This equation represents the conservation of energy.
The ith component of the divergence is
T =TG+T)
d(pv?) N A(pvivd + pdt)

Y B (6.8)
B o' ;Op ;Opv? j o' Op
P TV T e TP o o
now, according to the continuity equation
Apv') _ 9p
ozt Ot
- o' 0p 0p Sovt Op
= TV = 120 yiZl oy i 2 :
A T T T G T (6.9)
D n Op
PDr T or
, D’ Op
T = = ——
v=0=7 Dt ozt

which is Euler’s equation of motion. It expresses the conservation of momentum.
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. v .
The equations T% = 0 are general expressions for energy and momentum
conservation.

6.1.2 Perfect fluids

A perfect fluid is a fluid with no viscosity and is given by the energy-momentum
tensor

p
T;u/ = (p + C_Q)UMUV + PGuv (6-10)

where p and p are the mass density and the stress, respectively, measured in the
fluids rest frame, u, are the components of the 4-velocity of the fluid.

In a comoving orthonormal basis the components of the 4-velocity are uf =
(¢,0,0,0). Then the energy-momentum tensor is given by

pc2 0 0 0
0 p 00

N 11
0 0 0 p

where p > 0 is pressure and p < 0 is tension.
There are three different types of perfect fluids that are useful.

1. dust or non-relativistic gas is given by p = 0 and the energy-momemtum
tensor T, = puyu,.

2. radiation or ultra-relativistic gas is given by a traceless energy-momemtum
tensor, i.e. T, = 0. It follows that p = %ch.

3. vacuum energy: If we assume that no velocity can be measured relatively
to vacuum, then all the components of the energy-momentum tensor must
be Lorentz-invariant. It follows that T}, o g,,. If vacuum is defined as a
perfect fluid we get p = —pc? so that Ty = pguw = —chQW.

6.2 Einstein’s curvature tensor

The field equations are assumed to have the form:

space-time curvature o« momentum-energy tensor

Also, it is demanded that energy and momentum conservation should follow as

a consequence of the field equation. This puts the following constraints on the

curvature tensor: It must be a symmetric, divergence free tensor of rank 2.
Bianchi’s 2nd identity:

Rl:aﬁ;a + le/aa;ﬁ + le/ﬁa;a =0 (612)
contraction of y and o« =
R‘fmﬁ;a - le/w;ﬂ + Riﬂa;u =0

(6.13)
R vBo R vo;( + Rliﬂﬁa;u =0
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further contraction of v and o gives

o~ Bop + B5, =0

oB;u
%;U—R;ﬁ—FR” o =0 (6.14)
2R, =Ry

Thus, we have calculated the divergence of the Ricci tensor,

1

Now we use this expression together with the fact that the metric tensor is co-
variant and divergence free to construct a new divergence free curvature tensor.

1
O—;U_iR;,B:O (616)
Keeping in mind that (¢%R),, = g% R,; we multiply (6.16) by g7 to get

1
gﬁ RU,B;O’ - gﬁaiR M 0

07

1 (6.17)
B B _
(va8%),, — 5 (daR) , =0
interchanging ¢ and ( in the first term of the last equation:
o RS L (s
(gaRa) PN (gaR> =0
B 2 ;8
(6.18)

= (R% - %5@5{) =0
B

since g‘LRﬁU*&LR’%*Rﬂa. So that Rﬂa — %5’%]% is the divergence free curvature
tensor desired.

This tensor is called the Einstein tensor and its covariant components are
denoted by E,g. That is

1

NOTE THAT: E') = 0 — 4 equations, giving only 6 equations from F ,,,
which secures a free choice of coordinate system.

6.3 Einstein’s field equations
Einstein’s field equations:

E,u,zz = HT,U,V (620)
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or
1
R, — §g”VR = KT, (6.21)
Contraction gives:
1
R—-4R =kT , where T' = T
2 K’ (6.22)
R=—kT
1
R, = §gﬂy(—/<aT) + KT (6.23)
Thus the field equations may be written in the form
1
Ry = 6T — §gl“,T) (6.24)
In the Newtonian limit the metric may be written
2
ds? = — (1 + —f) Adt? + (1 + hy)(da® + dy® + d=?) (6.25)
c

where the Newtonian potential |¢| < ¢2, and hy; is a perturbation of the metric
satisfying |h;;| << 1. We also have Tog > Tgr and T ~ —Tpyy. Then the
00-component of the field equations becomes

K
ROO ~ §T00 (626)
Furthermore we have

_ pK _ i
Roo = R o0 — R0
j i

_ 7
=T 00,5 — r 0¢,0

ok, 1,

Since Tpo ~ pc? eq.(6.26) can be written V2¢ = %HC4p. Comparing this equation

with the Newtonian law of gravitation on local form: V2¢ = 47Gp, we see that
In classical vacuum we have : T}, = 0, which gives

KR =

Euw=0 or R =0. (6.28)

These are the “vacuum field equations”. Note that R,, = 0 does not imply
R,vap = 0.
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Digression 6.3.1 (Lagrange (variation principle))
It was shown by Hilbert that the field equations may be deduced from a variation
principle with action

/ Ry/—gd*z | (6.29)

where R./—g is the Lagrange density. One may also include a so-called cosmological
constant A:

/ (R+2A)y/—gd*z (6.30)

The field equations with cosmological constant are

1
R, — 59,“,]% +Agu = KT (6.31)

6.4 The “geodesic postulate” as a consequence of the
field equations

The principle that free particles follow geodesic curves has been called the
“geodesic postulate”. We shall now show that the “geodesic postulate” follows
as a consequence of the field equations.

Consider a system of free particles in curved space-time. This system can
be regarded as a pressure-free gas. Such a gas is called dust. It is described by
an energy-momentum tensor

™ = putu” (6.32)

where p is the rest density of the dust as measured by an observer at rest in the
dust and u* are the components of the four-velocity of the dust particles.

Einstein’s field equations as applied to space-time filled with dust, take the
form

1
RMY — §g“l’R = kputu” (6.33)

Because the divergence of the left hand side is zero, the divergence of the right
hand side must be zero, too

(pufu”),, =0 (6.34)
or
(pu”ut),, =0 (6.35)

we now regard the quantity in the parenthesis as a product of pu” and u*. By
the rule for differentiating a product we get

(pu”)put + pu”ut, =0 (6.36)
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Since the four-velocity of any object has a magnitude equal to the velocity of
light we have

uyut = —c? (6.37)
Differentiation gives
(uput),, =0 (6.38)
Using, again, the rule for differentiating a product, we get
Uyt + uyut, =0 (6.39)

From the rule for raising an index and the freedom of changing a summation
index from « to pu, say, we get

B — B - e - @ _ 7
U Ut =y, = ¢HM e = Ua g M = uaul, = uyut, (6.40)

Thus the two terms of eq.(6.39) are equal. It follows that each of them are equal
to zero. So we have

uyutt, =0 (6.41)
Multiplying eq.(6.36) by w,, we get
(pu”) puput + pu”uyut, =0 (6.42)

Using eq.(6.37) in the first term, and eq.(6.41) in the last term, which then
vanishes, we get

(pu”)w =0 (6.43)
Thus the first term in eq.(6.36) vanishes and we get
pu’ut, =0 (6.44)

Since p # 0 we must have

u’ut, =0 (6.45)
This is just the geodesic equation. Conclusion: [t follows from FEinstein’s
field equations that free particles move along paths corresponding to geodesic

curves of space-time.
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The Schwarzschild spacetime

7.1 Schwarzschild’s exterior solution

This is a solution of the vacuum field equations F,,, = 0 for a static spherically
symmetric spacetime. One can then choose the following form of the line element
(employing units so that ¢—1),

d82 _ _e2a(r)dt2 + 62’6(T)d7“2 + 7“2d92
7.1
dQ? = db? + sin’ §dp> (7.1)

These coordinates are chosen so that the area of a sphere with radius r is 47r2.
Physical distance in radial direction, corresponding to a coordinate distance
dr, is dl, = \/Grrdr = *dr.
Here follows a stepwise algorithm to determine the components of the Ein-
stein tensor by using the Cartan formalism:

1. Using orthonormal basis we find

gf =Mt W =ePMar W = rdf , g‘i’ = rsin 0d¢ (7.2)

2. Computing the connection forms by applying Cartan’s 1. structure equa-
tions
PN X
d = Q% o (7.3)

cl_cuIE = e%d/dr N dt

= e*d e P A efo‘gf -
:—e_ﬂo/gf/\gf (7.4)
— _Qtf /\gr

0L = e Pt + fru” (7.5)
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3. To determine the f-functions we apply the anti-symmetry

Q=05 (7.6)
This gives (the non-zero connection forms):

0 = 0% = ey

~ ~ 1 ~
Q% = —Q% = — cot Ow?

¢ 0 (7.7)
Q. = +Q%=e Balwt

. i 1

T _ 0 — - -5, 0
Qé = Qr = re %

4. We then proceed to determine the curvature forms by applying Cartan’s
2nd structure equations

BRI, = 4%, + 07, £ 5, (73)
which gives:
Et; _ _6—2ﬂ(a// + N2 a,ﬂ/)gf /\gf’
. 1 . -
Eté — e 280/t AW
r
Ef({) _ et P
r
A s 5 (7.9)
Ry = e 8Ww Nw
o r
R = le—mﬂ/gf A wd
¢
~ 1 a ~
EOQB — ﬁ(l — e ) A w?
5. By applying the following relation
R’Aﬁzl P A WP (7.10)
=0T 9 paps T E :
we find the components of Riemann’s curvature tensor.
6. Contraction gives the components of Ricci’s curvature tensor

7. A new contraction gives Ricci’s curvature scalar

R=R'; (7.12)
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8. The components of the Einstein tensor can then be found

1
SNkt (7.13)

Epp = Rup — 5

where 1,5 = diag(—1,1,1,1). We then have:

EtAtA:;e ’Bﬁ/+7ﬂ—2(1—6 ﬂ)
2 1
Epp =~ % — —(1— e 29) (7.14)
T r
/ /
_ 2 o B
Eéé:E(ﬁ(z;:e 2'6(@//+O/ _0//8/‘1'7__)

r

We want to solve the equations Ej;; = 0. We get only 2 independent
equations, and choose to solve those:

Ey=0 and FEyp=0 (7.15)
By adding the 2 equations we get:
Ey+Eq =0
= %efw(ﬂl +a)=0

= (a+8)=0=a+p=K; (const) (7.16)

We now have:
ds? = —e2*dt® 4 2P dr? 4 r2d0? (7.17)

By choosing a suitable coordinate time, we can achieve
Ki=0=a= —ﬁ

Since we have ds? = —e?*dt? + e~ 2%dr? + r2dQ?, this means that g,, =
—g— We still have to solve one more equation to get the complete solution,
and choose the equation Ej = 0, which gives

2 —208 ot 1 —20
- (- =0
e I} +7“2( e ")

This equation can be written:

1d -
B lrd—e=0

r(l—e ) =K, (const)

(7.18)

If we choose Ko = 0 we get 0 =0 giving a = 0 and

ds? = —dt® + dr? + r2dQ? (7.19)
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which is the Minkowski space-time described in spherical coordinates. In
general, Ko # 0 and 1 — e 20 = £2 = K 4iying

s T
6204:672,8:1_5
r
and )
K dr
2 _ 2 2 2
ds? = —(1 = —)dt* + — + %0 (7.20)

T

We can find K by going to the Newtonian limit. We calculate the gravita-
tional acceleration ( that is, the acceleration of a free particle instantanously at
rest ) in the limit of a weak field of a particle at a distance r from a spherical
mass M. Newtonian:

We anticipate that » >> K. Then the proper time 7 of a particle will be

approximately equal to the coordinate time, since dr = /1 — %dt
The acceleration of a particle in 3-space, is given by the geodesic equation:

d?zH
dr? + Fﬂaﬁuau,@ =0
J (7.22)
o 4°
dr

For a particle instantanously at rest in a weak field, we have dr ~ dt. Using
ut =(1,0,0,0), we get:

9= "5 =T (7.23)

This equation gives a physical interpretation of I'";, as the gravitational acceler-
ation. This is a mathematical way to express the principle of equivalence: The
gravitational acceleration can be transformed to 0, since the Christoffel symbols
always can be transformed to 0 locally, in a freely falling non-rotating frame,
i.e. a local inertial frame.

_ I 0 0gat . O9at  Ogst
w=59 " ("5, T o0 ~oua)

1 v
dra :O :O
___1 9gu
2gyr Or
K. Ogu K
- (1) =8 _ 7.24
Gt ( r ) or 2 ( )
K GM
9=Tu=-53=""%5
gives K = 2GM
2GM
or with ¢: K = ¢

c2
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Then we have the line element of the exterior Schwarzschild metric:
2GM

c2r

ds® = —(1- )cht2 + + r2dQ? (7.25)

cer
Rg = QSQM is the Schwarzschild radius of a mass M.
Weak field: » >> Rg.
For the earth: Rg ~ 0.9cm
For the sun: Rg ~ 3km

A standard clock at rest in the Schwarzschild spacetime shows a proper time 7:

dr = /1 - %dt (7.26)

So the coordinate clocks showing t, are ticking with the same rate as the stan-
dard clocks far from M. Coordinate clocks are running equally fast no matter
where they are. If they hadn’t, the spatial distance between simultanous events
with given spatial coordinates, would depend on the time of the measuring of
the distance. Then the metric would be time dependent. Time is not running
at the Schwarzschild radius.

Definition 7.1.1 (Physical singularity)
A physical singularity is a point where the curvature is infinitely large.

Definition 7.1.2 (Coordinate singularity)
A coordinate singularity is a point (or a surface) where at least one of the components
of the metric tensor is infinitely large, but where the curvature of spacetime is finite.

Kretschmann’s curvature scalar is RumﬁRW"‘ﬁ. From the Schwarzschild metric,
we get:

48G2 M*?

s

which diverges only at the origin. Since there is no physical singularity at
r = Rg, the singularity here is just a coordinate singularity, and can be re-
moved by a transformation to a coordinate system falling inward. (Eddington -
Finkelstein coordinates, Kruskal - Szekers analytical extension of the description
of Schwarzschild spacetime to include the area inside Rg).

RapR™P = (7.27)

7.2 Radial free fall in Schwarzschild spacetime

The Lagrangian function of a particle moving radially in Schwarzschild space-

time )
1, Rg. om . 1 ¢
L=—2(1-"5)22p-—"

B e Ty

d
— 7.28
dr ( )



106

Chapter 7. The Schwarzschild spacetime

where 7 is the time measured on a standard clock which the particle is carrying.
The momentum conjugate p; of the cyclic coordinate t, is a constant of motion.

oL Rs. 5.
=—(1——)ct 7.29
p=0 = (1= e (7.29)
4-velocity identity: u,ut = —c2:
Rg .\ 29 s 2

2
2P sy (7.31)

R 2 R
p=-(1-2y £ - 1-2 (7.32)
o 1 - &s o
o
—_———
t(r=rg)

giving

\/RT \/”’7_7“ (7.33)
\/}TS (7.34)

Integration with 7 = 0 for » = 0 gives:

T arcsmﬂ——“ 1/1—— (7.35)
C To To To

T is the proper time that the particle spends on the part of the fall which is
from r to r—0. The proper travelling time from the initial point r = rg to r =0
is

s ’I“o ’I“o

[T(ro)| = =5 Rs ¢ (7.36)

If the particle falls from rg = Rg the travelling time is

T RS TGm
2 ¢ c3

(7.37)

7| =
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7.3 Light cones in Schwarzschild spacetime

The Schwarzschild line-element (with ¢ = 1) is

Rg dr?
ds®* = —(1 — =2)dt* + ————
I

We will look at radially moving photons (ds? = dQ? = 0). We then get

] radr _ LV Fs,
\/7  r—Fs ra

rdr
r — Rg
with + for outward motion and — for inward motion. For inwardly moving
photons, integration yields

+ r2d0> (7.38)

(7.39)

= +dt

r+t+ Rgln ‘RL — 1| = k = constant (7.40)
S

We now introduce a new time coordinate ¢’ such that the equation of motion
for photons moving inwards takes the following form

T+t/—]€:>ﬁ=—1

v (7.41)
t :t—l—RSln\R— —1]
S

The coordinate t' is called an ingoing Eddington-Finkelstein coordinate. The
photons here always move with the local velocity of light, c. For photons moving
outwards we have

T+R5’1H|L—1‘:t—|—k‘ (7.42)
Rs
Making use of t =t — RgIn |75 — 1] we get
r+2Rgln|— — 1| =t' +k
Rgs
dr 2Rs dr r+ Rg dr

= S S
T W r—Rsar U r—Rsd (7.43)
N @_T—RS

dt'  r+Rg

Making use of ordinary Schwarzschild coordinates we would have gotten the
following coordinate velocities for inn- and outwardly moving photons:

dr Rg
— =3(1- — 7.44
T =t(1-22) (7.44)

which shows us how light is decelerated in a gravitational field. Figure 7.1 shows
how this is viewed by a non-moving observer located far away from the mass. In
Figure 7.2 we have instead used the alternative time coordinate ¢'. The special
theory of relativity is valid locally, and all material particles thus have to remain
inside the light cone.
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Collaps of light cone
at the horizon,r=R g

=

horizon

Trajectory of transmitter
Light cone
/
: r
RS

Figure 7.1: At a radius » = Rg the light cones collapse, and nothing can any
longer escape, when we use the Schwarzschild coordinate time.

Trajectory of transmitter

7

horizon

Rs
Figure 7.2: Using the ingoing Eddingto n-Finkelstein time coordinate there is no
collapse of the light cone at r = Rg. Instead we get a collapse at the singularity
at = 0. The angle between the left part of the light cone and the t-axis is
always 45 degrees. We also see that once the transmitter gets inside the horizon
at r = Rg, no particles can escape.
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7.4 Analytical extension of the Schwarzschild space-
time

The Schwarzschild coordinates are comoving with a static reference frame out-
side a spherical mass distribution. If the mass has collapsed to a black hole
there exist a horizon at the Schwarzschild radius. As we have seen in section
7.3 there do not exist static observers at finite radii inside the horizon. Hence,
the Schwarzschild coordinates are well defined only outside the horizon.

Also the rr-component of the metric tensor has a coordinate singularity at
the Schwarzschild radius. The curvature of spacetime is finite here.

Kruskal and Szekeres have introduced new coordinates that are well defined
inside as well as outside the Schwarzschild radius, and with the property that
the metric tensor is non-singular for all » > 0.

In order to arrive at these coordinates we start by considering a photon
moving radially inwards. From eq. (7.40) we then have

t:—T—Rsln RS

where v is a constant along the world line of the photon. We introduce a new

T 1‘ +v (7.45)

radial coordinate

r*=r+ Rgln A (7.46)
Rs
Then the equation of the worldline of the photon takes the form
t+r"=w (7.47)

The value of the constant v does only depend upon the point of time when the
photon was emitted. We may therefore use v as a new time coordinate.
For an outgoing photon we get in the same way

t—r*=u (7.48)

where u is a constant of integration, which may be used as a new time coordinate

for outgoing photons. The coordinates u and v are the generalization of the light

cone coordinates of Minkowski spacetime to the Schwarzchild spacetime.
From eqs. (7.47) and (7.48) we get

1
dt = §(dv + du) (7.49)
1
dr* = i(dv — du) (7.50)
and from eq. (7.46)
dr = <1 — &> dr* (7.51)
r

Inserting these differentials into eq. (7.38) we arrive at a new form of the
Schwarzschild line-element,

r

ds* = — <1 — &> du dv 4 r2dQ? (7.52)



110

Chapter 7. The Schwarzschild spacetime

The metric is still not well behaved at the horizon. Introducing the coordinates

U=—¢ 7 (7.53)
V = e?Fs (7.54)
gives
vu R, .
UV = —e?Rs = —¢Rs = — 7—1 eRs (7.55)
and dUdv
dudv = —4R?—— 7.56
udv = v (7.56)
The line-element (7.52) then takes the form
R3
ds® = TR AUAV + r2dQ? (7.57)

This is the first form of the Kruskal-Szekeres line-element. Here is no coordinate
singularity, only a physical singularity at » = 0.
We may furthermore introduce two new coordinates

1
1 r 2 .
= — = | — — Rs
5 (V+U) . 1| e?Fs ginh oR. (7.58)
! dE : o h 7.59
= — — — | — — 2Rgs
2(V U) z e2Fs cos oR. (7.59)
Hence
V=T+Z7 (7.60)
U=T-Z7 (7.61)
giving
dUdV = dT? — dZ* (7.62)

Inserting this into eq. (7.57) we arrive at the second form of the Kruskal-Szekeres
line-element

4R3 _ o
(&

ds* = — s (dT? — dZ?) + r?dQ? (7.63)

r

The inverse transformations of egs. (7.58) and (7.59) is

T T
— —1|ems =22 -T7? 7.64
R. e (7.64)
T
h — .
tan QRS =7 (7.65)

Note from eq. (7.63) that with the Kruskal-Szekeres coordinates 7" and Z
the equation of the radial null geodesics has the same form as in flat spacetime

Z = +T + constant (7.66)
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7.5 Embedding of the Schwarzschild metric

We will now look at a static, spherically symmetric space. A curved simultaneity
plane (dt = 0) through the equatorial plane (d = 0) has the line element

ds® = grdr? + r2de? (7.67)

with a radial coordinate such that a circle with radius r has a circumference of
length 27r.

We now embed this surface in a flat 3-dimensional space with cylinder co-
ordinates (z,7,¢) and line element

ds* = dz* + dr® + r2d¢? (7.68)

The surface described by the line element in (7.67) has the equation z = z(r).
The line element in (7.68) is therefore written as

d
ds” = [L+ (52 ]dr? 4 1%dg? (7.69)

Demanding that (7.69) is in agreement with (7.67) we get

d d
Grr =1+ (d—i)2 o d—i —+/gr — 1 (7.70)

Choosing the positive solution gives

dz = /gy — ldr (7.71)

In the Schwarzschild spacetime we have

1
1 —

9rr = (7.72)

|

Making use of this we find z:

/’” dr
z = e ———
RS”RLs_l

This is shown in Figure 7.3.

4Rs(r — Rg) (7.73)

7.6 Deceleration of light

The radial speed of light in Schwarzschild coordinates found by putting ds? =
d0? =0 in eq. (7.38) is

_Bs

r

c=1 (7.74)

To measure this effect one can look at how long it takes for light to get from
Mercury to the Earth. This is illustrated in Figure 7.4. The travel time from
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Figure 7.3: Embedding of the Schwarzschild metric.

2,<0

Earth

Figure 7.4: General relativity predicts that light traveling from Mercury to the
Earth will be delayed due to the effect of the Suns gravity field on the speed of
light. This effect has been measured.
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z1 to 29 is

2 de 2 Rs & Rs
At:/ %/ 1—|——dz:/ 1+ ——)dz
21 1_% Zl( T) Z1( Vb2+22)
\/W—FZQ
\/2’12 + b2 — |21‘

where Rg is the Schwarzschild radius of the Sun.

The deceleration is greatest when Earth and Mercury (where the light is
reflected) are on nearly opposite sides of the Sun. The impact parameter b is
then small. A series expansion to the lowest order of b/z gives

(7.75)

:ZQ+‘21|+RSIH

4 Z1|%2
At = 29 + |21‘ + RS In % (7.76)
The last term represents the extra traveling time due to the effect of the Suns

gravity field on the speed of light. The journey takes longer time:

Rg = the Schwarzschild radius of the Sun ~ 3km

|z1| — the radius of Earth’s orbit — 15 x 1019
zo = the radius of Mercury’s orbit = 5.8 x 109
b — Ro=T7x10%m

give a delay of 1.1 x 10~%s. In addition to this one must also, of course, take
into account among other things the effects of the curvature of spacetime near
the Sun and atmospheric effects on Earth.

7.7 Particle trajectories in Schwarzschild 3-space

1 .
L= igWX“X”
. 7.77)
1 Rs\ 7 37 Loogo 1o 9,10 (
=3 <1—7)t —1-1_% —1-57“ 0 —1—57“ sin” ¢
Since t is a cyclic coordinate
oL R\ .
—pr=—— = <1 - —S> t = constant = E (7.78)
ot r

where F is the particle’s energy as measured by an observer "far away" (r > R;).
Also ¢ is a cyclic coordinate so that

L .
Py = Z_¢ = r25in? ¢ = constant (7.79)

where pg is the particle’s orbital angular momentum.
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Making use of the 4-velocity identity U2 = gWX“X” = —1 we transform
the above to get

Ry \ i 202 1 22002
—(1-= t—i—liR—i-rH +rosin”“0¢p” = —1 (7.80)
r _ s
T
which on substitution for ¢ = 1—E% and ¢ = > ;“;29 becomes
E? 72 25 2z
— - + 7207 + —2— = 1 7.81
I ' 72 sin? 6 (7.81)

Now, refering back to the Lagrange equation

d ( OL OL
afony o s

we get, for 6

(r20)* = r%sin 0 cos 0¢>

pi cos 6 (7.83)
~ r2sin’ 6
Multiplying this by 26 we get
2N, 2ne cos 06 9
(r0)(r°0)* = ——5 P (7.84)
which, on integration, gives
. 2
020 =k - (2%5) (7.85)

where k is the constant of integration.

Because of the spherical geometry we are free to choose a coordinate system
such that the particle moves in the equatorial plane and along the equator at a
given time ¢t = 0. That is § = 5 and 6 = 0 at time ¢t = 0. This determines the
constant of integration and k = pé such that

(r26)2 = P?S (1 _ L) (7.86)

sin? §
The RHS is negative for all § # 7. It follows that the particle cannot deviate
from its original (equatorial) trajectory. Also, since this particular choice of

trajectory was arbitrary we can conclude, quite generally, that any motion of
free particles in a spherically symmetric gravitational field is planar motion.
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7.7.1 Motion in the equatorial plane

+2 = (7.87)

that is

2
i = E? — (1 — &> (1 + p—‘é’) (7.88)
T T

This corresponds to an energy equation with an effective potential V(r) given

by

7.89)
R 2 (
vojhona R
roor r
oy LR 17
- 2 r 272
Newtonian potential Vy is defined by using the last expression in
GM b}
Vy=V-1=Vy=-—"—+4-2 (7.90)
T 2r

The possible trajectories of particles in the Schwarzschild 3-space are shown
schematically in Figure 7.5 as functions of position and energy of the particle
in the Newtonian limit.

To take into account the relativistic effects the above picture must be mod-
ified. We introduce dimensionless variables

X:LM and k= L% (7.91)

The potential V2(r) now take the form

2 k2 22\ /2
V:<1_}+F_F> (7.92)

For r equal to the Schwarzschild radius (X = 2) we have

k2 2k?

For k2 < 12 particles will fall in towards r = 0.
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mV,y

Circles

Figure 7.5: Newtonian particle trajectories are functions of the position and
energy of the particle. Note the centrifugal barrier. Due to this particles
with pg # 0 cannot arrive at r = 0.

An orbit equation is one which connects r and ¢. So for motion in the
equatorial plane for weaks fields we have

dqb Do ° d Pe d
dt  mr? dt  mr2de (7.94)
Introducing the new radial coordinate u = % our equations transform to
du 1 dr 1 mr?dr m .,
_——-——— = ———— = ——7
2 2
do 4 do re pg dt Do (7.95)
SN L
m do

Substitution from above for 7 in the energy equation yields the orbit equation,

(du>2 + (1 - 2GMu) <u2 n m—;) _E (7.96)

d p2 ) P}
Differentiating this, we find
d? GMm?
C 2 bu= "0 3G M? (7.97)
d¢? Dy

The last term on the RHS is a relativistic correction term.
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20 40 60 80 100

0.9¢}

Figure 7.6: When relativistic effects are included there is no longer a limit to
the values that r can take and collapse to a singularity is "possible". Note that
V2 is plotted here.

7.8 Classical tests of Einstein’s general theory of rel-
ativity

7.8.1 The Hafele-Keating experiment

Hafele and Keating measured the difference in time shown on moving and sta-
tionary atomic clocks. This was done by flying around the Earth in the East-
West direction comparing the time on the clock in the plane with the time on a
clock on the ground.

The proper time interval measured on a clock moving with a velocity v¢ = %
in an arbitrary coordinate system with metric tensor g, is given by

dr = (—g%da:“da:”)% . dx® = cdt
c

P2
= (~g00 — 2gi0— — U—Q) 2 dt (7.98)
C C

|

v? = gijv'v!
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For a diagonal metric tensor (g;0 = 0) we get

2 .
dr = (—goo — %)%dt , 02 = gi(v')? (7.99)

We now look at an idealized situation where a plane flies at constant altitude
and with constant speed along the equator.

dT:(l—%—Z—;)%dt, r=R+h (7.100)
To the lowest order in % and Z—; we get
gr—- B 12 (7.101)
2r  2¢2
The speed of the moving clock is
v=(R+h)Q+u (7.102)

where € is the angular velocity of the Earth and w is the speed of the plane. A
series expansion and use of this value for v gives

M 1 R2Q? h  2RQ 2 M
_GM LR gh 2Rutur g:G_Q_RQz

AT = (1 —
= Rc2 2 2 c2 2c2 R
(7.103)

u > 0 when flying in the direction of the Earth’s rotation, i.e. eastwards. For a
clock that is left on the airport (stationary, h = u = 0) we get

GM 1 R2Q)?

A1y = (1 — —
70 = ( Re2 2 ¢2

)At (7.104)

To the lowest order the relative difference in travel time is

AT — A7y gh  2RQu + u?
k_TTO_C_Z_T (7.105)
Measurements:
Travel time: Aty = 1.2 x 10°s (a little over 24h)
Traveling eastwards: k. = —1.0x 1072
Traveling westwards: k, = 2.1x 10712
(AT — ATp)e =-12x10""s ~ —120ns

(AT — AT)w = 2.5x1077s ~ 250ns
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7.8.2 Mercury’s perihelion precession

The orbit equation for a planet orbiting a star of mass M is given by equation

(7.97),
d*u n GMm?
Z 4=
d¢? Py
where kK = 3GM. We will be slightly more general, and allow k to be a theory-
or situation dependent term. This equation has a circular solution, such that
GMm?
Upg = D)
by
With a small perturbation from the circular motion w is changed by uq, where
u1 < ug. To lowest order in u; we have

+ ku? (7.106)

+ kug? (7.107)

d? GMm?
CU gt ur = o 4 kug? + 2kugu (7.108)
d¢? Pe?
or
d2’LL1 d2u1

— F+u; = 2kugu; & + (1 - Qkuo)ul =0 (7.109)

d¢?
For kug < 1 the equilibrium orbit is stable and we get a periodic solution:

uy = eug cos[v/1 — 2kup(¢p — ¢o)] (7.110)

where € and ¢ are integration constants. € is the eccentricity of the orbit. We
can choose ¢g = 0 and then have

1
— =u=ug+u; = ug[l + ecos(/1— 2kup¢) (7.111)
,

Let f =1 —2kuyg =
1 1
— = —(1+4€cos fo) (7.112)
r To
For f =1 (k = 0, no relativistic term) this expression describes a non-precessing
elliptic orbit (a Kepler-orbit).

For f <1 (k > 0) the ellipse is not closed. To give the same value for r as
on a given starting point, ¢ has to increase by 27” > 27. The extra angle per

rotation is 277(% —1) = A¢y.

1
APy = 21— —1) = 27k 7.113
¢1 ﬂ-(m ) TRUQ ( )
Using general relativity we get for Mercury
GMm?
k=3GM = A¢=6rGMug~ 6rGM-——" (7.114)
D¢

M

A¢p = 67r(G m)2per orbit. (7.115)

which in Mercury’s case amounts to (A¢)century = 43”
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7.8.3 Deflection of light
The orbit equation for a free particle with mass m =0 is

d2
dT;‘Jru:ku? (7.116)

If light is not deflected it will follow the straight line
b
cosp = — =buyg (7.117)
r

where b is the impact parameter of the path. This is the horizontal dashed line
in Figure 7.7. The 0’th order solution (7.117) fullfills
d2u0
dg?
Hence it is a solution of (7.116) with k& = 0.

+ug=0 (7.118)

photon

M, GM<<b

Figure 7.7: Light traveling close to a massive object is deflected.

The perturbed solution is
u=ug+u, |u| << ug (7.119)
Inserting this into the orbit equation gives

d2u0 d2u1

W + W +ug+up = k:u02 + 2kuguy + k:uf (7.120)
The first and third term at the left hand side cancel each other due to eq. (7.118]
and the last term at the right hand side is small to second order in u; and will

be neglected. Hence we get

d2u1

¥ +uy = kugd + 2kuouy (7.121)
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The last term at the right hand side is much smaller then the first, and will also
be neglected. Inserting for ug from (7.117) we then get

d’u k
L tuy = = cos® ¢ (7.122)
This equation has a particular solution of the form

w1y = A+ Bcos® ¢ (7.123)

Inserting this into (7.122) we find

A:??—:Q, B:—% (7.124)
Hence
k 2
up = 35 (2 — cos® ¢) (7.125)
giving
;:u:uo—kul:COS¢+i(2—COS2¢)) (7.126)

b 3b2

The deflection of the light Af is assumed to be small. We therefore put ¢ =
5+ % where Af < 7, (see Figure 7.7). Hence

oS ¢ = cos (g + %) = —sin& ~ a0 (7.127)

Thus, the term cos? ¢ in (7.126) can be neglected. Furthermore, the deflection
of the light is found by letting » — oo, i. e. u — 0. Then we get

4k

Al = —
3b

(7.128)

For motion in the Schwarzschild spacetime outside the Sun, k = %RS where Rg
is the Schwarzschild radius of the Sun. And for light passing the surface of the
Sun b = R where R is the actual radius of the Sun. The deflection is then

A)=2—" =175 (7.129)
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Black Holes

8.1 ’Surface gravity’:gravitational acceleration on the
horizon of a black hole

Surface gravity is denoted by k1 and is defined by

k= lim - a= \auat (8.1)

T4 ut

where 7, is the horizon radius, r, = Rg for the Schwarzschild spacetime, u! is
the time component of the 4-velocity.
The 4-velocity of a free particle instantanously at rest in the Schwarzschild

spacetime:

L dt

. - 1
U=1uée =

_ €
_et _= et _=
dr vV —gtt /1 — Rs
T

The only component of the 4-acceleration different from zero, is a,. The
4-acceleration:d = Vzu = utyu’é, = (u'y + o u®)u’e,.

(8.2)

Ay = (UT,V + Frozuua)uy

= ur,uuy +1u (Ut)2
~——

=0
o Frtt
- R
-
oo _ L0 _ _Rs (8.3)
T2 g T 22
Rg
212
a, = =
==
a Rg Rg
@ =g"a=——=(1-="2)a =3
9rr r r
ks
The acceleration scalar: a = v/a,a” = QTQRS (measured with standard instru-
1—28

122
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ments: at the horizon, time is not running).

i%:: g%% (8.4)

With ¢ a ?Rs GM
w2 T 2 (8:5)
= lim Lo L ! (8.6)

r—Rsul  2Rs  4GM

Including ¢ the expression is kK = 45—2M. On the horizon of a black hole with one
solar mass, we get kg = 2 X 1013Sm2_

8.2 Hawking radiation:radiation from a black hole (1973)

The radiation from a black hole has a thermal spectrum. We are going to 'find’
the temperature of a Schwarzschild black hole of mass M. The Planck spectrum
has an intensity maximum at a wavelength given by Wien’s displacement law.

Nh
A= k—Tc where k is the Boltzmann constant, and N=0.2014

For radiation emitted from a black hole, Hawking derived the following expres-
sion for the wavelength at a maximum intensity

8TNGM

A=4nNRg = =2 (8.7)
Inserting A from Wien’s displacement law, gives:
hc? he
1= gkt ~ 2" (8.8)
Inserting values for A, ¢ and k gives:
2x 1074
T2 My (8.9)

Rg

For a black hole with one solar mass,we have T ~ 10~7. When the mass is
decreasing because of the radiation, the temperature is increasing.So a black
hole has a negative heat capacity. The energy loss of a black hole because of
radiation, is given by the Stefan-Boltzmann law:

dM _ 4 A

—E =0 02 (810)
where A is the surface of the horizon.
16wG2M?
A=4nR: = =12 (8.11)

c
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gives:
dM 1 At Q

S dt  15360m G2M? T M? (8.12)
M(t) = (Mg —3Qt)"/?, My = M(0)

A black hole with mass My early in the history of the universe which is about
to explode now, had to have a starting mass

My = (3Qto)Y? ~ 10%kg (8.13)

about the mass of a mountain. They are called ’mini black holes’.

8.3 Rotating Black Holes: The Kerr metric

This solution was found by Roy Kerr in 1963.

A time-independent, time-orthogonal metric is known as a static metric. A
time-independent metric is known as a stationary metric. A stationary metric
allows rotation.

Consider a stationary metric which describes a axial-symmetric space

ds? = —e®dt? + e**dr? + eV (d¢p — wdt)? + e dh? | (8.14)

where v, u, 9, A and w are functions of r and 6.
By solving the vacuum field equations for this line-element, Kerr found the

solution:
2A 2 22
=B =R =St =gt
2M
w= ?m« ,  where p2 =7r? 4 a’cos? 0

A=r*+a*—2Mr
¥2 = (r? +a*)? — a*Asin® 0
(8.15)

This is the Kerr solution expressed in Boyer-Lindquist coordinates. The function
w is the angular-velocity. The Kerr-solution is the metric for space-time outside
a rotating mass-distribution. The constant ¢ is spin per mass-unit for the mass-
distribution and M is its mass.

Line-element:

2Mr
ds> = —(1— 7 )dt* +

2 a4M
%dﬂ — p;”” sin? Qdtde + p>d6>
2Ma?r (8.16)
+ (r*+a®+ 5 sin? 6) sin® Adp?
p

(Here M is a measure of the mass so that M = G - mass, ie. G = 1)
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Light emitted from the surface, » = ro, where g, = 0 is infinitely redshifted
further out. Observed from the outside time stands still.

p2 =2Mry = 7“8 +a?cos’ = 2Mr

(8.17)
ro =M £/ M2 —a?cos20
This is the equation for the surface which represents infinite redshift.
8.3.1 Zero-angular-momentum-observers (ZAMO’s)
The Lagrange function of a free particle in the equator plane, § = 5
L o 2 9pv2 L oouo Loy 1 oy 27
L:—§(e —we )t —|—§€“7“ —|—§6 qb—|—§e 0" — we Yt (8.18)
Here 6 = 0. The momentum pg of the cyclic coordinates ¢:
oL o . .t . do
= —=e(p-wl), i=— == 8.19
Po =53 (¢ —wt) , T 0= (8.19)
The angular speed of the particle relative to the coordinate system:
dp ¢ .
Q=—== =Qt
at ¢’ ¢ (8.20)
= pg = 2VHQ —w)
Pg is conserved during the movement.
Gty 2Mar
g (M +a?)?2—a?(r?+a®—-2Mr)’ (8.21)

w—0 when 7r— o0

When studying the Kerr metric one finds that Kerr — Minkowski for large
r. The coordinate clocks in the Kerr space-time show the same time as the
standard-clocks at rest in the asymptotic Minkowski space-time.

A ZAMO is per definition a particle or observer with pgy = 0. Consider a
far away observer who let a stone fall with vanishing initial velocity. pg is a
constant of motion, so the stone remains a ZAMO during the movement. A
local reference frame which coincides with the stone is a member of the class
of inertial frames that are at rest in the asymptotic Minkowski region. These
ZAMO nertial frames may be used to define “the state of motion of the space”.
They have .

do

That is, the local inertial frame obtains an angular speed relative to the BL-
system (Boyer-Lindquist system).

Since the Kerr metric is time independent, the BL-system is stiff. The
distant observer has no motion relative to the BL-system. To this observer the
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BL-system will appear stiff and non-rotating. The observer will observe that
the local inertial system of the stone obtains an angular speed
dp 2Mar

—w = 8.23
a v (r2 +a?)? — a?(r? 4+ a®> — 2Mr) ( )

In other words, inertial systems at finite distances from the rotating mass M
are dragged with it in the same direction. This is known as inertial dragging
or the Lense-Thirring effect (about 1920).

8.3.2 Does the Kerr space have a horizon?

Definition 8.3.1 (Horizon)
a surface one can enter, but not exit.

Consider a particle in an orbit with constant r and 6. It’s 4-velocity is:

L d¥ dtd¥
mw=——=———-
do '
= (=04 — 201, — g 4,02)72(1,Q here Q = —
(—9u 9t 9 ¢ )7 2(1,Q), where dt
To have stationary orbits the following must be true
9o +29,4Q+ g, <0 (8.25)
This implies that  must be in the interval
Qmin << Q'ma;r ) (8'26)
where Qi = w — , Jw? — %, Qnae = w +  Jw? — ggf;’; since g4 = —wg g4-

Outside the surface with infinite redshift g ,, < 0. That is 2 can be negative,
zero and positive. Inside the surface r = ry with infinite redshift g, > 0. Here
Qumin > 0 and static particles, 2 = 0, cannot exist. This is due to the inertial
dragging effect. The surface r = rg is therefore known as “the static border”.

The interval of €, where stationary orbits are allowed, is reduced to zero
when Qin = Qnaz, that is w? = ggﬁ = g4 =wlg b0 (equation for the horizon).

For the Kerr metric we have:
I = w’g o e (8.27)
Therefore the horizon equation becomes
=0 =>A=0 st —2Mr4+ad®>=0 (8.28)

The largest solution is ry = M 4+ v M? — a? and this is the equation for a
spherical surface. The static border is rg = M + /M2 — a? cos 6

a is spin
per mass
unity and
Ma is spin
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9=0 horjzon

To

T+

static border

ergo-sphere stationary paths

Figure 8.1: Static border and horizon of a Kerr black hole
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Schwarzschild’s Interior Solution

9.1 Newtonian incompressible star

V2 = 47Gp, ¢ = ¢(r)

1.d, ,do, (9.1)
Assuming p = constant.
d
d(r2d—f) = 4xGpridr
do _ 4w (9.2)
2 3
— =—C K
" 3F *
=M(r)+ K
Gravitational acceleration: § = —V¢ = %é}
M(T‘) K1 41 K1
2 = ?G — (9.3)

Finite g in » = 0 demands K; = 0.

47
= — — =—G 94
g=—5Gpr, —-=5Gpr (9.4)
Assume that the massdistribution has a radius R.
2
¢ = ?WGpT2 + Ko (9.5)
Demands continuous potensial at r = R.
21 M(R) 47
~GpR?+ Ky = ——~ = ——GpR?
g P TR =T 3F (9.6)

= K, = —21rGpR?

(with zero level at infinite distance). Gives the potensial inside the mass distri-
bution:

¢ = %TG/)(TQ — 3R%) (9.7)
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The star is in hydrostatic equilibrium, that is, the pressure forces are in equi-
librium with the gravitational forces.

dm=pdAdr

Figure 9.1: The shell with thickness dr, is affected by both gravitational and
pressure forces.

Consider a mass element, dm = pdV = pdAdr, in the shell depicted in figure
9.1. The pressure force on the mass element is dF' = dAdp, and the gravitational
force is

Gm(r)

dG = gdm = 5
r

dm (9.8)

where m(r) is the mass inside the shell. With constant density m(r) = (47/3)pr3.

Hence 4
dG = gdm = %GpQTdAdr (9.9)

Equilibrium, dF = —dG, demands that

47

dp = 3 Gp?rdr (9.10)
Integrating this gives
2rG
p=Kz— —7; p*r? (9.11)

p(R) = 0 gives the value of the constant of integration K3

2
K3 = ”TG;PR? (9.12)

and we find or
T
p(r) = 5 2(R* —r?) (9.13)

No matter how massive the star is, it is possible for the pressure forces to keep
the equilibrium with gravity. In Newtonian theory, gravitational collapse is not
a necessity.



130 Chapter 9. Schwarzschild’s Interior Solution

9.2 The pressure contribution to the gravitational mass
of a static, spherical symmetric system

We now give a new definition of the gravitational acceleration (not equivalent
to (7.23))

g:—g , a = \/a,a* (9.14)

We have the line element:

ds? = —e**at? + 2 dr? + r2dQ*

(9.15)
gt = —e y  Grr = e’
gives (because of the gravitational acceleration)
g=—e*"Po/ (9.16)
From the expressions for E ., E ., E 45, E(% follow (see Section 7.1)
i 7 0 ) —28 20/ " 12 /ol
EE—E,A_—E(;—EQB:—Qe (T—i-a +ao"=ap). (9.17)
We also have
2 a—B,/\ 2 a—p3 20/ " 12 !t
(ree®Pa’) =re (T—i—a +o7—=ap), (9.18)
which gives
1 ; " 6 5
9="+53 (Ef — B}, - E% - E%)T%a‘mdr . (9.19)
By applying Einstein’s field equations
E", = 8nGT", (9.20)
we get
4G 7 - j n
g=+ 772 /(Tg ~T; - T - Tg)ﬂea*ﬁdr . (9.21)
r
This is the Tolman-Whittaker expression for gravitational acceleration.
The corresponding Newtonian expression is :
ArG
gN = —L2 pridr (9.22)
r

The relativistic gravitational mass density is therefore defined as

pe=-Ti+Th+ T + 177 (9.23)
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For an isotropic fluid with

Th=—p, T?ZT%ZTZZP (9.24)

we get pg = p+ 3p (with ¢ = 1), which becomes

3
po=p+ 5 (9.25)

It follows that in relativity, pressure has a gravitational effect. Greater pressure
gives increasing gravitational attraction. Strain (p < 0) decreases the gravita-
tional attraction.

In the Newtonian limit, ¢ — oo, pressure has no gravitational effect.

9.3 The Tolman-Oppenheimer-Volkov equation
With spherical symmetry the spacetime line-element may be written

ds? = —e2) g2 1 90 4r2 1 12402

L (9.26)
Egg = 87TGng , T = diag(—p,p,p,p)
From E&A we get
1d
T - ) = 8y
rear , (9.27)
r(l—e %) = 2G/ drpridr
0
where m(r) = [i 4mpr?dr giving
2 1
-26 1 _ GL(T) = (9.28)
r g rr
From £ .. we have
ETATA = 87TGTTA72
2d 1 (9.29)
209 28 —(1— e~ 28) = 8nGp
rdr r
We get
2do 2Gm(r), 2Gm(r)
ke s I — =
rdr ( r ) r3 8mGp
da _ Gm(r) + 47r3p(r) (9.30)

dr r(r —2Gm(r))
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The relativistic generalized equation for hydrostatic equilibrium is T’”Z‘,’ = 0,
giving

TZZ; + FVOAHQTTO( + FT&QTO(V — 0

. i 1 Jp

TTlA/ = TTZ‘ = . = —

v T T o
o —pdp (9.31)

T = e BZE

’ dr

7,17 =T ,p = Ft;gp +T%p

[, T =TT, 77 =T7p 4+ TVgsp

In orthonormal basis we have

Qpp =5 =T 556 =T s (9.32)
IS =T ara = Traa=Taa

T”f,’ = 0 now takes the form:

dp ; N
—p t —
e+ T+ T =0 (9.33)
We have
- B -
D= Tu=Twm=T% (9.34)

and we also have I”;f = e_ﬁfl—i‘, giving:

dp da

£ — =0 9.35

L w+0T (9.:35)

Inserting Equation 9.30 into Equation 9.35 gives

m(r) + 4nr3p(r)
r(r —2Gm(r))

dp
o = Gl +p)

(9.36)

This is the Tolman-Oppenheimer-Volkov (TOV) equation. The component g =
—e22(") may now be calculated as follows

d
_ap = —da , p = constant
pEp 9.37
In(p+p) =K -« 93D
p+p=Ke“, p=Ke“—p
Hence
@ = B (1 4 Py (9.38)

p

where R is the radius of the mass distribution.
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9.4 An exact solution for incompressible stars - Schwarzschild’s
interior solution

The mass inside a radius r for an incompressiable star is

4

m(r) = §7Tp’l”3 (9.39)
2 2
20 1—GL("”)E1—"”—2 (9.40)
r a
where
3 r3 r?
2 _ — — —
a = M, m(r) = W, Trs = 2Gm = ET‘ (941)
TOV equation:
dp drprd + drwrdp(r)
L _G 3 +
dr r(r — 2G3mprd) (o4 p(r))
4_ p+3p(r)
= G LT
ST G0 7))
L p+3p(r)
a2
P 1 r
N / dp S / r _r
o (p+3p)p+tp  20pJp 1-%
p+p  |a®—R?
3p+p  Va2-—r?

So the relativistic pressure distribution is
Va2 —1r2 —vaZ - R?

= p
3Va2 —R? —a? =127

p(r) Vr <R (9.43)

also
2

3 a r

2

— , —=—>1=a> 9.44
“ 8rGp’ 1% 1y e (9.44)

To satisfy the condition for hydrostatic equilibrium we must have p > 0 or
p(0) > 0 which gives

a— Va2 — R2
p(0) =pe= ——=—=—=—>0 (9.45)
3Va2—R2—a

in which the numerator is positive so that

3vVa2—R2>a

9a%> — 9R? > a?

R \/ga (9.46)

8 8 3 1
2 g = —
R < §9=98Gp = 3nGp
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Stellar mass:

4 4 1 4R
M = —mpR® < —7pR =—
3" S 3T YG, T 9G
PR (9.47)
M< —
9G /31Gp

For a neutron star we can use p ~ 10'7 g /em?. An upper limit on the mass is
then M < 2.5 Mg, Substitution for p in the expression for e gives

3 R 1 R
«a s _ 18,2 4
e ——2\/1 2\/1 3T (9.48)

The line element for the interior Schwarzschild solution is

2
s 1 s dr?
o (i i) e e
TR

(9.49)
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Cosmology

10.1 Comoving coordinate system

We will consider expanding homogenous and isotropic models of the universe.
We introduce an expanding frame of reference with the galactic clusters as
reference particles. Then we introduce a ’comoving coordinate system’ in this
frame of reference with spatial coordinates x, 6, ¢. We use time measured on
standard clocks carried by the galactic clusters as coordinate time (cosmic time).
The line element can then be written in the form:

ds® = —dt?® + a(t)*[dx® + r(x)?d?] (10.1)

(For standard clocks at rest in the expanding system, dy = dQ = 0 and ds? =
—d7? = —dt?). The function a(t) is called the expansion factor, and ¢ is called
cosmic time.

The physical distance to a galaxy with coordinate distance dy from an ob-
server at the origin, is:

dly = \/gxxdx = a(t)dx (10.2)

Even if the galactic clusters have no coordinate velocity, they do have a radial
velocity expressed by the expansion factor.

The value x determines which cluster we are observing and a(t) how it is
moving. 4-velocity of a reference particle (galactic cluster):
_dzt dxt

This applies at an abritrary time, that is d;l‘—: = 0. Geodesic equation: le‘—: +

! su®u” = 0 which is reduces to: I, =0

0 0 0
1 2 2
Iy = §guy(gut,t + Gt +Gu) =0 (10.4)

We have that g, = —1. This shows that the reference particles are freely falling.
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10.2 Curvature isotropy - the Robertson-Walker met-
ric

Introduce orthonormal form-basis:

Wi =dt wt=a)dy o = alt)r(x)dd

. (10.5)
w? = a(t)r(x) sin 0dg

Using Cartans 1st equation:
dwt = Q" AN w” (10.6)

to find the connection forms. Then using Cartans 2nd structure equation to
calculate the curvature forms:

R, = d9, + Q4 A Q) (10.7)
Calculations give: (notation: = %, I= % )
Eli — ggt /\g’z’ gg — £X7£07Q¢
tooa
T SR N i b
_ X A W) J —
B= (5 - re, =o' (10.8)
.9 12
g _ /a 1 r é é
R = (ﬁ—i_r%ﬂ r2a2)£ Aw

The curvature of 3-space (dt = 0) can be found by putting a = 1. That is:

"

sRX = —r—@% /\gj
A 1’ T,; o (10.9)
(/] 0
3E¢; = (T‘_2 - T—Q)& /\Qd)

The 3-space is assumed to be isotropic and homogenous. This demands

7! 1— T/Q

r r2

=k, (10.10)

where k represents the constant curvature of the 3-space.

" L kr=0 and 7 =+/1—kr2 (10.11)

Solutions with 7(0) =0, /(0) =1 :

V—kr = sinh(vV—ky) (k<0)
r = x (k=0 (10.12)
Vikr = sin(Vky) (k>0)
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The solutions can be characterized by the following 3 cases:

r = sinhy, dr=+1+4r3dy, (k=-1)
r = x dr=dy, (k=0) (10.13)

r = siny, dr=+1-r2dy, (k=1)

In all three cases one may write dr = v/1 — kr2dy, which is just the last equation

above.
dr?

7z into the line-element :

We now set dy? =

ds* = —dt* + a*(t) (dx® + r*(x)dQ?)

dr? 9 19
1—kr2+r dQ>

(10.14)

= —dt* + a’(t) <

The first expression is known as the standard form of the line-element, the
second is called the Robertson-Walker line-element.

The 3-space has constant curvature. 3-space is spherical for kK = 1, Euclidean
for kK = 0 and hyperbolic for £k = —1.

Universe models with £ = 1 are known as ’closed’” and models with k£ = —1
are known as ’open’. Models with £ = 0 are called ’flat’ even though these
models also have curved space-time.

10.3 Cosmic dynamics

10.3.1 Hubbles law

The observer is placed in origo of the coordinate-system; xo = 0. The proper
distance to a galaxy with radial coordinate x. is D = a(t)x.. The galaxy has a
radial velocity:

v=""ix. = D=HD whereH =% (10.15)
dt a a

The expansion velocity v is proportional to the distance D. This is Hubbles
law.

10.3.2 Cosmological redshift of light

At. : the time interval in transmitter-position at transmission-time
Atg : the time interval in receiver-position at receiving-time

Light follows curves with ds? = 0, with df = d¢ = 0 we have :

dt = —a(t)dx (10.16)
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¢
to + Atg
to
te + Ate
te X
Xo=0 Xe

Figure 10.1: Schematic representation of cosmological redshift
Integration from transmitter-event to receiver-event :
/to dt /Xo
N - dx = Xe
t. a(t) .

/‘toJrAto dt /Xo
— = dx = Xe ,
te+Ate a(t) e ‘

which gives

to+Atg dt to Jt
/ — — / — =0 (10.17)
tetAte @ te @
or
to+Ato dt te+Ate dt
/ — - / — =0 (10.18)
to a te a

Under the integration from t. to t. + At the expansion factor a(t) can be
considered a constant with value a(t.) and under the integration from ¢y to
to + At with value a(ty), giving:

At. At
alte)  alt) (10-19)
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Aty and At are intervals of the light at the receiving and transmitting time.
Since the wavelength of the light is A = cAt we have:

Ao Ae
alto) — alte) (10-20)

This can be interpreted as a “stretching” of the electromagnetic waves due to
the expansion of space. The cosmological redshift is denoted by z and is given
by:

5 = )\0 - )\e . a(to)

= -1 10.21
Ae a(t.) ( )

Using ag = a(tp) we can write this as:
1+ 2(t) = 2 (10.22)

10.3.3 Cosmic fluids

The energy-momentum tensor for a perfect fluid (no viscosity and no thermal
conductivity) is

Ty = (p+ P)upty + Y (10.23)
In an orthonormal basis
Tpo = (p + P)upus + pPijps (10.24)

where 1), is the Minkowski metric. We consider 3 types of cosmic fluid:

1. dust: p =0,
T ;5 = pupus (10.25)
2. radiation: p = %p,
4
Ty = 3 PUAts + P o (10.26)
p
= 3 (uaus +155)
The trace p
T:T‘EL = §(4u“uﬂ—|—5‘p) =0 (10.27)
3. vacuum: p = —p,
Tpo = =P pis (10.28)
If vacuum can be described as a perfect fluid we have p, = —p,, where

p is the energy density. It can be related to Einstein’s cosmological constant,
A =8nGp,.

One has also introduced a more general type of vacuum energy given by
the equation of state pgy = wpy, where ¢ denotes that the vacuum energy is
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connected to a scalar field ¢. In a homogeneous universe the pressure and the
density are given by

po= 5B -V, ps=38+V(9) (10.29)

where V(¢) is the potential for the scalar field. Then we have

12
57—V
w = M (10.30)
30*+ V(o)
The special case qb = 0 gives the Lorentz invariant vacuum with w = —1. The

more general vacuum is called “quintessence”.

10.3.4 Isotropic and homogeneous universe models

We will discuss isotropic and homogenous universe models with perfect fluid
and a non-vanishing cosmological constant A. Calculating the components of
the Einstein tensor from the line-ement (10.14) we find in an orthonormal basis

3a® 3k
26 >k

The components of the energy-momentum tensor of a perfect fluid in a comoving

orthonormal basis are
Ty =p,  Tim =0p. (10.33)

Hence the tf component of Einstein’s field equations is

a’+k
3= =81Gp + A (10.34)
mm components:
. .2 kj
28 TP grGp— A (10.35)

a a® a?
where p is the energy density and p is the pressure. The equations with vanishing
cosmological constant are called the Friedmann equations. Inserting eq. (10.34)
into eq. (10.35) gives:

anG
i= —WTa(p—i-Sp) (10.36)
If we interpret p as the mass density and use the speed of light ¢, we get
e
i= —WTa(p—i—Sp/cQ) (10.37)

Inserting the gravitational mass density pg from eq.(9.25) this equation takes

the form G
i = —WTapG (10.38)
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Inserting p = wpc? into (9.25) gives
pe = (1+ 3w)p (10.39)
which is negative for w < —1/3, i.e. for ¢? < V(). Special cases:
o dust: w=0, pg=p
e radiation: w = %, PG =2p
e Lorentz-invariant vacuum: w = —1, pg = —2p

In a universe dominated by a Lorentz-invariant vacuum the acceleration of the
cosmic expansion is

(y = ?apv > 0, (10.40)

i.e. accelerated expansion. This means that vacuum acts upon itself with repul-
sive gravitation.
The field equations can be combined into

N
o [a 8rG Ak
—(2) =¥ 27 10.41
H <a> 3 pm—|—3 2 (10.41)

where p,, is the density of matter, A = 8mGpp where pp is the vacuum energy
with constant density. p = p,, + pa is the total mass density. Then we may
write

8t k
H?>=—""p_ =~ 10.42
3 P2 ( )

The critical density p., is the density in a universe with euclidean spacelike
geometry, k = 0, which gives

3H?
= 10.43
Per S ( )
We introduce the relative densities
Q=P q,=r (10.44)
Per Per

Furthermore we introduce a dimensionless parameter that describes the curva-
ture of 3-space

k
Eq. (10.42) can now be written
Qo+ Qp + U =1 (10.46)

From the Bianchi identity and Einstein’s field equations follow that the energy-
momentum density tensor is covariant divergence free. The time-component
expresses the equation of continuity and takes the form

[(p + p)utu?] 5 + (pn)5 = 0 (10.47)
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Since ul = 1, ™ =0 and 7755 =—1, nfm =0, we get

(p+p) +(p+p)u’y—p=0 (10.48)
or

pt+(p+p)(u, +17%,) =0 (10.49)

_ i _ : i A G 6
Here ", =0 and I’ g = 0. Calculating I‘”;fm for dwt = F&ﬁgo‘ A w” we get

- d qg . a
e =T + 1%+ T = 35 (10.50)
Hence )
[H—B(p—{—p)g =0 (10.51)
which may be written
(pa®) +p(a®) =0 (10.52)

Let V = a® be a comoving volume in the universe and U = pV be the energy
in the comoving volume. Then we may write

dU + pdV =0 (10.53)

This is the first law of thermodynamics for an adiabatic expansion. It follows
that the universe expands adiabatically. The adiabatic equation can be written

P25 (10.54)
p+Dp a
Assuming p = wp we get
d d
Lo 301+ w)=
P
—-3(1+w)
In £ In <£>
£o ao
It follows that
a —-3(14w)
p=m(2) (10.55)
ao

This equation tells how the density of different types of matter depends on the
expansion factor

pa® ) = constant (10.56)

Special cases:

e dust: w = 0 gives pga® = constant
Thus, the mass in a comoving volume is constant.
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e radiation: w = % gives pra* = constant
Thus, the radiation energy density decreases faster than the
case with dust when the universe is expanding. The energy
in a comoving volume is decreasing because of the thermo-
dynamic work on the surface. In a remote past, the density
of radiation must have exceeded the density of dust:

Pdoag :Pda3
proaé :pra4
pra4 _Proaé
paa’ _Pdoag

The expansion factor when p, = pg:

Pro
a(tl) = —Qa
Pdo
e Lorentz-invariant vacuum: w = —1 gives py = constant.

The vacuum energy in a comoving volume is increasing o< a?.

10.4 Some cosmological models

10.4.1 Radiation dominated model

The energy-momentum tensor for radiation is trace free. According to the Ein-
stein field equations the Einstein tensor must then be trace free:

ai+a*+k=0

. ' (10.57)
(aa + kt) =0
Integration gives
aa+kt=DB (10.58)
Another integration gives
Loy 1o
5@ + 51{:75 =Bt+C (10.59)

The initial condition a(0) = 0 gives C' = 0. Hence

a=\/2Bt — kt? (10.60)

For k£ = 0 we have

B
a=V2Bt, a=,|g (10.61)

The expansion velocity reaches infinity at t = 0, (lim;—¢a = 00)
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Figure 10.2: In a radiation dominated universe the expansion velocity reaches
infinity at ¢ = 0.

prat =K, a=2Bt

10.62
4prBH? = K ( )
According to the Stefan-Boltzmann law we then have
pr=0T* > 4B*T*? = K =
K, K, (10.63)
t=— T =4/—
T2 t
where T is the temperature of the background radiation.
10.4.2 Dust dominated model
From the first of the Friedmann equations we have
8w
Q4 k= ”Tpcﬂ (10.64)
We now introduce a time parameter n given by
dt () = d 1d
= —a Z -
dn g dt adn (10.6)
. da 1da '
So: 4=—=——
dt adn
We also introduce A = %Poao?’- The first Friedmann equation then gives
8nG 5 811G

ad® + ka = —3 P = Tpoao?’ =A (10.66)
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Using n we get

1 da.,
1 day, A
ﬁ(d_n) = (10.67)

k
1d A A
S Y gy " gy S Y
adn a a A
where we chose the positive root. We now introduce u, given by a = Au?, u =

V% We then get

da du
— =2Au— 10.68
dn udn ( )

which together with the equation above give

1 1
—2Aud—u = -1 - ku?

Au? dn wu
4 (10.69)
du

1
o 2y
vV1—Fku? 2 1

This equation will first be integrated for k£ < 0. Then k = —|k|, so that

Ty K (10.70)

/ du _
V1+|ku? 2

or arcsinh(v'—ku) = 4 + K. The condition u(0) = 0 gives K = 0. Hence

k . ,on 1
= =z hp—1 10.71
a = sinh 5 2(cos n—1) (10.71)
or
= ——(coshn —1) (10.72)
T T g '

From eqs. (10.43), (10.44) and (10.66) we have

Y

A= 00 = BP0 = 30, (10.73)
Pcro

From egs. (10.45) and (10.46) we get
k= HZ(Qmo — 1) (10.74)

Hence, the scale factor of the negatively curved, dust dominated universe model
is

QmO
—_— -1 10.75
T —(coshn — 1) (10.75)

N | —

a(n) =
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Inserting this into eq. (10.65) and integrating with ¢(0) = n(0) leads to

o QmO
" 2Hp(1 — Qpg)3/2

t(n) (sinhn —n) (10.76)

Integrating eg. (10.69) for & = 0 leads to an Einstein-deSitter universe

wlno

a(t) = (%) (10.77)

Finally integrating eg. (10.69) for k£ > 0 gives, in a similar way as for k < 0

1 Qo
=" _(1- 10.78
ZQmo—l( cos 1) ( )
o QmO
" 2Hy(Qo — 1)3/2

(n —sinn) (10.79)

We see that this is a parametric representation of a cycloid.

In the Einstein-deSitter model the Hubble factor is

a 21 21 2
_z2_Z22 - _ = 10.80
H=0=37 t=3 =3 (10.80)

The critical density in the Einstein-deSitter model is given by the first Fried-
mann equation:

8rG
2 ="""y . k=0
3
4 (10.81)
3H?
Pcr S~ = i
81G Per

Example 10.4.1 (Age-redshift relation for dust dominated universe with k = 0)

1+2z= %o =a= 1(1)
a z
@ (10.82)
a——(1+z)22— 1+27°
Eq. (10.34) gives
(a)2 _ 81G  8wG poay
a 3 3 @ (10.83)
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Figure 10.3: For k = 1 the density is larger than the critical density, and the
universe is closed. For £ = 0 we have p = p. and the expansion velocity of
the universe will approach zero as t — oco. For k = —1 we have p < p,;. The
universe is then open, and will continue expanding forever.

Using H = %po gives % = Ho(1+ z)% From a = i—‘; we get:

g _do_  dz (10.84)

a

a a, Hy(1+ 2)

njot

Integration gives the age of the universe:

1 /0 dz 21 1 0o 2
PR S P L 10.85
" HoJwo (1+2)8 3Ho[(1+z)%}°° 3 10%9)

where the Hubble-time t7 = HLO is the age of the universe if the expansion rate had

been constant. The 'Look-back-time’ to a source with redshift z is:

At =ty /0 (L =2y [1- #] (10.86)
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exp.factor a

Figure 10.4: ty is the age of the universe if the expansion had been constant,
BUT:The exp.rate was faster closer to the Big Bang, so the age is lower.

1

At =ty[l — ————— 10.87
0[ (1 + 2)3/2] ( )
Hence, the redshift of an object with lookback time At is
1
2= ——goa 1 (10.88)
(1= &)

10.4.3 Transition from radiation- to matter dominated universe

We consider the early universe filled with radiation and matter, but where vac-
uum energy cam be neglected. The universe is assumed to be flat. Then Fried-
mann’s 1. equation takes the form

o 871G

at == (pa + pr) a° (10.89)

For matter,
para® = paro (10.90)

timet
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For radiation,

pra* = pro (10.91)
Hence 8
) T
a’a? = 5 (prroa+ pro) (10.92)
The present values of the critical density and the density parameters are
3H?
=0 10.93
Pero 871G ( )
Qppo = PMO (10.94)
Pero
Qo = 20 (10.95)
Pero
giving
aq = Ho (Qar0a + Qpo) '/ (10.96)
Integration with a(0) = 0 leads to
10%2 2 (Quoa — 2050) (Q Qo)
Hot — 480 +_( Mo @ ro) (20 a + QRo) (10.97)

302, 3 Q20

From egs. (10.90) and (10.91) follows that at the transition time t., when
pPM = PR, the scale factor has the value

ProO _ SlRo
Qpy = 0 = 2 10.98
T pmo Qo ( )
Inserting this into eq. (10.97) gives
9 Q3/2
tog = 5 (2 - \/5) ot (10.99)
MO

The microwave background radiation has a temperature 2,73 K corresponding
to a density parameter Qpy = 8,4 -107°. In a flat universe without vacuum
energy Qa0 = 1 — Qpo. From the value of Hy as determined by measurements
we have ty ~ 14 - 10? years. This leads to teg = 4T - 103 years.

10.4.4 Friedmann-Lemaitre model

The dynamics of galaxies and clusters of galaxies has made it clear that far
stronger gravitational fields are needed to explain the observed motions than
those produced by visible matter (McGaugh 2001). At the same time it has
become clear that the density of this dark matter is only about 30% of the critical
density, although it is a prediction by the usual versions of the inflationary
universe models that the density ought to be equal to the critical density (Linde
2001). Also the recent observations of the temperature fluctuations of the cosmic
microwave radiation have shown that space is either flat or very close to flat
(Bernadis et.al 2001, Stompor et al. 2001, Pryke et al. 2001). The energy that
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fills up to the critical density must be evenly distributed in order not to affect
the dynamics of the galaxies and the clusters.

Furthermore, about two years ago observations of supernovae of type Ia with
high cosmic red shifts indicated that the expansion of the universe is accelerating
(Riess et al. 1998, Perlmutter et al. 1999). This was explained as a result of
repulsive gravitation due to some sort of vacuum energy. Thereby the missing
energy needed to make space flat, was identified as vacuum energy. Hence, it
seems that we live in a flat universe with vacuum energy having a density around
70% of the critical density and with matter having a density around 30% of the
critical density.

Until the discovery of the accelerated expansion of the universe the standard
model of the universe was assumed to be the Einstein-DeSitter model, which is
a flat universe model dominated by cold matter. This universe model is thor-
oughly presented in nearly every text book on general relativity and cosmology.
Now it seems that we must replace this model with a new "standard model"
containing both dark matter and vacuum energy.

Recently several types of vacuum energy or so called quintessence energy
have been discussed (Zlatev, Wang and Steinhardt 1999, Carroll 1998). How-
ever, the most simple type of vacuum energy is the Lorentz invariant vacuum
energy (LIVE), which has constant energy density during the expansion of the
universe (Zeldovich 1968, Gron 1986). This type of energy can be mathemati-
cally represented by including a cosmological constant in Einstein’s gravitational
field equations. The flat universe model with cold dark matter and this type of
vacuum energy is the Friedmann-Lemaitre model.

The field equations for the flat Friedmann-Lemaitre is found by putting
k =p =0 in equation (10.35). This gives

. .2
a a
2—+—<=A 10.100
b ( )
Integration leads to
A
aa? = §a3 + K (10.101)

where K is a constant of integration. Since the amount of matter in a volume
3 = pMoag, where the
index 0 refers to measured values at the present time. Normalizing the expansion
factor so that ap = 1 and comparing eqs.(10.42) and(10.101) then gives K =
(87G/3)paro- Introducing a new variable x by a® = 22 and integrating once
more with the initial condition a(0) = 0 we obtain

¢ 2
ad=""sinh?®(— ), tr=— 10.102
(tA> = (10.102)

The vacuum energy has a constant density pp given by

A =87Gpp (10.103)

comoving with the cosmic expansion is constant, ppra

The critical density, which is the density making the 3-space of the universe flat,
is
3H?

cr — 10.104
per = oo ( )
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The relative density, i.e. the density measured in units of the critical density, of
the matter and the vacuum energy, are respectively

817G
Oy = pi :%HZM (10.105)
cr
A
Q) = Z_A:W (10.106)
cr

Since the present universe model has flat space, the total density is equal to
the critical density, i.e. Qp +Qp = 1. Eq. (10.101) with the normalization
a(tp) = 1, where ty is the present age of the universe, gives 3H3 = 3K + A.
Eq. (10.34) with k = 0 gives 87Gpy = 3HZ — A. Hence K = 87Gpy/3 and
% = % = p—i = %LA[S In terms of the values of the relative densities at the

present time the expression for the expansion factor then takes the form

Q 1-Q
a = AY3sinh?/? <i> , A= M0_ A0 (10.107)
tA Qo Qo

Using the identity sinh(z/2) = /(coshx — 1)/2 this expression may be written
A 2t
a == [cosh (—) — 1} (10.108)

The age to of the universe is found from a(ty) = 1, which by use of the formula
arctanh x = arcsinh(x/v/1 — x?), leads to the expression

to = taarctanh /Qxp (10.109)

Inserting typical values ¢y = 15 - 10%years, Qg = 0.7 we get A = 0.43, ty =
12-10%years. With these values the expansion factor is a = 0.75sinh?/3(1.2¢ /o).
This function is plotted in fig. 10.5. The Hubble parameter as a function of
time is

H = (2/3ty) coth(t/ty) (10.110)

Inserting to = 1.2tA we get Htp = 0.8 coth(1.2¢/ty), which is plotted in fig. 10.6
The Hubble parameter decreases all the time and approaches a constant value
Hy, = 2/3ty in the infinite future. The present value of the Hubble parameter

1S

2
~ 3tav a0

The corresponding Hubble age is tgo = (3/2)tav/Qa0. Inserting our numerical
values gives Hy = 64km/se(‘,Mp(‘,_1 and tgg = 15.7 - 10%years. In this universe
model the age of the universe is nearly as large as the Hubble age, while in
the Einstein-DeSitter model the corresponding age is togp = (2/3)tgo = 10.5 -
10%years. The reason for this difference is that in the Einstein-DeSitter model
the expansion is decelerated all the time, while in the Friedmann-Lemaitre model
the repulsive gravitation due to the vacuum energy have made the expansion
accelerate lately (see below). Hence, for a given value of the Hubble parameter

Hy (10.111)
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Figure 10.5: The expansion factor as function of cosmic time in units of the age
of the universe.
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Figure 10.6: The Hubble parameter as function of cosmic time.
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the previous velocity was larger in the Einstein-DeSitter model than in the
Friedmann-Lemaitre model.

The ratio of the age of the universe and its Hubble age depends upon the
present relative density of the vacuum energy as follows,

to 2 arctanh /Qpq
L = Hytg= =———¥""A0

tro 3 VAN

This function is depicted graphically in fig. 10.7. The age of the universe

(10.112)

to/tHo
2

b

]
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Figure 10.7: The ratio of the age of the universe and the Hubble age as function
of the present relative density of the vacuum energy.

increases with increasing density of vacuum energy. In the limit that the density
of the vacuum approaches the critical density, there is no dark matter, and
the universe model approaches the DeSitter model with exponential expansion
and no Big Bang. This model behaves in the same way as the Steady State
cosmological model and is infinitely old.

A dimensioness quantity representing the rate of change of the cosmic ex-
pansion velocity is the deceleration parameter, which is defined as ¢ = —i/aH?.
For the present universe model the deceleration parameter as a function of time
is

q= %[1 — 3tanh?(t/ty)] (10.113)

which is shown graphically in fig. 10.8 The inflection point of time t; when
deceleration turned into acceleration is given by ¢ = 0. This leads to

t; = tpaarctanh(1/v/3) (10.114)
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Figure 10.8: The deceleration parameter as function of cosmic time.

or expressed in terms of the age of the universe

tanh(1
_ arctanh( /\/g)to (10.115)
arctanh /Qxq
The corresponding cosmic red shift is
1/3
a 2QA0
t1) = —1=(— -1 10.116
() = gt 1= (o) (10.116)

Inserting Qa9 = 0.7 gives t; = 0.54¢y and z(t; = 0.67.

The results of analysing the observations of supernova SN 1997 at z = 1.7,
corresponding to an emission time t, = 0.30tg = 4.5 - 10°years, have provided
evidence that the universe was decelerated at that time (Riess n.d.). M.Turner
and A.G.Riess (Turner and Riess 2001) have recently argued that the other
supernova data favour a transition from deceleration to acceleration for a red
shift around z = 0.5.

Note that the expansion velocity given by Hubble's law, v = Hd, always
decreases as seen from fig. 10.6. This is the velocity away from the Earth of the
cosmic fluid at a fixed physical distance d from the Earth. The quantity ¢ on the
other hand, is the velocity of a fixed fluid particle comoving with the expansion
of the universe. If such a particle accelerates, the expansion of the universe is
said to accelerate. While H tells how fast the expansion velocity changes at a
fixed distance from the Earth, the quantity & represents the acceleration of a
free particle comoving with the expanding universe. The connection between
these two quantities are 4 = a(H + H?).
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The ratio of the inflection point of time and the age of the universe, as given
in eq.(10.115), is depicted graphically as function of the present relative density
of vacuum energy in fig. 10.9 The turnover point of time happens earlier the

t1/to
2

1.75 ¢

1.5+

1.25 ¢

0.75 ¢
0.5t

0.25 +

i i L I L L i QA
0.2 0.4 0.6 0.8 1 0

Figure 10.9: The ratio of the point of time when cosmic decelerations turn over
to acceleration to the age of the universe.

greater the vacuum density is. The change from deceleration to acceleration
would happen at the present time if Q9 = 1/3.

The red shift of the inflection point given in eq.(10.116) as a function of
vacuum energy density, is plotted in fig. 10.10 Note that the red shift of future
points of time is negative, since then a > ag. If Qz9 < 1/3 the transition to
acceleration will happen in the future.

The critical density is

per = pa tanh™2(t/ty) (10.117)

This is plotted in fig. 10.11. The critical density decreases with time.
Eq. (10.116) shows that the relative density of the vacuum energy is

Qp = tanh?(t/ty) (10.118)

which is plotted in fig. 10.12. The density of the vacuum energy approaches
the critical density. Since the density of the vacuum energy is constant, this is
better expressed by saying that the critical density approaches the density of
the vacuum energy. Furthermore, since the total energy density is equal to the
critical density all the time, this also means that the density of matter decreases
faster than the critical density. The density of matter as function of time is

prr = pasinh™2(t/ty) (10.119)
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Figure 10.10: The cosmic red shift of light emitted at the turnover time from
deceleration to acceleration as function of the present relative density of vacuum
energy.
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Figure 10.11: The critical density in units of the constant density of the vacuum
energy as function of time.
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Figure 10.12: The relative density of the vacuum energy density as function of
time.
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Figure 10.13: The density of matter in units of the density of vacuum energy as
function of time.
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which is shown graphically in fig. 10.13 The relative density of matter as func-
tion of time is
Qur = cosh™2(t/ty) (10.120)

which is depicted in fig. 10.14 Adding the relative densities of fig. 10.13 and
{Im
1
0.8 1
0.6 t

0.4+

0.2+

t/t
0.5 1 1.5 2 2.5 3 /to

Figure 10.14: The relative density of matter as function of time.

fig. 10.14 or the expressions (10.117) and (10.119) we get the total relative
density Qror = Qp + Qp = 1.

The universe became vacuum dominated at a point of time to when pj(t2) =
pur(ta). From eq.(10.119) follows that this point of time is given by sinh(ty/tp) =
1. According to eq.(10.109) we get

arcsinh(1)

ty = t 10.121
> are tanh(v/Qap) 0 ( )

From eq.(10.107) follows that the corresponding red shift is

2(ty) = A3 -1 (10.122)

Inserting Q9 = 0.7 gives to = 0.73tg and z(t2) = 0.32. The transition to
accelerated expansion happens before the universe becomes vacuum dominated.

Note from eqgs.(10.113) and (10.118) that in the case of the flat Friedmann-
Lemaitre universe model, the deceleration parameter may be expressed in terms
of the relative density of vacuum only, ¢ = (1/2)(1 — 3Q4). The supernova Ia
observations have shown that the expansion is now accelerating. Hence if the
universe is flat, this alone means that Qg > 1/3.

As mentioned above, many different observations indicate that we live in a
universe with critical density, where cold matter contributes with about 30%
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of the density and vacuum energy with about 70%. Such a universe is well
described by the Friedmann-Lemaitre universe model that have been presented
above.

However, this model is not quite without problems in explaining the observed
properties of the universe. In particular there is now much research directed at
solving the so called coincidence problem. As we have seen, the density of the
vacuum energy is constant during the expansion, while the density of the mat-
ter decreases inversely proportional to a volume comoving with the expanding
matter. Yet, one observes that the density of matter and the density of the
vacuum energy are of the same order of magnitude at the present time. This
seems to be a strange and unexplained coincidence in the model. Also just at
the present time the critical density is approaching the density of the vacuum
energy. At earlier times the relative density was close to zero, and now it changes
approaching the constant value 1 in the future. S. M. Carroll (Carroll 2001) has
illustrated this aspect of the coincidence problem by plotting 4 as a function
of In(t/ty). Differentiating the expression (10.118) we get

t_A dQa _ sinh(t/tx)

2 dt cosh(t/ty) (10.123)
which is plotted in fig. 10.15
(tA/2)dQ A /dt
0.5 ¢
0.4 f
O.Jr
0.2
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Figure 10.15: Rate of change of Q5 as function of ln(%). The value ln(%) = —40
corresponds to the cosmic point of time tg ~ 1s.

Putting 0y = 0 we find that the rate of change of Q4 was maximal at
the point of time ¢; when the deceleration of the cosmic expansion turned into
acceleration. There is now a great activity in order to try to explain these coinci-
dences by introducing more general forms of vacuum energy called quintessence,
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and with a density determined dynamically by the evolution of a scalar field
(Turner 2001).

However, the simplest type of vacuum energy is the LIVE. One may hope
that a future theory of quantum gravity may settle the matter and let us un-
derstand the vacuum energy. In the meantime we can learn much about the
dynamics of a vacuum dominated universe by studying simple and beautiful
universe models such as the Friedmann-Lemaitre model.

10.5 Inflationary Cosmology

10.5.1 Problems with the Big Bang Models
The Horizon Problem

The Cosmic Microwave Background (CMB) radiation from two points A and B
in opposite directions has the same temperature. This means that it has been
radiated by sources of the same temperature in these points. Thus, the universe
must have been in thermic equilibrium at the decoupling time, t; = 3-10%years.
This implies that points A and B, “at opposite sides of the universe”, had been
in causal contact already at that time. I.e., a light signal must have had time to
move from A to B during the time from ¢ = 0 to t = 3 - 10° years. The points
A and B must have been within each other’s horizons at the decoupling.

Consider a photon moving radially in space descibed by the Robertson-
Walker metric (10.14) with & = 0. Light follows a null geodesic curve, i.e. the
curve is defined by ds? = 0. We get

ar =2 (10.124)

a(t)

The coordinate distance the photon has moved during the time ¢ is

todt
Ar:/o ol (10.125)

The physical distance the light has moved at the time t is called the horizon
distance, and is

Ip =a(t)Ar = a(t)/o %.

To find a quantitative expression for the “horizon problem”, we may consider
a model with critical mass density (Euclidian spacelike geometry.) Using p = wp
and € = 1, integration of equation (10.36) gives

(10.126)

a o £ (10.127)

Inserting this into the expression for [;, and integrating gives

_3w—|—3t
S 3w+l

h (10.128)
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Let us call the volume inside the horizon the “horizon volume” and denote it by
Vi. From equation (10.128) follows that Vi oc 3. At the decoupling time, the
horizon volume may therefore be written

3
(Vi)a = <%> Vo, (10.129)
where Vj is the size of the present horizon volume. Events within this volume
are causally connected, and a volume of this size may be in thermal equilibrium
at the decoupling time.

Let (Vp)q be the size, at the decoupling, of the part of the universe that
corresponds to the present horizon volume, i.e. the observable universe. For our
Euclidean universe, the equation (10.127) holds, giving

(Vo)a = Zzg:ﬁ% = (i—(‘j) o o. (10.130)

From equations (10.129) and (10.130), we get

3w+1

(Vo)a _ (ta) »™
Tt = <%> . (10.131)

Using that t; = 107% and inserting w = 0 for dust, we find % = 10%.
Thus, there was room for 10% causally connected areas at the decoupling time
within what presently represents our observable universe. Points at opposite
sides of our observable universe were therefore not causally connected at the
decoupling, according to the Friedmann models of the universe. These models
can therefore not explain that the temperature of the radiation from such points

is the same.

The Flatness Problem

According to eq. (10.42), the total mass parameter ) = p_':r is given by
O _k
—1= wh (10.132)

By using the expansion factor (10.127) for a universe near critical mass
density, we get

3w+1
0-—1 e\ 2(385s)
o1 = (5) . (10.133)
For a radiation dominated universe, we get
Q-1 t
Q1 = o (10.134)

Measurements indicate that g — 1 is of order of magnitude 1. The age of
the universe is about tg = 10'7s. When we stipulate initial conditions for the
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universe, it is natural to consider the Planck time, tp = 107%3s, since this is
the limit to the validity of general relativity. At earlier time, quantum effects
will be important, and one can not give a reliable description without using
quantum gravitation. The stipulated initial condition for the mass parameter
then becomes that  — 1 is of order 107% at the Planck time. Such an extreme
fine tuning of the initial value of the universe’s mass density can not be explained
within standard Big Bang cosmology.

Other Problems

The Friedman models can not explain questions about why the universe is nearly
homogeneous and has an isotropic expansion, nor say anything about why the
universe is expanding.

10.5.2 Cosmic Inflation
Spontaneous Symmetry Breaking and the Higgs Mechanism

The particles responsible for the electroweak force, W+ and Z° are massive
(causing the weak force to only have short distance effects). This was originally
a problem for the quantum field theory describing this force, since it made it
difficult to create a renormalisable theory!. This was solved by Higgs and Kibble
in 1964 by introducing the so-called Higgs mechanism.

The main idea is that the massive bosons W* and Z° are given a mass by
interacting with a Higgs field ¢. The effect causes the mass of the particles to be
proportional to the value of the Higgs field in vacuum. It is therefore necessary
for the mechanism that the Higgs field has a value different from zero in the
vacuum (the vacuum ezpectation value must be non-zero).

Let us see how the Higgs field can get a non-zero vacuum expectation value.
The important thing for our purpose is that the potential for the Higgs field
may be temperature dependent. Let us assume that the potential for the Higgs
field is described by the function

V() = %quﬁ? + iw& (10.135)

where the sign of x? depends on whether the temperature is above or below a
critical temperature T.. This sign has an important consequence for the shape
of the potential V. The potential is shown in figure 10.16 for two different
temperatures. For T > T, u? > 0, and the shape is like in fig. 10.16(a), and
there is a stable minimum for ¢ = 0. However, for T < T., u?> < 0, and the
shape is like in fig. 10.16(b). In this case the potential has stable minima for
¢ = +¢y = :I:% and an unstable maximum at ¢ = 0. For both cases, the

potential V(¢) is invariant under the symmetry transformation ¢ — —¢ (i.e.

V(g) =V(=¢)).

!The problem is that the Lagrangian for the gauge bosons can not include terms like mQWﬁ7
which are not gauge invariant
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The “real” vacuum state of the system is at a stable minimum of the poten-
tial. For T > T,, the minimum is in the “symmetric” state ¢ = 0. On the other
hand, for T' < T, this state is unstable. It is therefore called a “false vacuum?”.
The system will move into one of the stable minimas at ¢ = £¢g. When the
system is in one of these states, it is no longer symmetric under the change of
sign of ¢. Such a symmetry, which is not reflected in the vacuum state, is called
spontaneously broken. Note that from figure 10.16(b) we see that the energy of
the false vacuum is larger than for the real vacuum.

V(P) V(P)

(a) (v)

Figure 10.16: The shape of the potential depends on the sign of 2.
(a): Higher temperature than the critical, with p? > 0.
(b): Lower temperature than the critical, with p? < 0.

The central idea, which originated the “inflationary cosmology”, was to take
into consideration the consequences of the unified quantum field theories, the
gauge theories, at the construction of relativistic models for the early universe.
According to the Friedmann models, the temperature was extremely high in the
early history of the universe. If one considers Higgs fields associated with GUT
models (grand unified theories), one finds a critical temperature T, correspond-
ing to the energy k7. = 10 GeV, where k is Boltzmann’s constant. Before
the universe was about ¢; = 1073%s old, the temperature was larger than this.
Thus, the Higgs field was in the symmetric ground state. According to most of
the inflation models, the universe was dominated by radiation at this time.

When the temperature decreases, the Higgs potential changes. This could
happen as shown in figure 10.17. Here, there is a potential barrier at the critcal
temperature, which means that there can not be a classical phase transition.
The transition to the stable minimum must happen by quantum tunneling.
This is called a first order phase transition.

Guth’s Inflation Model

Alan Guth’s original inflation model (Guth 1981) was based on a first order
phase transition.
According to most of the inflationary models, the universe was dominated
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V(D)

Figure 10.17: The temperature dependence of a Higgs potential with a first
order phase transition.

by radiation during the time before 1073°

fast that there was no causal contact between the different parts of the universe
that became our observable universe. Probably, the universe was rather homo-
geneous, with considerable spacelike variations in temperature. There was also
areas of false vacuum, with energy densities characteristic of the GUT energy
scale, which also controls it’s critical temperature. While the energy density
of the radiation decreased quickly, as a™, the energy density of vacuum was
constant. At the time ¢t = 1073%s, the energy density of the radiation became
less than that of the vacuum.

At the same time, the potential started to change, such that the vacuum went
from being stable to being an unstable false vacuum. Thus, there was a first
order phase transition to the real vacuum. Because of the inhomogeneouty of
the universe’s initial condition, this happened with different speed at differing
places. The potential barrier slowed down the process, which happened by
tunneling, and the universe was at several places considerably undercooled, and
there appeared “bubbles” dominated by the energy of the false vacuum. These
areas acted on themselves with repulsive gravity.

By integrating the equation of motion for the expansion factor in such a
vacuum dominated bubble, one gets

a=elt,  H= ,/SWSGpC. (10.136)

By inserting the GUT value above, we get H = 6.6 - 1034571, ie. H™! =
1.5-1073%s. With reference to field theoretical works by Sindney Coleman and

others, Guth argumented that a realistic duration of the nucleation process hap-
0—33

s. The universe was then expanding so

pening during the phase transition is 1 s. During this time, the expansion
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0%%. This vacuum dominated epoch is called the

factor increases by a factor of 1
inflation era.

Let us look closer at what happens with the energy of the universe in the
course of it’s development, according to the inflationary models. To understand
this we first have to consider what happens at the end of the inflationary era.
When the Higgs field reaches the minimum corresponding to the real vacuum,
it starts to oscillate. According to the quantum description of the oscillating
field, the energy of the false vacuum is converted into radiation and particles. In
this way the equation of state for the energy dominating the development of the
expansion factor changes from p = —p, characteristic for vacuum, to p = %p,
characteristic of radiation.

The energy density and the temperature of the radiation is then increased
enourmously. Before and after this short period around the time ¢t = 107335 the
radiation energy increases adiabatically, such that pa* = constant. According to
Stefan-Boltzmanns law of radiadion, p oc T%. Therefore, aT = constant during
adiabatic expansion. This means that during the inflationary era, while the
expansion factor increases exponentially, the energy density and temperature
of radiation decreases exponentially. At the end of the inflationary era, the
radiation is reheated so that it returns to the energy it had when the inflationary
era started.

It may be interesting to note that the Newtonian theory of gravitation does
not allow an inflationary era, since stress has no gravitational effect according
to it.

The Inflation Models’ Answers to the Problems of the Friedmann
Models

The horizon problem will here be investigated in the light of this model. The
problem was that there was room for about 10000 causally connected areas
inside the area spanned by our presently observable universe at the time. Let us
calculate the horizon radius l; and the radius a of the region presently within
the horizon, I}, = 15-10°ly = 1.5 - 10%%cm, at the time ¢; = 1073%s when the
inflation started. From equation (10.128) for the radiation dominated period
before the inflatinary era, one gets

I, =2t; = 6-10"5cm. (10.137)

The radius, at time ¢1, of the region corresponding to our observable universe,

is found by using tlhat a « et during the inflation era from t; = 107%%s to

to = 10_338, a x t2 in the radiation dominated period from ty to t3 = 10'!s,

and a o t3 in the matter dominated period from ¢3 until now, tqg = 10'7s. This
gives

th1 to % t3 % 28

a1 =—F7— | — = | Ilp(to) = 1.5-10"*°cm. 10.138

LT et <t3> <t0> n{to) ( )

We see that at the beginning of the inflationary era the horizon radius,

Iy, was larger than the radius a of the region corresponding to our observable
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universe. The whole of this region was then causally connected, and thermic
equilibrium was established. This equilibrium has been kept since then, and
explains the observed isotropy of the cosmic background radiation.

We will now consider the flatness problem. This problem was the necessity,
in the Friedmann models, of fine tuning the initial density in order to obtain
the closeness of the observed mass density to the critical density. Again, the
inflationary models give another result. Inserting the expansion factor (10.136)
into equation (10.132), we get

Q—1=——e2Ht (10.139)

where H is constant and given in eq. (10.136). The ratio between Q — 1 at the
end of and the beginning of the inflationary era becomes

Dol -t _ g5 (10.140)
Q-1
Contrary to in the Friedmann models, where the mass density moves away
from the critical density as time is increasing, the density approaches the critical
density exponentially during the inflationary era. Within a large range of initial
conditions, this means that according to the inflation models the universe should
still have almost critical mass density.



Bibliography

Bernadis et.al, P. d.: 2001, Multiple peaks in the angular power spectrum of
the cosmic microwave background: Significance and consequences for cos-
mology, astro-ph/0105296.

Brill, D. R. and Cohen, J. M.: 1966, Phys. Rev. 143, 1011.

Carroll, S. M.: 1998, Quintessence and the rest of the world., Phys. Rev. Lett.
81, 3067-3070.

Carroll, S. M.: 2001, Dark energy and the preposterous universe., astro-

ph/0107571.

Grgn, @.: 1986, Repulsive gravitation and inflationary universe models., 54, 46—
52.

Grgn, . and Flg, H. K.: 1984, Differensialgeometri, Departmental. Course
compendium.

Guth, A. H.: 1981, The inflationary universe: a possible solution to the horizon
and flatness problems, Phys. Rev. D23, 347-356.

Linde, A.: 2001, Inflation and string cosmology, astro-ph/0107176.

McGaugh, S.: 2001, Constraints on the radial mass distribution of dark matter
halos from rotation curves, astro.ph/0107490.

Misner, C. W., Thorne, K. S. and Wheeler, J. A.: 1973, Gravitation, first edn,
W. H. Freeman and company, San Francisco.

Perlmutter et al., S.: 1999, Measurements of omega ans lambda from 42 high-
redshift supernovae., Astrophys. J. 517, 565 586.

Pound, R. V. and Rebka, G. A., J.: 1960, Phys. Review Letters 4, 337.

Pryke et al., C.: 2001, Cosmological parameter extraction from the first season
of observations with dasi., astro-ph/0104490.

Ravndal, F.: 1978, Infgring i generell relativitetsteori, Departmental. Course
compendium.

Riess, A. G.: n.d., The farthest known supernova: Support for an accelerating
universe and a glimpse of the epoch of deceleration., astro-ph/0104455.

167



168

BIBLIOGRAPHY

Riess et al., A. G.: 1998, Observational evidence from supernovae for an accel-
erating universe and a cosmological constant., Astron. J. 116, 1009-1038.

Stompor et al., R.: 2001, Cosmological implications of the maxima-i high
resolution cosmic microwave background anisotropy measurement., astro-

ph/0105062.
Turner, M. S.: 2001, Dark energy and the new cosmology., astro-ph/0108103.

Turner, M. S. and Riess, A. G.: 2001, Do Sn Ia provide direct evidence for past
deceleration of the universe?, astro-ph/0106051.

Zeldovich, Y.: 1968, The cosmological constant and the theory of elementary
particles, Sov. Phys. Usp. 11, 381-393.

Zlatev, I., Wang, L. and Steinhardt, P. J.: 1999, Quintessence, cosmic coinci-
dence, and the cosmological constant, Phys. Rev. Lett. 82, 896 899.



Symbols

S ULV e 50
0S =0, 58
§(7) (Dirac delta function).......... 4
1 7 A R 34
® (tensor product)................. 26
AP 51
dQ (solid angle)..................... 5
Ao 35
i . 34
[ | (antisymmetric combination). ...32
Do 60
3-SPACE . 34
4-acceleration................. 16, 121
4-momentum ................ . ... 15
4-velocity . ... 15

identity .................... 16, 58

A

accelerated frame

hyperbolically ................. 44
acceleration of particle

in non-rotating frame.......... 73

in rotating frame .............. 73
acceleration scalar................ 121
action ......... a7
Archimedean spiral ................ 41

B

basis

Iform...... ... ... ...l 25

coordinate basis vector..... 18, 21

orthonormal ............... 18, 22
Bianchi

1st identity ................ 90, 92

component form............. 91

2nd identity................ 91, 95
black hole

horizon............. ... ... ... 121

MINT. . 123

radiation ..................... 122

temperature............ ... ... 122
Born-stiff motion .................. 44

C

canonical momentum .............. 58
Cartan

formalism .................... 100

structure equations

Ist oo 79, 100
2nd. ..o 85, 101

surface curvature.............. 89
centrifugal acceleration ............ 74
centrifulgal barrier............. ... 114
Christoffel symbols ................ 60

in coordinate basis............. 53

physical interpretation........ 103

rotating refernece frame ....... 73
comoving orthonormal basis ....... 31
connection coefficients

in a Riemannian space......... 74

in coordinate basis............. 93

rotating reference frame ....... 72
connection forms ................. 100
conservation

energy-momentum. ............ 93
constant of motion................. 58
continuity equation................ 93
contravariant tensor ............... 26
convective derivative............... 93
coordinate

cyclic....... ... 58, 59

Gaussian ...................... 54

transformation............. 20, 27
coordinate basis................ 18, 21

connection coefficients......... 53
coordinate system ................. 18

169



170

INDEX

coriolis acceleration................ 74
cosmological redshift.............. 136
covariance principle............ 11, 51
covariant equations................ 28
covariant tensor.................... 26
curvature . .......... .o 81
forms..................... 85, 101

of surface.................... 89
Gaussian................... 88, 89
geodesic...... ... .ol 87
normal ...l 87
principal............. ...l 88
Riceioooooooooiiiiiii 91
Riemann tensor................ 83

surface (Cartan formalism) .... 89

D
deflection of light ................. 119
differential forms
1form......................... 25
2form....... 32
components ................... 33
connection ................... 100
covariant differentiation of ..... 75
curvature................. 85, 101
of surface.................... 89
differentiation of ............... 49
directional derivatives of....... 76
null form ...................... 33
pform...... ... ...l 32
transformation................. 27
differentiation
convective ..................... 93
covariant................... 53, 55
exterior........................ 49
of form........................ 49
Dirac delta function................. 4
distance
coordinate.................... 100
physical .......... ... ... L. 100
Doppler effect .................. ... 23
Doppler effect, gravitational ....... 70
dust dominated universe.......... 143
E

Eddington - Finkelstein coordinates104

Einstein
field equations................. 96
principle of equivalence ......... 9
synchronization................ 35
fensor ... i 96
Einstein deSitter universe......... 145
embedding
of the Schwarzschild metric...110
energy-momentum tensor.......... 93
equivalence, principle of ............. 9
Euler equation of motion .......... 93
Euler-Lagrange equations.......... o8
exterior differentiation ............. 49
F
field equations
Finstein....................... 96
VACUUIL .« evvveee et eeeeee e 97
first order phase transition........ 161
flatness problem ............. 159, 164
forms ........... see differential forms
freefall...... ... ... ... 104
G
Gauss
coordinates.................... 54
curvature . ................. 88, 89
integral theorem ................ 4
theorema egregium ............ 89
general principle of relativity....... 10
geodesic
curvature.................o... L 87
CUTVE oottt 57, 60
spatial......... .. ...l 62
equation................ooo.. .. 56
postulate................... ... 98
gravitational acceleration......... 103
Tolman-Whittaker expression.129
gravitational collapse............. 114
gravitational time dilation ......... 40
Gron, Qyvind. .......... ... .. .. ... 3
Guth, Alan....................... 162
H
Hafele-Keating experiment........ 116
Hamilton-principle................. a7
Hawking radiation................ 122



INDEX

171

heat capacity of black hole........ 122
Higgs mechanism ................. 160
horizon problem ............. 157, 163
Hubbles law ............... ... ... 136
hydrostatic equilibrium ........... 128

hyperbolically accelerated frame ... 44

I
incompressible stars .............. 132
inertial reference frame ............ 18
inertial dragging............... ... 124
inertial reference frame ............ 54
inflation.......................... 162
K
Kerr metric....................... 123
Kretschmann’s curvature scalar...104
Kruskal - Szekers................. 104
Kruskal-Szekers................... 108
L
Lagrange
covariant dynamics............ 57
equations. ..., 58
free particle ................. 60
function............ ... ....... 57
free particles ................ 60
Laplace equation.................... 3
Levi-Civita connection............. 53
light
deceleration of................ 110
deflection of .................. 119
light cones.............. ... ... .. 106
lineelement ....................... 31
free particle ................... 59
IN SPACE .o v 34
spacetime ..................... 35
Lorentz transformation ............ 23
M
Mach’s principle . .................. 12
metric
covariant differentiation........ 77
Kerr (rotating) ............... 123
static,stationary ............... 59
tensor ... .. 28
mini black holes.................. 123

Minkowski space-time
from Schwarzschild solution .. 103

mixed tensor............. ... ... 26
momentum-energy tensor.......... 93
N

Newton
fluid. ... ..o 94
hydrodynamics................ 93
law of gravitation............... 1
continuous distribution ....... 2
local form .................... 2

Newtonian incompressible star....127

0]
orbit equation .................... 115
orthonormal basis.................. 18
P
parallel transport .............. 55, 81
particle trajectory
Schwarzschild 3-space .. ...... 112
Poincaré’s lemma . ................. o1
precession
of Mercury’s perihelion....... 118
pressure forces............. ... ... 128
principle of equivalence......... 9, 103
projectile motion .................. 66
proper distance................... 136
R
radiation dominated universe ..... 142
rank. ... 26
rapidity. ... 45
redshift
cosmological . .......... ... . 136
Kerr spacetime............... 124
reference frame .................... 17
inertial ............... ... .. 18, 54
relativity, general principle of ...... 10
Ricci
curvature......... ... L 91
tensor, divergence ........... 96
identity.......... .. ... ... 90
component form............. 90
Riemann curvature tensor. . ... 83, 101

components ................... 84



172 INDEX
rotating black hole................ 123 product ...... ... .. oL 26
rotating reference frame............ 64 rank. ... 26

connection coefficients . ........ 72 Ricci curvature................ 91
Riemann curvature ....... 83, 101
S transformation properties......27
Sagnac effect ............. ... ... 42 theorema egregium ................ 89
Schwarzschild tidal forces............. ... L. 5
3-space............iiiia.. 112 time dilation, gravitational......... 40
ENETEY . ot et 112 Tolman-Oppenheimer-Volkov eq...131
momentum . ................ 112 Tolman-Whittaker expression..... 129
light cones.................... 106 travelling time.................... 105
metric............. il 104 Twin “paradox” .................... 68
embedding ............... .. 110
radius. . .....ooeei. 2,104, 121 U
solution universe model
interior . . 132 dust dominated............... 143
outer . 100 inflationary................... 162
spacetime. . .............. 104, 121 radiation dominated.......... 142
simultaneity v
on Einstein synchronized clocks 35 vacuum field equations............. 97
space, geometry of ............. 35 vector
singularity basis ...... ... 14
coordinate.................... 104 covariant differentiation of . .. . 7t
physical ... 104 dimension ..................... 13
solid angle . ................... ... ... 4 linearly independent . .. ........ 13
spherical geometry................. 38
spontaneous symmetry breaking .. 161 Z
structure coefficients............... 23 ZAMO ... 124
in a Riemannian space......... 74
in coordinate basis............. 25
surface curvature .................. 89
surface gravity.................... 121
T
tangent plane...................... 17
TensSor ..o 25
antisymmetric................. 31
construction example.......... 27
contraction of ................. 91
contravariant . ................. 26
covariant .......... ..., 26
covariant differentiation of..... 7
Finstein.................... ... 96
metric. . ..., 28
mixed...... ... i 26, 28



